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�#	 ��`�4 K
�% c�d
�H*b�� ��  � n�a�� ���l� ��8$a S	�

 �>R�	� �*���$	� h#�� 
��*AH	 . �$2 _� ?% 
�?*?�� ��>- �u� f 1Ab% �>2��M
 �*2
� 
��$�	 ��$4
W3� 0 +�?4 r��$#2� �|�)�� 7 � )�YRM ��! X*@ ��-
$�

&
*H	� 9��D ���6 i'B 30 cm �*�#	�� cm 50  ;@��%)��  60 cm   c�d
U4 [V�2;   5 cm y)�� h�a �
=��H� �	�  +� 2�>% 0 £ ?4 ��#D &
*H	� ;`jB 7 _

 ��>M ¨�H42  
��$A�$Ua �#© ;U@ [V2 �-O+� 2�>%  0 �4�
�?*?�� ��>- _� ?% 
 �I�a� X*@ ¨� ����! X*@ �$�= � � �HM�4��8	�   &3�H	� K
$� 	� 14 0 
�/

 3�HM� 40  cm × 40  0 i��%)�� 20 cm  h��#	� t4 ���a�A$4 �2 ���a� 7 _ ?
��D ¨�H4 ��#D9 2 8-OK� .  �£#� ��>U	� 9': K�= �2���	� T��U�� 7 �4�

)
�� "	��% ��! X*@ ;>A@ 3���� ��8M ���	� X*@ 1 cm ;|�@� 1 cm 
;	
�� 15 cm +� 2�>% . � 9': �D�%��>U	 ��HD�
4 e�H% &��� +�3�A$@�f�f X*@ � 
o�H4�D�� X*@  0  K
�% K� X*@ o�H�� 9': ��U4 � 2�D� �$M�f 0 n��>M .	/�


�=��#�� U�M ��>=���� eM� o�H��$M�?	�  � ) 5%�: 3
A@– \�M��^ 3
A@    
E�Y!  E( ^…­�(   .^ tD
4 e 2 (�� ��6 .	/ �HM t|
2 ���>-t4  

U�M 
�a��>	���� eM� o�H�� ���P� �$M�?	� � . ����� �': XA#2�D��M   5��
 ��>U	�0 �D) ��8	�  (1-2 ) 5�
	� 
�D��M �/�® �R� e 2 .  

 5U�%� 
�D�� 	� 9': �D�% ¯���0  �v�a �@�#$ 7X*@ )
?H	� .*% 
��>U	� �R��4 7 ��U@ cI 	� \�Uf� �>RC .  

 e�H% �$2 
��f��RO 
�?*?�� ��>- +�H4 �A��*^ �� t��>$	� �� ¤
>$	� �>2��M 

�B� KO ��G�� Q'R ��U4 �2��	� �b`�= 
�a��D \��BO t4  0  
�a��>	� �2�H%�

 ���	� k�RO T=��R��8�� ��$��� tB���� 7 ��$	�M�   X*@ �
�F�O 
��f��R
 ��>U	� .*$	 �	�H4 ��`�v .� 3�@ K�^ �/O �4� �u��f��RO e�H% �
*��� ��>U	

 +�( ^ 0;-�=  X*@ �2�8	� )�#4 �
� X*@ 
�?*?�� 14 �� ! ��a�% ����� 14
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 ⌧�)!� ���


�*��+#� �',- .+/� 0�1 2#3 
��!� "�

 )�#�� XIU4 '��% �*#*a ��! .% K� X*@>UM �*#*#	� 9': �� ��4
*H4 � 
 ��$U%� 
��f��RL��?��M 0 � K�C �@ [��Y$2 �8@  �*#*a �^ 7 
�?*?�� 3

�GL� K�3 
�?*?4 ��>- X*@ ��4
*H4� L
��f��R�A^   ��8	� 7�D)  (1-3) .  

  

  

  

  

  

  

  

  

  

  

  
 ��8	� ��8	� ��8	� ��8	�( 1- 2 )        

    7 
���?*?�� ���2��[ t���� n���>% 9'��:   Ej���B� r���$��a�M �� 8��	�_���	�3
�$	�  
 ��-��$�	L� �`�
>	��� ta�� ��8M E�8$U4� E�=
$4 _I �� S	�0M  r���$a�  

A

B

C

D

a

b

c

d

e

f

  
 ��8	� ��8	� ��8	� ��8	�( 1- 3 )        

        



  � 	� �  

    �� �2��j	� n��D ��� k�RO 
�:��C�      �	� 1�4 "�a�U4 3��HM� 0 �a�#   14<�% c��d 
      �:��UM �$�a S	� c�*?$	� �� ! �B)�	 �>=�
�� �D�	�� n��D �b�2   i��|� t��

   �� 
�?*?��bHM ��U4 +�     .�	/� 0     � ��B� 1�4     X�*@ �
��F  ��D�	� E3��2[  0   9'�: °��H% ±
       
��HM��� ��� 4 T=� 
�a��>	�              
��f���RO X�*@ �
��F� �$�2 .	'�M�  k����	�  ���`�v

���	�H4  K
�$��a� ���>R�	� ��R�#���� 
����*AH*	 n���a�� ��8��$a S��	� ����>U	� 9'��l 
   ��>- �M�?�4   i��8A*	 ��HB�.     (��� n���>� 
�?*?�� �� 8	 ��6 +�b2� �,U2

 i
- ;�*@ +�U� 4 0 ��>U	� �=�^ �A82 K� X*@	� �:)��4� ��>U
�:������	� �.   
                                                                                                                                                                                                                                                                                                                                                                                                         ���x� ���x� ���x� ���x�( 1-1 )  

 h#�� �>�U4 
�?*?�� �� ! ��>- ���% K� "� �*4�^ �,$U4 ��8M
 T>� K�� ��>- �� 8	� 9':� �D�	� ���8	� ��U�	�7 �U� �� �D) ���x� (1-1)   

 +��-�f +��-�f +��-�f +��-�f- ;I#4 �
*��� �2�8	� 1A| 
�H*b4 �� ! ��a�%  ;I#4 �
*��� �2�8	� 1A| 
�H*b4 �� ! ��a�%  ;I#4 �
*��� �2�8	� 1A| 
�H*b4 �� ! ��a�%  ;I#4 �
*��� �2�8	� 1A| 
�H*b4 �� ! ��a�%         

  �U�H4 3��R NO 1�] 
�?*?4 �� 8M ��HB��� �� 8	� 5�?�% KO
 �-��4 �?^� 5�?�% 
�� ! r���$a� 5�?�$	� �@�$#2� 0 ��>- K� .	/�

 ��>- �^ 14 �	3� $�� �2��	�^ ���8	� 14 +�3�@ ²*% K� "� 
�?*?�� 
�� !

�HM�) �B)3�HM�) �B)3�HM�) �B)3�HM�) �B)3        �?	�f �B)3�?	�f �B)3�?	�f �B)3�?	�f �B)3        ��-�f �B)3��-�f �B)3��-�f �B)3��-�f �B)3        N�� �B)3N�� �B)3N�� �B)3N�� �B)3        
����
��
����
��
����
��
����
��        

5        4        3        2        1    

2-5  5-12  12-20  20-30  
 i�|� ��
��

 
�?*?��km  

30  30  40  40  
 �2��j	 �A�D ����


�?*?��gr .  

6  4.5  3  2  

 �a
$�� ��m�
j*	 t�M�$	��� �2

>��� �# cc.  

30  20  15  10  
 �
#A�� ��GL�

 c*?4 �^ 7cc.  
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k��� ��>- ��f NO �D�� X*@  0 1@ 
�?*?�� �2��[ 14 �2��[ &� �>%C K��30
gr 

 1@ �2j% C�150
gr �M)�>$4 
�?*?�� i�|� ��
�� K
�% K��  0 14 �H� .	/ �^

 E(�� ����>- eM 
��@� $	� K
�% 
�?*?4 �� ! i)[ "H�	� 0 +E3�@ �Y*2 �'l�
)�b% �H� � t4 +�4��% �?^�� �-��4 �?^� 5�?�% ��� NO y)�� h�a �2

 
�H*b�� �>2��^ �����$	�� 0 �>�U4 1A| 
�H*b�� 14 �� ! �a<% c�R
 7��G
 �	� h#�� i��84 0 
�/ 
�?*?�� �� ! ��>- NO +�3�U$a� .	/�

  3� *	 �4�H	� �*Ax� NO �M
#U��� �>M�#	� �*R��� 7 �M
#P� 
��f��RL�
�4� E3��84 
�H*b�� 9': K
�% K� �£b�2� �R
$ 0 ��G�� ���G K�Ab	�

 .	'^� 
�f��RL� S4
*H4 e$�HB�4 e$�>- 14 ���-C� �$2 �D�	� e#��
 t*b�� �2�v 7 
��f��RL� S4
*H4 e$�HB�4 e$�>- X*@ ��GL� 0 7 �A^

 �D) ��8	�(1-4) .³  

 �$��2_��� ?% 
�H*b���� 9'��: n��) � ����HD�
4 e���H% &����� �D���%+�3���A$@� X��*@ 
�ff� o�H4    �D�� X*@     o�H�� 9': K
�% K� X*@    ���U4 �� 2�D� ��$M�f 0   n���>M .�	/�

  ���U�M �����>=�� 
�=��#������� e���M� o����H�����$M�?	�  � )  5%����: 3
���A@–  \����M��^ 3
���A@    
    E( �^ E�Y!0­O(                eH*�| ��^ e�M 
�H*b��� n��) ��U@ ���>=�� ��2��j	� n��>%

 \��B�M� �D�� X*@ E�R�� E�4 12)��Y$4 ��*A@ i�|�� n�>%� 0 5@�b�� K�)��	�
  � �a�U4 �D�M      1£��H% ��A^ 0  
��@��%)� n��)   .�*%  
�H*b���  )  ������� (  �2
#�$	�M

 "#��U%�   E���!� ��
���@��%)� t���� �������� 9'��:  ����4
�F� �2
#��$	� t��B��4 NO 

$���tD
�� 7 E�=�>R�	� �
��	� 7 ;R�! 3(a �A^ .    

       	� \����BO 1���W  
�H*b���� n��) 
��f����RO e���H$	 ���4[�	� ��M�#��F� 
����*AH
� ����D�	� �2����>%� "#���d ����D) ��8���	� (1-4)  0 t��$#���-��#���R  &����,U	� i
���A�� 
t*b���� ���2��j	0    

A#��	� e���H% 7 E(�8��	� ���D�H	� r���$��a�M ���2)� $@C�  i���|� 

&� 0 
�H*b��:   
  

  

  

  



  � 	� �  

G1 = GS + α1 ± 200                                                                               
G2 = G1 + α2 ± 200                                                                          
G3 = G2 + α3 ± 200                                                                         

(1.1)                                                               §§§§§§§§§§§§§§§§§§  
Gn = Gn-1 + αn ± 200                                                                        
Gn+1 = Gn + αn+1 ± 200                                                                      
GF = Gn+1 + αn+2 ± 200                                                                    

 �� tAx�MO K:  

(1.2)                                                     )2n(200-αGG ∑
2n

1i
iSF ++=

+

=

   

A
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G G G
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α
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α
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���� ��8	 ��8	 ��8	 ��8	( 1-4 )  

c�R OK:   

GS         §  _A#	�$@C�&)� ���� r
*H�� t*b*	  AB  ) �2�� 	� _´( .   

 GF       §  _A#	�&)� $@C�¨�?	� r
*H�� t*b*	  CD   )�2��U	� _´ (.   

n          § t*b�� n��) 3�@  )������( .   

    αn+2  ,… αi…, α1        §  �U@ �a�>�� ��>=�� �2��j	�n��) t*b�� .  

Sn+1 , …  , S2 , S1          §  t*b�� i�|� ��
��.  

Gn+1  ,…, G2 , G1           § 

A#	� �2)� $@C� t*b�� i�|� .  
�D�H	� 14 (1.2)  1�W��$U$a� i
A�� &�,U	� t*b�� �2��j	 �*2 �A^:  

(1.3)                                              )(200G  -Gα 2nSF

2n

1i

∑ i ++=

+

=

   



  � 	� �  

)� $@�M  
�a��>	� K� C     1�4 
�*���  \����0     1�	 ��2��j*	  &��,U	� i
�A�� K��=  
>�� i
A�� &��#2� � . &��j	� ��GL�M e@
A�� eM ���	� XA#2:  

(1.4)                                                   ∑∑
2n

1i
i

2n

1i
iα α -α

+

=

+

=

′=f   

  

 c�ROK:  

        ∑ iα′  §   i
A��2��[ t*b��  0 �H� �	� X*@ E�!� 4 �a�>�� .  

 K� "�2C[��Y$ ��GL��:�#$	� 3��R &��j	� �R
A#��   0 &� :  

 (1.5)                                                2ne  2.5 E≤ ααα +±=f   

 c�RO K :  

eα           §  t�M�$	� �a
$�� ��m� �
A#��	j	� n��>�2�� 3��~� 0   +�3��A$@�  X�*@    
 Ej�B�� i
- 0�����4��$#�� n��>	�   0�M
*��� �D�	�� .   

        n    §  3�@n��) t*b�� .  

   ��IB��$�� T�>I$% o KO(1.5) 0     
�M�#�F� T�D��% "�Y�= +C��   1�4 ��^�$	��
 
�a��>	� t�� E3�@O 14 £�M�= zCO� 0 ��M�#F� ��G�� 14 �:
*� ��U4 +�bHM ��.   

� _���>>� �/O ����40    ����H2 �'����=  ���M K������GL� &��j���	�    1A���| t���>2  ���R 3���  �:�#���$	
�R
A#����  0   n����>	� \������M +�)V��4 K
���2� . t��2[
$M r
��>- ����m� �'��:   ���2��[ X��*@ 

&��#$	�M t*b��0  �*2 �A^ .	/� :  

(1.6)                                                                                                   

2n

-
V

α
α i +

=
f   

 c�RO K:  

       iαV§ &��j	� h�I�$	�.   
         ����2��j	� NO ��$=����|O� 
�I�I����$	� X���*@ �
����F� ����HM 0����2��[ X���*@ �����¦ 
  �	£�H4���`�v .    

A#	� "#��2)� $@C�     t*b�� i�|� ��`��U	� T� �$M  
��D�H	� 



  � 	� �  

(1.1)  .	 �2�,U	� 
��f��RL� ��#R t��$#-n���  �A^ t*b�� �': �*2:  

  
X 1                                                                  ∆X 1  =   X b  +   

X 2                                                                 ∆X 2  =   X 1  +     

(1.7)                                                           --------- ------------ 

X n                                                             ∆X n   =   X n-1   +      

 X n                                                            ∆X c   =   X n+1  +      

 c�RO K:  

        n  §  3�@n��)t*b�� .   
 �� tAx�MOK:  

(1.8)                                             ∑
1n

1i
ibC X∆XX

+

=

+=   

 �M�$^ t��$#- �
*a�� ��UM:  

 (1.9)                                                  ∑
1n

1i
ibC Y∆YY

+

=

+=   

 c�ROK :  
                                                                                   iii GsinSX∆ =  

                                                       iii GcosSY∆ =   
  e$�D�H	� 14 (1.8)  � (1.9)  0     �����	 &��,U	� i
�A�� 3���O t��$#�-   
��f���RL�

eMt*b�� �2��M ��>-  B � ��>-;$2�v C  0�*2 �A^:  

(1.10)                                                              
bCi

X-  XX∆∑
1

1

n

i

=
+

=

   

�� �?��M� OK:   

(1.11)                                                              
bCi

Y-  YY∆∑
1

1

n

i

=
+

=

   



  � 	� �  

aR�U¯ �M�RL� ����	 &�,U	� i
A�� K i
A�� &��#2 1	 
��f� �%�U	�
 .	/� 0 
�a��>	� 1@ 3
B
	 \���� n��>	� . e@
A�� eM ���	� XA#2��GL�M 

 ��m� 0 �*2 �A^ "#~�:  

 (1.12)                                                        ∑ ∑
iix X∆- ∆xf =   

(1.13)                                                                        ∑ ∑
iiy Y∆- ∆yf =   

 14��8	��D)  ( 1-5 )  �M�$^ 1�W:  

(1.14)                                                         22
yxs fff +=   

c�R OK:   

fs =  cć   § ��GL� ��m�  0^�D) ��8	� ;I|
2 �A (1-5)  .  
 T>~ K� "���GL� ��	�$	� �IB��$�� ��m� :  

(1.15)                                                                         
N

1
≤

S∑ i

Sf
   

C

DC

n

x

y

s

  

 ��8	� ��8	� ��8	� ��8	�( 1- 5 )  

 c�ROK:   

      ∑ iS    §   t*b�� i�|� ��
�� i
A�.  

       N         §  3�@ t*b�� i�|� n��D �D3 j£�W .  
��*>F� 
�a��>	� �D3 ��H% ²#U	� t�M�$	� �a
$�� ��m� �A�D KO        



  � 	� �  

 ) 
�=�#4– �2��[  (7 �4��$#�� Ej�B��� n��>	� ���M T*H$% �:�  n��>	� 
F� [��Y$% C K� "�� �R
A#�� 3�� ."#� .	/ �HM  i£[
%� ���m� 
�I�I�$	�

 "a�U$	�Mt4 i�|�� 14 t*| �^ �
� .	/�  �*2 �A^:  

 (1.16)                                                                    i

i

x

xi∆ S

S

-
V

∑
f

=    

(1.17)                                                                     i

i

y

yi∆ S

S

-
V

∑
f

=   

 K� "�T>I$2:   

                                                             ∑ ∑ yy∆∆ -V      ,       -V
ii

ffxx ==  

  �����m�� ���2��j	� 
�I�I���$	� �=���|O ���HM 0
��f����RL� ��#��R �$��2  ����`��U	�
	n���   t*b��  0     
��D�H	� T�� �$M .�	/� (1.7)  . "#��  
��@��%)� n��)  t*b��� 

    ���= n��D �HM
�@��%)C�   e$�	��$$4 e�%�)/ �^ eM 0    �>M�#�	� ��A^�P� ��U�M� 
    K�M �
>	� 1�W    ����	 &�,U	� i
A��
�@��%)C�       1�@ �%��U	�  i
�A�� &��#�2 1�	 

 
�a��>	� 0 e$A�>	� eM ���	� K��a �?A���GL�  �@��%)C�0  �M�$^ 1�W� :  

                                            (1.18)         
iih

H∆-h∆ ∑∑=f   

c�R OK:   

   ∑
i

h∆  § � ���= i
A
�@��%)C� >���#� �2��U	�� �2�� 	� S�>- eM .  

    ∑
i

H∆ §  � 
�@��%)C� ���= i
A2�,U	���2�� 	� S�>- eM �2��U	��  .  

 ����	 &�,U	� i
A�� "#~
�@��%)C� ��	�$	� �D�H	�M :  

 (1.19)                                                                                 
bci

H-HH∆∑ =  



  � �
 �  

 �M�$^ 1�W ��$	�M�:  

(1.20)                                                                   )H-H(-h∆
bcih

∑=f  

      K� "���[����Y$2C ����GL� �@����%)C� �R
A#���� �:�#��$	� 3����R  0 &�"���  K�
I$% ��	�$	� �IB��$�� T>  :       

 (1.21)                                                    L 2.5E≤ hhh e±=f  

  

 c�ROK:  

 eh         § � &�$4
*��	� t�M�$	� �a
$�� ��m0 �$A�*���M )£�>2� .  

  L§  t*bA*	 �*�	� �
�	� 0 )�>2� �$4
*��	�M.  

i[
2 ��GL� �@��%)C��M)�>$4 t*b�� i�|� ��
�� _-�^ �/O &��#$	�M  
 �� 0 �
�	� "a�U$	�M �*2 �A^ i�|�� 9': 14 t*| �^ �
� "#d:  

(1.22)                                                       i
i

hi∆ S
S

-
V ∑

hf
=   

 T>I$2 K� "� :  

                                                                                                            h-V hi∆∑ f=                        

                                                                                      

   ��#R �HM��GL� �@��%)C�        3���F� 1A�| ;�@
D� 14 �^�$	��    �R
A#���
 �����D) �������x� 7 �����U� �� (1-2)  0£�����H%�
�����a��>	� ������@��%)C�   0.����	/�  �=�����|�M

 
�I�I����$	� ����D�H	�M �M
#���P� (1.22)  #���U�� "#���� ±0
M
������`��U	�  ���	 n���
  t*b�� .         � a�U4 �D�M 
�H*b�� ��>- 
��f��RO X*@ �
�F� �B� 14 0  "��

   ���8�	� 14 3�@ T>I$2 K� 0  c��R      ������ n���>4 NO ���8�	� 9'�: t� $%.  e �- 
n��>� h#�� K�M +�?4 1/1000  
�H*b�� 7 ��	�$	� ���8	� T�>� �@�$#2:  

• �)/ �^ eM ��>=�� �=�#�� [��Y$% C K�e$�	�$$4 e% /  350 m/    

•  1@ t*b�� �2��[ n��D �D3 �>% C K�cc
15≤αe    



  � �� �  

•  1@ 
�@��%)C� ���= n��>	 �2�$4
*��	� �D�	� �>% C K�mm10≤e h  

•  �>% C K�	� �� #U	� �D�	 i�|�� n��> �A�>	� 1@
2000

1
≤

S∑
i

Sf
 

                                                                                                                                                                                                                                                                                                                                                                                                             ���x� ���x� ���x� ���x�( 1- 2 )            

 NO i
B�	� 1�W 
� *�$4 ���! �%�=3 k�	 ���m���$��� �`���	�  
 �2�� �U@ 
�H*b��M ���m� ���8	� . µ3�� �F� e�H$	� 3�H	 �����

�>�U�� 1A| �:�=
% "B�
	� � ��B)�m� �:3��R 14 +��B � 2�>	� �� �a�)�� 
-h|
 � �	�F��B/
AU	�  �U� ��X*@��8	�  �D) (1-6) .  �,$U�� i[
$	� ¯R�-

�:�R� 14 ;-� y��U	� 0 ����A*	 �����  1��	� 1  h#�� 
��*A@ '��U% ¥
 1A| �*���$	� E�`�35�- �:��D R = d.  c�R  d   �R
A#4 �=�#4 V^� �:

� eM �*���$	� h#�� ��>-� ���� . h#�� 
��*A@ �A8% ��	 �^ �*���$	�
 n�)��� tD
�� �R�#4 0 
�G��= {�% K�3 E( ^�	 eM ��=�^ ����% e4�$

�H a NO ��$¦ 0 E)��Y$�� ������ 14 �R
#A�� ��`jx� 
�R�#�� ����4 
 �D�� X*@.  

������ 3�H	 µ3�� �F� ��#R 1�W N �� 7�a�)��� �>�U  T� �$M
 ��	�$	� �� 2�Y$	� �D�H	�:  

(1.23)                                                                          N = 6n + K   

��GL� �����GL� �����GL� �����GL� ���     �
A#�� �
A#�� �
A#�� �
A#��
 t*b�� 7 t*b�� 7 t*b�� 7 t*b�� 7( mm )        

 t�M�$	� �a
$�� ��m� t�M�$	� �a
$�� ��m� t�M�$	� �a
$�� ��m� t�M�$	� �a
$�� ��m�
( mm )        

 �� ! �B)3 �� ! �B)3 �� ! �B)3 �� ! �B)3        

�2
#$	��2
#$	��2
#$	��2
#$	�        

3        2        1        
L3    1  N�� �B)3  

L5    2  ��-�f �B)3  

L12    5  �?	�f �B)3  

L25    10  �HM�) �B)3  



  � �	 �  

 c�RO K:  

n     §      ���$#��� �R�#�4 ���U4 ��^ �R�#�4 ¶=��% S	� 
�HM��� 3��@   �4��,U	�
��8	� 7 e �� (1-6) ��#R 1�W &'	��D�H	�M ;$R�#4  ��	�$	�:   

 (1.24)                                                                     3R2R4F ×=   
R

R2

4

3

d
R

12

3 4

5

67

  
 ��8	� ��8	� ��8	� ��8	�(1-6)        

K
��=�U2�	     

  (1.25)                                                                      
F

P
n =  

 c�RO K:  

- P  ����*�	� �R�#���� ( km2)   ���a�)��� ���>�UA*	 0  ���>2��	�M ���#��R 1���W�
     +E�!� 4 ����� 14 ����-�����r���$a�M          k��RO T�� �$M �� 0 ��$A�-� 	� [���B 



  � �� �  

 
�D�H	���*�*I$	� ��	�$	� �D�H	� 1�$	� 0 T*�4 t*b4 ��! �R�#4 ��#F :  

(1.26)            ∑∑
ni

1i
i1ii1ii1i

ni

1i
i )Y -Y)(X -X(

2

1
)X -X(YP

=

=
+++

=

=

+=  

 k��� �>2�� �2�M ��.  

- K      �D�H	� 7 (1.23) W    ��F� �
�� X�*@ E��$A�� E)��Y$�� 
�HM��� 3�@ �? 
� �a�)��� �>�UA*	 �D�8	�~ �D�H	�M "#:  

(1.27)                                                             
d4

Y   -Y
K

minmax
=   

��������A*	 µ3�� �����F� ��#����R �����HM N 0 �����>�U�� 1A����| �����:�=
% "����B�
	� 
  1���W ���a�)�����#��R   �R�#���� E���R�� 1A��| �������� 9'��: ���=�?^  ( km2)   

 .	/� ��	�$	� �D�H	� T� �$M:  

(1.28)                                                                                                    
P

N
M =   

  K
���% c���d �������� ���=�^ i)j��%���2��	� 4 e��M ���	3� $E)����Y$�� ��������   
   ������ 9': _ ?% ±       ���HD
4 "#�d ��H� �	� X�*@      ��$*��aL� ����	� X�*@ _� ?$= 0 
 �2�2�R 3�%�� ��a�
M "M�4 ��a�) X*@�� 14���D ��:C    1�@ ��>2 12 mm   �l
��� 

�>2 C1@  15 cm  0�  _� ?%     "	���% ���! X�*@ �2����	� T���U�� 7    X�*@ )
���
  �
��M ����	� 15 cm    1�@ ��>2 C y��@� 1 cm  T�A@�   1�@ ��>2 C 1 cm .  7 ��4�

���|�)��  3���HM�� 
�/ ��R�#���� )���YR�� r��$�#��$= 15 cm ×  15  X��*@�� 1��4  
���M    3��H  35 cm ×35    ����a�� 1�40   i���%)�M� 50 cm   +�� 2�>% 0 � n���%  ���= 

 E)
����M y)�����-1Ab �>M\7 �����:i)[ "����� 0 �����HD
4   &����2�R �����%� "M����4 ;���a�)      
1@ 9��D �>2 C 12 mm;	
��  15 cm    ¨
�$� 	� ��YF� 7.    �� 8�	� 5��?�% KO

        �� t����>$	� ���>2��M �M
#��� ����>-� 
�H*b��4 �� ��!� 
���?*?4 �� 8��M ����HB���
      $	� h#��� ���A@� T #�2 K� "�� ·
>$	�  �*���� 0     t2)�8��� 7 ���A@�� 9'�: V�$H%�

   N��� ���*R���M XA#��%� �*����U4 ���*R�4 ��R�#����
 � 9'���: ���2�v 7   "��� ���*R���
�4 X*@ �
�F�  �*2:  



  � �� �  

•   �� ����>- t��D�
4 e ��2 (���� n����>� ����6
���?*? ���������  �2
#��$	� t��B��4� 
 ��4�D)�� �:[
4�M.  

• ! ���UH	 ���m�� �2��j	� 
�a��>	� ����B ���=� 0 
�H*b��� 
�?*?�� �� 

�@��%)C�.  

•  �� ��>U	 ��`��U	� 
��f��RL� ����B
�H*b��� 
�?*?  �2��H$	� �`�$- t4    �2��>%�
 �R
A#�� ��>	�M ��$-)�>4� �D�	�.  

•   ����B#U��
M
�   ��`��U	� ����A*	       t�4 ��$-)�>4� �D�	� �2�>%� �2�H$	� �`�$- t4 
 �R
A#�� ��>	�.  

• �� ��>U	 5�
	� 
�D��M X*@ &
$~ �Ya
�?*? ������� . 

 +�?	�f  +�?	�f  +�?	�f  +�?	�f –––– �*���$	� h#��  �*���$	� h#��  �*���$	� h#��  �*���$	� h#��         

     5�����?�$	� ������>-� ������HB��� �� 8����	� ������>- 1����4 +�����D��-�  1����4  
�����?*?4  
 £�H4 �����>-� 
�H*b���4�    ¤
���>$	� �� t�����>$	� ����>2��M ����U )   �����>UM +����H�� �:
@�U���a

 3�U$�����aC� ( �$�����2  �*��������$	� h#�������0 #������� e������H$	� &� �������	 &
$  
���������$	�
  ��@�U���C�     ���@�
-�M 
��>#��� �A8�% S�	�     ��l� 
�� �!� 
����*�� 3���R�% 5

 
�)�#������4� \�������M���	�� ���������	��u���U�������% 5������*$�� 0   i)�
8������	�� 0 ���������)���   
� �I����	� Q�����	� 0�����H	� �%
���$	� ������M��0  )�Y���!��� 
����@�)j�� 3�����R� )����Mp�� 

 E( �����	� …­O 0 �����=�^ ������?�� �����$	����
 ������ x�^ ������H� �	�  0��b����l��  
K����23
	��0  
�)�����¦C��0   �����`��� 
��#������ 0 X���*@   �����=��G
 �	� 
��������� 

  �2
#$	� 
��UIU4 ��a�
M  0       ��D) ��8�	� 7 ��A^ (1-7) .  1��W    
���*A@ \���BO 
  �*�����$	� h#����M  �����   E3���H$4 ��  ���� :     h#����� ���>2��� ²���>	� h#���� ���>2��

�4�H$��.   
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 ��8	� ��8	� ��8	� ��8	�(1-7)        



  � �� �  

²�>	� h#��²�>	� h#��²�>	� h#��²�>	� h#��        

V���$H% 	� 9'���: ����>2��)i�H���!L�(  +�4���$���a� ����?^�� +�����,- .���	/� 0)�8���$-�	 
      ����>=�� ���2��j	� n����>	 _���	�3
�$M E3�j���� ����-��$�	L� 
�=�#���� �`�
��>	 t��a�
	�

 ��	
D�8��	�� .    7 ���>2��	� 9'��: ���� 4 ¸�*$��2 e���H% t��D�
4 	� h#���� ����>-  �*�����$
      3�U$�a� S�>- X*@ 3�A$@C�M 0         
���*A@ E��@�>^ 
��f���RL� S4
�*H4 0   �$�2 c��R

        E�@�>	� Q���� �R� X*@ �R�#�� [��¡ j^�A$	� ) ��>U	�A +�?4  ( NO ;�B
$	��
 ��p� Q��	� ) ��>U	�B . (  N��� ��>U	� X@�%S ��P�M STN 0  ��>U	� X@�%�

 �����-�?	�B  ������*m� �����>U	�M BKP  0    r
���*H�� 9�����C� V���$H2�STN-BKP +����:��� 
   ���2��j	� n����>	 +����a�a� . n���>%���2��j	� ����>=��  H1 , H2 ,… Hn    9����C� 1��4

NO �a�a�� ��>-  �*���$	� h#��  1 , 2,…n .	'�^�   ���>=�� 
�=�#��� n��>%  
HD1 , HD2 ,…HDn   e���M�����P�  ����4
*H��) Q
���D
	� �����>- (  h#����� �����>-�

��$	�   �	
��� �*�  )       ��A^ ���>=� 
�=�#�4 NO ���*2
� ± 1�4� �*`��� 
�=�#�� ��
 �UH4 �4(.  

α

BKP(B)

STN(S)

D

a

1

2 3

4
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H 1

  
������8	��8	��8	��8	    ( 1- 8 )        

��>U	� i��%)� "#~ ± a ��	�$	� �D�H	� T� �$M:   

(1. 30)                                  Ha = Hc + ∆ Hca + J – R + ( s-r )  



  � �� �  

�R cO K:  

-  Hc         
:� ��P� i��%)�  r
*H4.  

- ∆Hca       ��P� eM i��%)C� ��= �4
*H����>U	���	
���  a.   
-   J            ¨��$�	L� �`�>	� i��%)�.  

-   R          �^�H	� i��%)� .   

-   s           y)�� �2��^ (f�% .   

-   r            (f�%)�#�-��� �H!.   
 �$2)��$��	� h#�� ��>-  �*���$ ;�= ���% ��8M�R�#�� �
*���  ��?�

���%���u  ����=��G
 �	� 
�������� X��*@ � 0   ����>U	� 9'��l �,$��U�� t��2[
$	� X��@��2�   
  c��d K
��%  e��M �=�#���    X�*@ e%)����Y$4 e$��>- ��^  
������� 3����d 2cm   

 ������� .��	/ n����>4 K���^ ���A�40  '���<% .	'��^��#��U
M
� ���U@  
�(���% t��D�
4
  �
��� Ej�A�� 1^�4���      k����� )   ��AD 0   i��D(0   NO �=��|L�M 	�   ���>U	� ��*����$ 

  �,$U4 ��8M �@[
��.   

5���$	� �B� 14����� (f�% 14 \��`�
8H	�   h�U2 
�a��>	� \�Uf� ��4�,U	�� 
M          �2�8�	� ��F� \��Uf� ����	� 
��*A@ \��BO "UY$0  
��	�� ���2�	��   e$�	��H	� ��M  K��  

=��#�� [��Y$% C
� ��^�H	�� [��x� eM 200 m 0 ��� i��%)� �>2 C K��   ����	�
 1�@ 30 cm  �
�=  y)�� h��a  0    ;�-� +���M� X#�U- C K��   _�-�^ ��Az*^ ���  
����

 t��D�
	� ���?� ����=��G
 �	����=�^ ;%������$M   0 z���D����A$R� i
��D
	�  7  \���Uf� ����G�
��������
w8����U��  ����a�Ul���� 0
3�[   �����>R�	� 
�M�#����F� �����D3   )   )�#������ �
�����

A^� r3�	�� ��F� 
�..  . ­O( .  

 �4�H$�� h#�� �4�H$�� h#�� �4�H$�� h#�� �4�H$�� h#��        

       ����= "H��2 S�	� ����?�	� ��U�#�	� T��U�� 7 +E3�@ �>2��	� 9': r��$#%
  �*�����$	� h#���� ����>-� ����P� e��M ���	3� $�� ���2��	� T���>� 0 ���W�D ���>2�� ���:�

��� ��4���$a�� +�� #- 3 .  

     E���@�D X��*@ �*�����$	� h#���� ����>- ��>��aO ���� 4 X��*@ ���>2��	� 9'��: ���A$H%



  � �� �  

                  
��f���RO ��*� 7 h#��� ���>- 
��f���RO 1�@ E��£ H�� 
�=�#��� n��D� 
��*AH	�
   )
��P�� ���4
*H�� ����P� X��*@ �:���� 4 T�� �U2 ����*�X  E���@�D 3����$4� X��*@ T�� �U4 

  
��*AH	� .     #M [��B ��a�
M ��>aL� ��*A@ �$%   ��#� 	� �`
b	� )
!
�� X@�2 ��
    �����2
� ������*AHM �����4�H	� �����*Ax� 7 �*�������$	� h#������ ������>- 
��f������RO "#����� ±

��*P� �*Ax� 14 
��f��R¹	 (oxy)  �4�H	� �*Ax� NO(OXY)   7 ��A^  ��8�	� 
�D) (1-9) �=�H� .	/� e$*Ax� ��M 3�U$aL� S�>- 
��f��RO.   

BKP(B)

STN(S)

1

2

3

Y

X
O

1
y

2
y

3
y

x1 x 2 x 3
x

y

  
��8	���8	���8	���8	� (1-9)  

  1.2.3     y)�� �2��^ (f�% y)�� �2��^ (f�% y)�� �2��^ (f�% y)�� �2��^ (f�%)�#�-��)�#�-��)�#�-��)�#�-�� �H!��  �H!��  �H!��  �H!��         

      E�!� �� (G ���	� E3�@ r��$#%	 @��%)� e�H$
�  ��>-   �*����$	� h#��  ;�-� zCO  
              e��H% �
�*��� ���>U	� K
��% ��D ���m� 
C�F� �HM 7 ��u�@��%)�  E���HM   +���HM 

   1�W C;H4       1@ �%�U	� ��m� (f�% ���O 3�A$@�      +C��M ��-)�>A*	 h�#^ &
$#�� 
  \���������� [��������Y$2 �������D ��������m� �'�����: )��������>4 K� .������	/ 0 &���������	� h�#������	� 1�����4                                                                                

  
��a��>	��R
A#����0  "��*�$2 &'��	� ���4�� e���H%  )�#���-�� y)�� ���2��^ (f���% 
 �H!��0 r[�	� h�I�$	� �=�|O� � X*@ ������ 1@ E��H 	� ��>U	� 
�@��%).  

14��8	� �D)  (1-10) ���4   �*2:  

����M  2
BE   �� �:���	OK:    



  � �� �  

(1.31)                                                                                           
R2

D
SBE

2

==   

 )��>�� KO S  0        �R�-� 0 y)�� �2��^ 1@ �%�U	� ��m� 
:  ;�-�M ¯   "�a�U$2
    �������� e���M �����>=�� �=�#����� t���M�4 t���4 +�3����� A  h#����� �����>-� �@�����%)C� B  .

� ¯��R�- +�b��2�   ���®O�  +�A�>$#��4 K
���2 C �`
b��	� i�H8��	� )�#��4 K���M���£H>$2 9�����M 
           ���>U	� �
D��! �
�= �@
�|
�� �(��� t�4 t��>$�	 ��a�� B    ���>U	� ��U@ C   ���	�

��>U	� �U@ E  .K�M �H2 �': �(�� X*@ E\��>	�  ��>U	� �U@ K
�$aC ��	�  �U@
�����>U	� E  . )�����>�� XA#���2 CE = r  )�#����-������$	�M� 0 �H���!��   K
�����a

    ;$=�|O r[�	� h�I�$	��        y)�� ��2��^ (f��% 1@ �%�U	� )�#��-��     
�: +��H4 �H�!�� 
(S-r).  K�M �)�Y$	� _	31@ �%�U	� ��m� �A�D )�#�-� +� 2�>% &��#2 �H!�� .  

(1.32)             r = 0.14 S                                                                   

A

B

C

D E

O

R

        
���� ��8	 ��8	 ��8	 ��8	( 1-10 )        
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+�3�@    ��>U	� NO ��
$	� �$2 gR 
���� 14  D   ���$	� ��8	� ���= T>I$2 c�d :

  ��) �U@ 5�$U4�
D�8	� ¸��8	� E�)'	� �
= i
|
�� PI1  0�  E)�,U	� �2��%



  � �� �  

[��Y*	 &
-�?	� )
P� �
R )��>� 200
 gr0 �
D�8	� �m� K�=  T �U�a ��IA*	

    ¸��8�	� 5��$U4 t4 �� �
D�8�	� i
�|
   E�)'�	� �
�= PI2  0   ��H2 �'�:� K ���>U	� 
�f�?	�PI1 � D  � PI2  E�R�� �4�>$a� X*@ t>%0   

PI1 PI2

A

B

D

D

PI1
PI2

  
 ��8	� ��8	� ��8	� ��8	�( 1-15 )        

)����� ����] 9����^/ ;���-� �
����
	� ����U@  
���	�  ��8���	� T����>I$	 ²2����>% ��8���M
 �
���*��� 0  ����B)�� �����f�?M _����	�3
�$	� [�����B _���� ?% "���	
	 ����R 1����W ��.���2�  

 �B)�� ��f�f   \��� 0��   �B)�� ��f�f E�@�D �
= [��x� .    +�3��@ ���*AH	� 9'�: ��H-
 )
^'�� ��8	� T�>� gR 
���� 14.  

• �?	�?	� �>2��	��?	�?	� �>2��	��?	�?	� �>2��	��?	�?	� �>2��	�        

   �4�>$�a� ��#� �$2 EABC         �:��#�� �
�*��� �4�>$�aC� 1�4 �� 2�D   .�	/�
E�)'��	� �
��= _���	�3
�$	� [����B t��|
M E 0 ��>U	� 7 3���%�� t��|����  A � B � C  X��*@

      K
��% c�d �4�>$aC� 9':   E��R�
	�       k����� 1�4 ���`�4 0±   �$�2O  E�)'�	� ��>�a F 
�4�>$aC� X*@  EAB . KO     �`
�| c�*?4 ���a�
M �$�% K� 1�W 9': ��>aL� ��*A@

k��� �>2�� &�M �� � a�U4.   

  n�>%   K�$=�#���ED � FD 0  ���$	�M�        ��2��j	� ��#�R 1��W α    c�*?�� 1�4
 ̀���>	� �EDF   . ��#���Y$	   N��� E�)'���	� �
���= j��^�A$	� �$���2 ����M
*��� �4�>$��aC�E  

 E�)'	� 9���M �2�#$	��D0      ��>=�� »��>	� X�*@ E\��>	� t|��0.00 gr 0   1�4�
 % g��R �@�#��	� �)���>@ t��4 E)���,U	� �2����% ±'���� ���>=�� »���>	� X��*@ E\����>	� ���A�D 

���2��j	� α 0���,-�  ���D) ��8��	� (1-16) . h ���2 .	'��M  1A��| +���HD�� E)���,U	� )
��� 



  � �� �  

       e%)
^'�� e%�)'	� 14 )��� �
D�8	� &
$#�� 0]        t�>% ���>- ��#�Y$M hA#2 �
 �:��#� �
*��� �4�>$aC� X*@.            

E F

A
B

D
C

α

  
��8	���8	���8	���8	� (1-16)  

• �HM��	� �>2��	��HM��	� �>2��	��HM��	� �>2��	��HM��	� �>2��	�        

   �4 ��>- )��$�� 1�W 0 ��>U	� �?4 A 0        �
�*��� �4�>$�aC� �)��� t�>%   �:��#��
 0e%�)'	� �2�) T>I$% c�d  B�  C 0K�$=�#�� n�>% ± AB � AC  �2��j	�� γ 
7  A  0  �D) ��8	� 7 �A^ (1-17) .   ��D�@ 1�4     +C�� "#�~ c�*?�� 7 "��Y$	�

�	
��� �4�>$aC� �
� BC0 �*2 �A^:    

                                                       γcos.AC.AB2-ACABBC
222

+=   
"#�  e$2��j	� �A�D .	/ �HM α � β 0 �HD�� ��>- ��#� 1�W �'��   

 �?	�?	� �>2��	� 7 t $�� �
*a�� ��UM �	
��� �4�>$aC� X*@.  

B C

A

α β

γ

  
 ��8	� ��8	� ��8	� ��8	�(1-17)        

  

  

  

  



  � �� �  

1.4            �	
*� �`�#4�	
*� �`�#4�	
*� �`�#4�	
*� �`�#4        
�	�#4�	�#4�	�#4�	�#4    ( 1 )            

1��	      X�*@ e ��� t*b�� �U2�	  �	���8 ��D)  (1-18) 0  5�	<���  1�4   ��HM)�
i���������|�     ����������>U	�M ���������� 2 c���������R 0 ���������H� �	� X��������*@ �#��������� 
��������:� ���������4
*H��                             

B( Xb , Yb )   ��$U2���>U	�M �4
*H��  (Xc , Yc) C.        
�
*����
*����
*����
*���: : : :         

��#��R 
��f����RL�   �/O t*b���� �'��: n�����	 ����`��U	� _��-�^>4 ���2��j	� ����# 
 �a
$4 ��¾%t�M�9)�D  e =10cc 0 >4 
�=�#����a
$4 ��¾ �#   ²#- t�M�%

9)�D 1/5000 .  
�a��>	� �`�$-�U� 4 X*@ ��8	� (1-18). . . .         

A

C

D
B

162.263

460.
72

220.281

613.85

126.634

532
.18

237.062
244.359

470.7
2

P1
P2

P3

        
��8	���8	���8	���8	�    ( 1-18 )        

�
���H�� 4�U� �D) ���x� 7   (1- 3) .  
                                                                                                                                                                                                                                                                                                                                                                                                ���x����x����x����x�    ( 1- 3 ) 

 

  

  

  

  

  

  

  

��>U	���>U	���>U	���>U	�     X( m )        Y( m ) 

1 2 3 

A 7960.56 8542.64 

B 14695.30 6333.20 

C 16395.45 7146.28 

D 20459.22 6451.83 



  � �
 �  

�F��F��F��F�    ::::        

  �"#  K�$A#	� � C2)� $@ �$  eH*b�*	 K� AB � CD  0    
��f���RL� r���$�a�M 
	 �4
*H����>U*  :A 0 B 0 C 0 D 0 �*2 �A^ .	/�:   

- � #U	�Mt*b*	  AB :  
∆Y = -2209.44 m                                         و ∆X = 673.74 m  

                                                   gr8189.79⇒048.3
Y∆

X∆
  φtg ===  

 1�	�M�)� $@ �K:   
X >  0      ∆    وY >  0∆   

K�=:   
                             gr1810.1208189.79-200φ-200G ab ===  

§ � #U	�Mt*b*	  CD:   
             ∆Y = - 694.45 m                           و  ∆X = 4063.77 m   

                                               gr2250.89⇒852.5
Y∆

X∆
  φ tg ===  

 � 1�	M�)� $@ �K:   
X >  0                                               ∆    وY <  0                          ∆   

K�=:   
                               gr7750.1102250.89 -200φ-200Gcd ===  

�HM 

A#	� "#� .	/ �C�2)� $@ +�@� % i�|¿	 �$D<�� 0 S	�� a �AI$
B� KO ��G��� 0 �2��j	� 
�a��>	� \���� �A^��% ��8M 
�:  

  Gbp1
=  Gab + 162.263 –200 = 82.444 gr                                     

Gp1p2 
=  Gbp1

+  220.281 – 200 =102.725 gr                             

Gp2p3
 =  Gp1p2

+ 126.634 – 200  = 29.359 gr                            

Gp3c
 =  Gp2p3

 + 237.062 – 200 = 66.421 gr                                

    Gcd =  Gp3c 
+  244.359 – 200 = 110.780 gr                                        



  � �� �  

 &��j	� ��GL� ��#F 0"#~ &�,U	� i
A�� �2��j*	T� �$M  �D�H	�  (1.3)  

                                   gr5940.990)2n(200G- GαΣ abcdi =++=  
± #~">�� i
A�� �&��#2 &'	�� �:  

                                                                                               gr5990.990αΣ i =′  
K
�2� &��j	� ��GL� :  

                                                     cc

iiα 50αΣ -αΣ +=′=f   
1�W O3�� k��� �>2��M &��j	� ��GL�  0/O OeM ���	� &��#2 ;-  _A#	�

�C  &)� $@�
#P� >�� �2��j	� 14 �� _A#	�� �#C�
#P� &)� $@   
��f���RL� 14
	�9�� CD &'	�� &� 0 +�I�I� V$H2 :  

      f a = 110.7800 – 110.7750 = 50
cc
                                     

 ���:�  ���-�      �����*@ �U*���R S��	� ���Y�$U	� 0   "��� S��	�� K�   �:�#��$	� ���R [����Y$% C  
�*2 �A^ �
#P�:   

                                                
cc9.555105.22ne5.2Eα =×=+=  

¯��R�- K���M  ���>>� ���IB��$��  0     n����>	� \������M +��#���4 &��j��	� ����GL��
    �': t2[
$M r
>-��GL�  j	� t�� X*@ >�� �2�� ��  M .�	/� &��#�$	�M �#� K� )�� $@   ��D3

 E�R�� ��a��D. T� �$M�D�H	�   (1.6):  

                                                             
cc

i 10
2n

V
α

α =
+

=
f

  

Q�b2 ��	 �%�U	� �2��[>4 � �	�H�� �2��j	� X*@ ��IU= �2VB �=�|O �# 


A#	� "#� �2�B 14�  �C�2)� $@  ��`��U	� ��IU= �`�$U	� X*@ ��	�$	�:   

Gbc1 =  82.443             Gc1c2 =  102.723                      
Gc2c3 =  29.356            Gc3c =  66.417                          
Gcd = 110.775                                                               

1�W ��#RM t*b�� 
��)/ 
��f��RO � e$D�H	� r���$a(1.8) �(1.9)  :  

  



  � �	 �  

  
xp1 = 14695.30 + 460.72 Sin 82.443 = 15138.61 m     
xp2 = 15138.61 + 613.85 Sin 102.723 = 15751.89 m   
xp3  = 15751.89 +532.18 Sin 29.356 = 15988.69 m     
xc  = 15988.69+470.72Sin66.417 = 16395.42 m                        
yp1 =  6333.20 + 460.72 Cos 82.443 = 6458.66  m                    
yp2 =  6458.66 + 613.85 Cos 102.723 = 6432.41 m                   
 yp3 =  6432.41 +532.18 Cos 29.356 = 6909.00 m                     
yc =  6909.00 + 470.72 Cos 66.417 = 7145.96 m                   

"#� �A�D
�D�H	� T� �$M ��m� ��GL�  (1.12)  0(1.13) 0 (1.14):   
                                cmf 345.1639542.395.16X-x ccx ===   
                                     cmf 3228.714696.7145Y-y ccy ===  

K
�2� ��GL�#4 ��m� �+�2�:   

                            cmfff 14.32)32()3( 2222

yxs =+=+=  

"� K�  �:�#$	� 3��R 1A| ��GL� K
�2 &�:   

                                                                       

5000

1

6400

1
≈

47.2077

14.32

SiΣ
s

<=
f  

����GL�� �#���4+� ��a��>	� \������M 
�  ����H% ����$	�M� 0 ���2��j	�� �����m�   
��f����RL�
�    ��� 14 �$D<�t2[
%        12)
�P� X�*@ ���GL� ��A�D  X �Y  5�*$�� n��)  t*b���  

 .��	/����	 � #��U	�M 
�I�I���$	� ��#��R ���HM ∆Xi � ∆Yi    À�	���$$4 e$���>- ���^ e��M
$M e$D�H	� T� � (1.17) 0 (1.18) �=�|O�    �%��U	� �=��|O   X�*@ ��2VB  �f���RL� Xi  

@� X*�f��RL� Yi  tM�$$	�M��IU=L� X*@ ��`��U	� 
��f��R  t*b�� n���	  
   Xp1= 15138.62 m           Yp1 = 6458.74 m .                             

Xp2 = 15751.91 m           Yp2 = 6432.57 m .                   
Xp3 = 15988.72 m           Yp3 = 6909.25 m.                   
Xc   = 16395.45 m           Yc = 7146.28 m .                    

  



  � �� �  

�	�#4�	�#4�	�#4�	�#4    ) 2(             
       t*b�� n���	 ��`��U	� 
�@��%)C� e�H% 3��2 ( a , b , c , d ) 0 1£� ��   X�*@

 ���D) ��8��	�  (1-19).      e��M 
���@��%)C� �����= n����D ¥ y����	� �'��l� �'��: n��) 
  t*b��     E�!� �� �2
#$	� �>2��M 0   
#$	� tB�4 14 ¢\��$M��2 RN1    t�B�� ¢\��$-��
�2
#$	� RN2   0  M .�	/��       �2
#�% [���B r���$�a   ;�$D3 ��2�$4
*��	� 1cm .    +��A*@ �MK� 

HRN1 = 419.057 m�  HRN2 = 429.482 m   0K��  7 �U� 4 
�a��>	� �`�$-
���x� �D) (1-4 )  

d
RN1

c

b
a

RN2

  
��8	���8	���8	���8	�    ( 1-19 )        

        �F��F��F��F�    ::::        

14���x� �D)  (1-4) �� OK:   
m388.10hiΣ∆ +=    §  ����������	 &V�����x� i
�����A��
������@��%)C�>�� ������ ���# e�����M

 �HB�4 �2
#$	� RN1 � RN2.   

m425.10HiΣ∆ +=   §  i�������%)C� �������= &������,U	� e�����M ������HB�4 �2
#�����$	�RN1         
 �RN2.  �
#P� M�D�H	��D)  (1.19)  3
AH	�( 2 ).   

"#~ ��GL�� �D�H	� T� �$M �@��%)C�D)  (1.18) �YU= OK  :  
                               cmmf  3.7 -037.0 -425.10-388.10h ===   



  � �� �  

                                                                                                                                                                                                                                                                                                                                                                 ���x� ���x� ���x� ���x�( 1-4 )                    

¦�� X*@ �*2 �A^ t*b�� �'l �
A#�� ��GL� ���  :  
                                                                                                          Le5.2E hh =  

c�R OK:  

-  L = 3.3 km �
�	�t*bA*	 �*�	� .   
K
��=:   

                                                                                cm5.43.315.2Eh =××=  
>>�+�K�    : h  ƒEh <   

i[
���2 �����GL�     ����D�H	� T���� �$M 
����@��%)C� ������= X���*@ �@�����%)C�  (1.22). 
 
�I�I��������$	���������U� 4��������D) 3
�������AH	� 7  (3) 0 �II���������� 
��������@��%)C� ����������= �               

 )O �HM &� 
�I�I�$	� �=�| ( 7 �U� 43
AH	��D)  (4).   
     ��#�R �$�2 .�	/ ��HM     t*b��� 
��)'�	 ���`��U	� 
��@��%)C� ��  3
��AH	� 7 ��U� 

�D)�D)�D)�D)    
��>U	���>U	���>U	���>U	� 

��=��=��=��=    i��%)C�i��%)C�i��%)C�i��%)C�    
>��>��>��>������ � � � �m)(        

h�I�$	�h�I�$	�h�I�$	�h�I�$	�        
m)( 

��=��=��=��=    i��%)C�i��%)C�i��%)C�i��%)C�    
 hI��� hI��� hI��� hI���(m)  

        

i��%)C�i��%)C�i��%)C�i��%)C�    
hI���hI���hI���hI���    

)m(            

1 2 3 4 5 

RN1    419.057 

a - 1.975 0.007  - 1.968 417.089 

b - 4.184 0.007 - 4.177 412.912 

c 8.341 0.008 8.349 421.261 

d 6.104 0.008  6.112 427.373 

RN2 2.102 0.007 2.109 429.482 

∑        10.388 0.037 10.425          



  � �� �  

1

12 11

10

9

2
4

5
6

7

8

�D) (5).  .	/�  T� �$M �D�H	� ��	�$	�  :  
Hi+1= Hi + ∆Hi,i +1                                                                          

4444�	�#�	�#�	�#�	�#    ( 3 )            
  e���H$	      ����$-L ���� 2�� ����4
�R ���@)j4 \���U 	 "��a�U4 t��D
4 1���>	�  &������
  9����M   ��@
U	� �b��U40   ¥   X*@ tD
�� �2�� 
���6    ��=��G
 �  
�/ n���>4 

1/10000 . ;�����~ t*b�����  X���*@ e ����� T���*���   ����D) ��8���	� (1-20) . ����D� ¥ 
� ����� 14 ;a��) 
��f��RO ��$U$a+E�!� 4  4 �:�7 �U� �D) ���x� (1-5) t4 


�M�#F��R�#�� e�H$	 �4[�	� .         

    �
*����
*����
*����
*���: : : :         

��#R �=�?^ tD
�� 7 �*���$	� h#�� ��>U	 �#-�Y$4 �D3 T>� S	� ������ 
 0 n�)���.	/������� 9': eM �R
A#4 �=�#4 �HM� K� y��M   h#�� ��>-�

�: �*���$	� d = 150 m .        

        

        

        

        

        

        

        

        

        

        

        
���� ��8	 ��8	 ��8	 ��8	( 1- 20 )        



  � �� �  

        

                                                                                                                                                                                                                                                                                                                                                                                    ���x� ���x� ���x� ���x� ( 1-5 )  

  
 �F� �F� �F� �F�::::        

  ~"# �4�H	� K T� �$M �D�H	� (1.27):         

                                                      11
0.154

0.16-39.6

d4

Y   -Y
K

minmax
=

×
==   

 "#� .	'^�n�*2 �A^ :  

                                                                                    102
312.0

568.31

F

P
n ===  

K
����= µ3�� ���F�  N "��B�
	� �������� 3���H	
%����:�=���>�U�� 1A��|  �
��*��� 
���*@ i��8�� \�UM 
:  :  

                                                             623111026Kn6N =+×=+=  

 
��f��RL�
��*P� )(km  
��f��RL� ��= )(km  �D)

 ��>U	� 
Xi  Yi  (X

i+1
- X
i
)  (Y

i+1
 - Y
i
)  

Y
i
 (X
i+1

- X
i
)  

½ (X
i+1

- X
i
)   

      (Y
i+1

- Y
i
)  

1 2 3 4 5 6 7  

1 0.07 4.71 + 2.08 + 1.68 + 9.797 + 1.747 

2 2.15 6.39 + 1.00 - 1.11 + 6.390 - 0.556 

3 3.15 5.28 + 1.32 +  0.74 + 6.970 + 0.488 

4 4.47 6.02 + 0.82 - 0.66 + 4.936 - 0.271 

5 5.29 5.36 + 1.57 + 0.01 + 8.415 + 0.008 

6 6.86 5.37 - 0.31 - 1.38 - 1.665 + 0.214 

7 6.55 3.99 + 0.24 - 1.57 + 0.958 - 0.188 

8 6.79 2.42 - 0.85 -2.26 - 2.108 + 0.960 

9 5.94 0.16 - 1.00 + 1.42 - 0.160 - 1.420 

10 3.94 1.58 -  1.32 - 1.02 - 2.086 + 0.674 

11 2.62 0.56 - 2.45 - 0.08 - 1.372 + 0.098 

12 0.17 0.48 - 0.10 + 4.23 - 0.048 - 0.212 

1 0.07 4.71   + 30.027  + 1.541 



  � �� �  

���aK
�$ *��� ��������� ����=�?^   ����^ 7 ����M

���*�^  t���M�4 ����$4   ����>�U�� 1A���|
 3�P� ��8	� 
�/ �a�)��� 0��D�H	� "#d (1.28) �::    

                                                                                17
568.31

623

P

N
M ===  
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  � �� �

� ������ ������ ������ �������	���	���	���	�        
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� �
�����������    �����������������������������������
��� ��
���� ���
��� ��
���� ���
��� ��
���� ���
��� ��
����         
  

   ������  �����!
� "���#�$� %����� �
���&�&'� �����!
� ()*
����+ ,$����- ��.�����/ 
     ����
���� 0��12 ���3��.4� ��
56���
� ���!��7#8 �
����� �9��:�$
� ;  <=��� ���:� >���

��/�56��&?� ���
5@8 ����
���/ ����&�$�   A���� �!���/ B���C� B�����D?�� E���F   G/H����
I�56D?�     J
K� ��2 >L.�6�� <���     ����M .��5N �O�F� B��P?� θ  ;    ��	Q R�
S

 ������7�� <=���  9� >��1T�� JK6���� .����5/<����     �/�56��&� U) �/�56��&� V��/ I���56D?� ����2
8   �!
1� W�- X�Y��/ 0��� ;�� Z[�5� ����M \�.��6-? G6/�56& .  ^����  XJ	�O _�$�D8 

` %�� �
5@'� ��
���
� V/ VT� �!/��a6&� �:$��/�56&?� b?) ; ��[�56
� ) (
  V�c��6� ������� �=���   <.����62� 0��12 *
������ d�������� e����
� �
����� �
����� ����8
� ��
���
� <=� _�$D88 ���	O\�.�f6D�.   

2.1            *
���� d������ e��
�*
���� d������ e��
�*
���� d������ e��
�*
���� d������ e��
�        
        ����� �6� d���E  $g V2 X.��2 *
���� d������ e��
�"   h���� ��/)   ���g< 

R  ��/)   �#.�� ����P"  .i���  �#.E B j���P?�     ��$�� ��1��5
� ���7O�
� �����7�� ��kH�  
 d���E  $g 4 d   I$[ l$1�/ ;     U) ���E V/ h16m I$��� �=� ���EW�-8   \����� n�4� 

 �!
@ �9:�$
� �T�Y .$�6�.  

  ���T` �  I�'� h���6�� E��62    d������  $51�  ;n�4�       ��/��6�� ��$!��� \���oD 
"�/      �
p��. �g92 E$#$��  *���  G�  V�=�V�������    \���/ ; R�
q    �r��S8 ��@��/ 

 �@��/ U) dEs������� �-t�.  

 2.1.1        *
���� d������ e��
� �:��2*
���� d������ e��
� �:��2*
���� d������ e��
� �:��2*
���� d������ e��
� �:��2            
 *
���� d������ e��
� h�H6�u ��O �Tf�� (2-1) V/  �
��6�� �:�����  

.1  � Z[�5� ��5D?G6/�56&  PI (  Point of Intersection  )  �8 S.   

.2   � Z[�5� ����M? G6/�56& θ   ( Deflection Angle  ).   



  � �� �

.3     e��
� �����) ��5D U�'�  ��6�� ( (  Beginning of Curve  ) B.   

 .4    e��
� ���k) ��5D �
D�	��  ��6�� ( (  End of Curve  ) E .  
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 �Tf�� �Tf�� �Tf�� �Tf��( 2-1 )        

    .5>�o2'� ��$��  ��6�� %�5D G� ��� d=��  (  Long Chard  ) LC.  

  .6  e��
� I$[ (  Length of Curve  ) L  .  
.7     ��
#.�x� �@��
�(  External Distance  ) EX        G�� �@���
� d����� $���

Z[�56�� ��5D S  ; ��5���� D d������ e��
� h�6�/.   

.8       $�5�� �!�&  (  Middle Ordinate  )  M       ���5D G�� �@���
� d����� $���
 >�o2'� ��$�� h�6�/ ��5D G�� e��
� h�6�/.  

.9    e��
� 7O�/ ( Curve Center ) O   .  

.10   (�&��
�( The two Tangents ) T1 , T1  .  

   .11��5�� h�D ( Radius ) R  .  

  



  � �� �

2.2        *
���� d������ e��
� �
���*
���� d������ e��
� �
���*
���� d������ e��
� �
���*
���� d������ e��
� �
���            
����6 *
������� d��������� e�����
� �
�� ;����T�> G
����� h����D �����
g �������5 R   

   Z[�5� ����M (' n�4G6/�56&?� θ       �!�&�
5� ��/) ; ��/$1�/ ($�T� ��/ \�����y   X��Y��/
   ��
���� 012  �/)�  ; ����a
� 012 �/)� �     ���6@��/ I9�- V�/ �!#�6�6&�   ��
z���S{
Z[���56�� ����5D S ;   Z[���5� %���5D ��
z����S)���.=���� G�5������� ���5S9��� ;  |��6���
  ����5�� h���D V��/   *
������ d�������� e����
� ���:��2 ����8   ;S��
 R �����
� l$��5� 

<����6� � U) \�E��6&� �!r8 V/ �
g�[ ��.��62 :  

�  ~?7D?� ��- ~?7D?� ��- ~?7D?� ��- ~?7D?� ��- 

 ����x� �=��C ��������� �����6� ;� ���/�2 ($��T� �/����2?A��
���E G��� ^���T6S 
      ���
�	6� \���
@�O �
��� �������� ����&� ��������   �������� 0��12 �������� ;  � �=��� A����6� 

x���        ���p�2 ��
/ �����1� 0����  �� ;�     ��

���� ���oD'� h�16� (8 .���62  ~���1�   
  ��������
� ����2 ~����1� �
D���p�2 I$��
N ������ ?V��2 ����7�����
5��  10 %  ;A��L 

 .���
6-� ����g h���D j����P?�d�K��:'�   R  h�����/ u  ;���/���N  ����
5�� V��2 ���5� ? 
�� ��$��� �
��6�� �g9��:  

(2.1)                                             
ftani

f.tani

127

V
≥R

2

+
   

R
S )(:   

tani      �   h���
� u ��p���� �

� ; "6�
g ����6��/ V)0.06( U)) 0.10( .  

f        �  � �/�2? "6�
g� ^�T6S0.5 � X�
�� ~��1�  0.25 ��&$6
� ~��1�.  

V      �     d������� h����
� u �2������0.8     0�12 0��o��� �2������ V�/  �/�56�&?� 
.��5�� ��  km / hr.   

�  �95D?� ��- �95D?� ��- �95D?� ��- �95D?� ��- 

  X=����� X$5�� .$!o� ��
6D ��x� �=� Hf�� F �4�@ ; ������
� u   ��!���/
     XJ�O ��
5� X$5�� <=�    ������� �2��& XE���7� ���
6D V  h����
� u  ;  �8'(  h��D 

 ����gP?�j���� R  (���O \�JK��:;  ���k�@ ���gU) dEs��� �9��5D���������  �<����� 7��O�/ 



  � �� �

j����P?� .  V��T`A����� ����x� �=��� "��
12 A��1K6��I9��- V��/   ����p�2 ���
/ j����2)
  ����
� ��2 ����1���      � ��/�2 XE���M� ; ? ̂ ��T6S ) f (         �=�� 0�12 A�1K6�� V�T`�

 \�c���8 ����x� �   ���
5@8 ����
���/ �
����� A����6��4  ����g8 B����D8  (8 R��
S XJK��: .
   ��g h�Dj��P?�    lM9�� d�K:'� M���6�  � ���-?  �9�5D    0���� ; ��/ h����/ u

 �
��6�� �g9���� :  

                                                   (2.2) 
tani8.07.0

tani7.08.0

127

V
≥R

2

+
   

�     V���x� V�=� (8 .��62��/      �g92 E�L) VT` "D�@ ; �2����� (�51�6  G�� 
� ����g h���Dj����P?  �����O��1� �
�
����6�� �2�������  ; n���4�h���: ���@� �  �������

�g. I���� A�q(2-1) .   

 �
�
����6�� �2������ Bi�����;   ���!5i��� (8 V��T` %���� W$���5�� �2������ ���kH�  
           B���� ��� u� ; XEi��� �
�
��� ��
��/ �� u n�4� ��- (�E ������   ��
-��/

     -t Zg$/ V/ ����6� >�� ; X�
# ������� �O�F \���� n�4� ; �;  ������� h�:�  
u �9��:�$
� �T���Y .$���6� \������� ; ���5��
� ��.�c����  �������� . _������ b(8 �����@

   \9	�/ ��
D�
8 u �
�
���6��;   .���5N ���7�  20 %  V�2     u ���
�
� �
�
���6�� _�����
 �g. I���� (2-1).       "�D8 ��S9D I���� �=� V/       � �2����� XE���M ��#8 V�/  �
�
���6�
  XE����M >���T�8���D� B8���g� j����P?� . .���/8  ���D�O �4) �.'� ���
@��y$�[?������  

 n�=� ; ����2@9 _����� �
56�� V/ ��  �p���
� �
�
��6��.  

   \9
�/ "����2) X.��p� ; ������
� ��2 ������ ����� �&�.E AL   \�
�p�2
      j�����P?� 7���O�/ <�������� h������
� I$���[ 0���12 \����6��z. V���T` �l��a6���&  ����g9���

 ���
���56��  >��p���� ���

� ����
g ������6� ���
��6������?������5�� h���D   R ; �2������ � 
�
�
��6�� V .   

 (2.3)                                                                           
R314

V
%I

2

=   

R
S )(:   

R           – �6
�� ��5�� h�D.   



  � �	 �

V          – �
�
��6�� �2����  km / hr .  
                                                                                                                                                                                                                                                                                                                                                                                                                             I���� I���� I���� I����( 2-1 )  

 \�
1�2 �����    V�2 ���p���� ��

� ��7� ? (H 7 %   V�2 ��5� ? (8�2 %  .  Z�/
  .��62?� G�� =-'�           G�� �����6� ������� V�/ �
56��
� j7�� u ��p���� �

� (H� 

1 %  U)3 %  .�<��� � �8 ��S��  ����� G ;  n��4�     �
������ <��

� h����� G/H�6�
����1�.   

         ����&�.��� ������6D �
���a1� V���T` ; ����#8 V���/  �����g h����D G���� ����g9��� E����L)
j��P?�;              ��/M9�� �
D��p���� I$�

� ��
g� ������
� ��2 ������ ����� .��5/� 

�g. I�����  (2-2).   
                                                                                                                                                                                                                                                                                                                                                                                                                                     I����  I����  I����  I���� ( 2-2 )  

��g h�D��g h�D��g h�D��g h�D            

��P?���P?���P?���P?� j j j j>/�o���>/�o���>/�o���>/�o���    
)m(        

��g h�D��g h�D��g h�D��g h�D            

j��P?� j��P?� j��P?� j��P?�     
d�K:'�d�K:'�d�K:'�d�K:'�    )m(        

�
�
��6�� �2�����
�
��6�� �2�����
�
��6�� �2�����
�
��6�� �2����        

km/hr 

 h�: h�: h�: h�:
������������������������        

4 3 2 1        

750  500  120  )  ��E(  

500  300  100  U�8 �#.E  

300  200  80  �
D�z �#.E  

200  125  60  �	��z �#.E  

�  �  40  ����. �#.E  

1000>  750  500  300  200 
j��P?� ��g h�Dj��P?� ��g h�Dj��P?� ��g h�Dj��P?� ��g h�D( R )     

)m(        
6  5  4  3 2 1        

-  4  5  6  7  �

���p���� %  

-  0.4  0.5  0.6  0.7 ����6�� .��5/ )m(  



  � �
 �

   ���D8 ��D�O �4) ��/8    XJ��O ��
5@'� ���
���
� .���g8 B ) R > 1000 m (    
    ������� (M�$��� ���&�.�� X.����p 9��@� ������
� u �� � ����- ���p ?~?7��D �8 �?  �9��5D 

5� |��6��� ���5?�   j����2{ X.����p ��������  ���6T�� ; ����p�2 ���
/0 � j����2� ���
/
  JK�: ���p�2   �����1�� <���� 7�O�
�  (I = 0.03)     ;   �����6� >�2�E ? n�=�O� 

������
� <=� ��2 ������.    

2.3         ,�5D �
�� ,�5D �
�� ,�5D �
�� ,�5D �
��
�
�
�
� *
���� d������ e�� *
���� d������ e�� *
���� d������ e�� *
���� d������ e���
&�&'��
&�&'��
&�&'��
&�&'�        
   *
������ d�������� e�����1� �
��&�&'� ,���5��� |��6��: ����5D ���������  B  ����5D�

������!�� E  ; ����5D�
�h���6� D .   ����
���� 0��12 ,���5��� <=��� �
����6�   j����#) A��L
 �/M9�� �����F�{ �!&�y �:��2 E�L 012 ��
����\?�8  >1� ��O n�4�:  

� G6�5���  �y �:��2 G
��G6�5���  �y �:��2 G
��G6�5���  �y �:��2 G
��G6�5���  �y �:��2 G
��    B    ����    E     �r�
��� �r�
��� �r�
��� �r�
�����
���� 012��
���� 012��
���� 012��
���� 012        
  U�'�  ����6�� ����5D  ���y ���:��2 G
���6� ) e����
� ������� ( ����6�� ����5D� 

  ��
D�	��)    e���
� ����k(.    G�&��
� I$�[ ����S �6���  T1 �T2  .   V�/ �Tf��� ���g.  
2-1) (  ;���S9D ���7O�
� ������7�� (8 � θ  ������M d������  G����� Z[���5� �?  G6/�56��&

G6���7���� (8� SBE   �SEB  (��������� (�6������6/  θ/2  (���6���M ����k'(�6
��&�� 
 &$g (����\� �S��X E�� ��  ��7O�
� ����7��  θ  ;       V�/ ��O I$[ ($T� ��6����

 G����6
� G&��
�$� :  
 (2.4)                                                               θ/2 = R.tan  = T2 T1   

G&��
� I$[ ���S ��� T1�   T2    U�'�  ���6�� ���5D �
��� VT` B 
�  ��6�� ��5D�
D�	�� E  ��
���� 012; � n�4� ��
��6�� ��$�x� _���:   

• X�.=�� ~$@ �
��E$
� M�!# 7
O�� S ��
���� 012 X����.   

•  �/ ��5D U) "
#$6�� ;5�U�'� �/�56&?� 012 Z ∆1.  

•   U�'�  �����6�� �����5D  ����y) e�����
� ��������( B  ; ����
5� n����4� �@�����
� T1 
\�.��62�X�.=�� V/  S  ;�/�56&?� <����� ∆1.   

•         ��
D�	��  ���6�� ���5D  �y )     e���
� ����k(     E    �/�56�&?� 0�12  ��
D�	�� ∆2   �6��
 ������ �$1&'� ����. 



  � �� �

� �5���  �y �:��2 G
���5���  �y �:��2 G
���5���  �y �:��2 G
���5���  �y �:��2 G
������    D    ���
������
������
������
�����
���� 012 ��
���� 012 ��
���� 012 ��
���� 012             
   ��5���  �y �:��2 G
�6� D         V�/ ���? e���
� h�6�/ ��2 ��g�$��   j���#)

�
#.�x� �@��
� ����6� �/M9�� �����F� EX.  �Tf�� V/ (2 -1) �� )(:   
EX = SO – R                                                                    (2.5)         

V/ VT�����5�� R1	
�  SBO   �����:  

                                                             22
RTSO += 

�g9��� u ��$�6��� (2.5)  ��:  

 (2.6)                                                           R -)RT(EX 22 +=   

R
S )(:   

T      – I$[�g9���� �$���  ��
�  (2.4).   

  �����S V�T` I$��[ �!���� M  n���4�.����62�� ���5��� (8  K Z[���5� ����5D >��� 
SO )  u h��
� S  (>�o2'� ��$�� Z/ BE   >1���O:  

M = OD – OK = R – OK                                                (2.7)   
 VT��:  

 OK = R cos θ/2                                                                           
�g9���� �$�D (2.7)  ���@:  

    (2.8)         
4

θ
Rsin2)

2

θ
cos-1(R

2

θ
soRc-RDKM 2====  

��5��� �
�� �6� D \�.��62�X�.=�� V/  S  ;� n�4�� �
��6�� ��$�x� _���:  

•     X�.=�� ~$@ �
��E$
� M�!# 7
O�� S <���� "
#$6��� ∆2  ;��  Xj���5�� Z�p   ���:
 >5@'� ��5
� 012.  

•  ����S ����:�x� ����O�F�� X.����o��� �������� Xj�����g�������7��2θ-100�����5
� 0���12 
>5@'�   ) >5@'� ��5
� ��L.�� ���7� A�q (<��?� E��6
@ SD.   

• �@��
�  �
g SD = EX � 7O�/ <���� j��P?;��5���  �y�  D.  



  � �� �

  ���5��� �
���� V��T`� D    e����
� h���6�/� U) \�E��6��& B    ����6�� ����5D
U�'� ;� n�4����5�1� ��E$���� ��
z��S{� >�  �K�� �:��2 .��62 D  >1� ��O:  

• >�o2'� ��$�� I$[ ���S L  �
��6�� �g9����:  
 (2.9)                                            ) /2θ2R.sin(  L  BE ==      

•  ����5��� �
���� K    �/��6  >���o2'� ��$���� h� ; ���Y��
�  ���
5��� n���4� �@�����1� 
BK  .$������ 0����12 ������$��� X  ; �  ��
z������S{� 8������/ V����/ \�.������62 B %������ d��������        

BK = L/2.  ��? �y �6� >�$p R1	/�  �
51� *��f� �D��6& ��5���  K    �
g�
�@��
�  DK=M X�.=�� <���� S .  

 �5����� <=� �
��6� ;6f� ,�>�o2'� ��$�� I$[ ($T� ? (8 L \�J�O .   

  � �#8 V/    ��5��� �
�� ��: V/ �5�6�    D  ;      �9	��� ,��5��� Z5� (8 >�T�  
S   � D  � K  012� (�6@��
� ($T� (8� ; X�S�� �/�56&BK    � KE  G6����6/  
2.4            ��
���� 012 ��
���� �������� ��
���
� �
����
���� 012 ��
���� �������� ��
���
� �
����
���� 012 ��
���� �������� ��
���
� �
����
���� 012 ��
���� �������� ��
���
� �
��            

     � ���
���
� �
���6� ���5�   ����
���� 0�12 ��
����� ���������;  V��/ E��2  ��y  
       ���
���
� <=� 012 Z5� %�� ,�5��� ;  n��4��    U�'�  ���6�� ���5D V�/ \�.���62 B  �8

  ���
D�	��  ����6�� ����5D E  ; R��
S��� >��1T�� I$����� \?�8 A�  L  $��51�  d��������  
 �
��6�� �g9��� �
��6�:  

    (2.10)   L = R. θ ( radians )                                                           

            �6�� R�
q �����6
� �
�7��  �$g'� V/ E�2 U) e��
� �=� �i�5� �   .��
6-
δ        I$������ �=���� M������6� ? (H���� �������� ;����C \�����&��/� \����6��z \?$���[ ;.�����5
� R/20    

  ��� �
156� n�4��    �7��  $5�� I$[ G� ~.>  ����<   ���� ;      $�5�� I$�[ A  ��7��> 
J-'� C �
��6�� �g9����:   
(2.11)                                                                            δ C =L - n         
 R
S) (:  

n       –  �����6
� �
�7��  �$g'� E�2.  



  � �� �

  �����    d����6
� ��2��6�� ���
g .��
6-  δ ,��5�1�    0�12 �!�&�y �$�1�
�  $�5��  
d������ ;        =�C XE���� �
�7�� ��7O�
� ����7�� ���S �6��  $�5��      �Tf��� V��@
�g. (2-2)  ;>1� �/ ��6�6&� VT`:  

O

S

B E

R

s

P1α

α

θ

2

∆ ∆1 2

T T

        
 �Tf�� �Tf�� �Tf�� �Tf��( 2-2 )        

2α = δ / R                                                                                          

5�����7�� .� α  E��K��� �!6�
g ($T�� (��E�����: 
 (2.12)              α = ( δ /2 R ). ρ                                             
 R
S) (:   

ρ �     V�/ ���$�6�� ��/�2��  U) (���E����   ���
g ��$��6�� ; E���K ρ = 63.6620
 g r
)  ( 

�g9���� (2.12)  ��) (:  
(2.13)                                      α =31.831 ( δ / R )                          

  

  ��$�� I$[ ���F S   $51� E��� δ ; ��g. �Tf�� V/ n�=O (2-2)   ���
) (:  

 (2.14) S = 2R sin α                                                                         



  � �� �

 e����
� 0��12 ,���5��� �
����6� *
������ d���������"��6���� V��/ \�.����62 B ���S� 
"6��k E ;  �2 ~�[ �#$���X  ;   V�T`��    ���&��
� ��5����� .��
6-   n��4�   A��q

   � >�o2'� ��$�� I$[ A�q     ��K1� �/�a6��
� X7�!#'�; n�=�O�     ����$��� A��1�
� �8 ����
�
����?  �!6@E�����/ V���T` %����� �
2������:;  \�.�E /u \�����! �  ����5��[ .����
6-

��K��  �.      *
������ d�������� e����
� 0��12 ,���5��� �
���� ~���[ ����8 >��1� ����
@ Vi
���D
n�4�       ��/M9�� ������F� j���#) �
�
O \�c�8 G��&� ; �/�a6�
� X7!#'� A�q 

 �5��[ �T� ��&��
�  �K�� �:��2 ����6�.  

2.4.1             d������ e��
� �
�� d������ e��
� �
�� d������ e��
� �
�� d������ e��
� �
������� >�o2'� ��$�� U) \�E��6&� >�o2'� ��$�� U) \�E��6&� >�o2'� ��$�� U) \�E��6&� >�o2'� ��$�� U) \�E��6&����>�$p R1	/ l��a6&>�$p R1	/ l��a6&>�$p R1	/ l��a6&>�$p R1	/ l��a6&            

          u� XJK���� .���g'� B���D8 ��4 ���
����1� \���# ���9/ �5����� <=� |6��
 ����� ($T� R
S ; �1!��� �[��
��      �Tf��  ��
5�� *���Y i��Y V�T`� ��p�� 

 012 ��g�$��  �K�� ,�5D ��
z��S) G
�� 012 �5����� <=� ��6�� ; >5@8� �
56�/
z��S) �1� U) ��$��/ *
���� d������ e��
� X�/��6/ �
1� ��
BXY      �����/

    e��
� ����� ��5DB .$��� X         >��o2'� ��$��� 0�12 �����BE      <����� "�#$/�E    
   .$�� �/8 ; �
D�	��  ��6�� ��5D Y  "
12 dE$�2 $!@ .     ��2$�� (��@ ����F� <=�� u

   *
����� d������� e���
� 012  �K�� ,�5D h���� ;    �3�
z���S) >��    (Xi , Yi) 
����/ ����1��� <=���� U) ��$� ;   ,����5��� n���1�  ����y ����:��2 ��
z�����S{� <=���� |���6��� .

 �Tf����� A����q�(2.3) ;  G6���g9��� =���-8 �������(2.13)  � (2.14)  .�����62?� G�����
 ���S VT`��5��� ��
z��S) P1 �
1�� ��
z��S{� �1� u >1� ��O X|6�
�   

                                                  )α-
2

θ
cos(.αsinR2X 1P =  

(2.15)  

                                                        )α -
2

θ
(insαsin R2Y 1P =   

��5���  �y �:��2 ���F P2 �
���
� �@��
�� ���� %�� 2δ (�@  $5�� 
BP2  ��.�g ��7O�/ ����M E��
& 4α  
� ����7�� ($T6&��
&�� SBP2 �����/ 
2α   ��$�� I$[�  2BP  \�����/:  

(2.16)                                                         α2sin R2SBP2 ==   



  � �� �

��5�1� ��E$���� ��
z��S{�� P2:   

                                           )α2-
2

θ
cos().α2sin(R2X 2P = 

(2.17)  

                                              )α 2-
2

θ
(ins).αsin(2 R2Y 2P =   
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 �Tf�� �Tf�� �Tf�� �Tf��( 2- 3 )        

  ���������� �=���T�� U)     ������S V���T` ; e�����
� 0���12  ����K�� ,����5D ����
5� 
g9��� �
��6� �3�
z��S)� (2.17)  d8) (:  

                                             )αi-
2

θ
cos().αisin(R2XPi = 

(2.18)  

                                                 )α i-
2

θ
(ins).αsin(i R2YPi =   

�#8 V/ n�4�   i = 1.2….n  



  � �� �

 � >K���?          ��/�E�/ e���
� 0�12  ��K�� ,��5�� ��
z���S{� ����S u .���6�& 
 �55� �
��6�� ��#��6
�:  

(2.19)                                                              2θ≤ αi   

      ���#��6
� �5�6� ? �/��2�@          ��7��  $�5�� I$�[ (8 e��� �=�!>    ���:8 J�-'�    ��g8
 I$[ V/�X.�T6
�  �$g' δ.   

    �6��� *
������ d�������� e����
� �
����6� ���/M9�� ,���5��� ���:��2 �����S ����� 
?�� �����
���� 0���12 ���
����� U) I����56D?�*�����Y� �-����Y� >�$���p R���1	N �D��6���& 

  �
51� . ��6�� ��1�6�� A�q �
��6�� �
1�2 �6�:  

.1 �        ,����5��� ���:�$@ ������� �
����6�� ����
1��� X���2�g >���o2'� ��$���� .����62 XPi 
 �g9���� ��$��� (2.18) �    � ��
z��S{� 8��/ V/ \�.��62?d.��62 B  ;<���� ��5��� 

E  e��
� ���k.   

.2 Z���@.     �����&�$�� �-����Y� >�$���p R���1	N �D��6���&?�� ����:�$��� <=���� V���/ X�����28  
 *��f���� ;�    A��
���6��  X����2'� <=��� 0��12  ���5 YPi;  ���g9���� ��$�����(2.18)  

& d������ e��
� ,�5D W�S) >� ��5��� <=� ($T6.   

       �� �=���T���    0���12  ����K�� ,����5D Z���
� �
����� V���T` �$1���&'� �����D _������ 
 ��
����.  VT`e��
� ���k V/ ����5�� ,�5���  �y E    ���[ I9�- V/   ��:�$@
,�5��� XPi �g9���� ��$��� (2.18) >1T�� I$��� V/ L ��$1�  d8 >�o2'�:  
(2.19)                                                       li =L - XPi                        

 R
S) (:  

L         – >1T�� I$���>�o2'� ��$1� .   

XPi        – ��5��� �1:�@ Pi  ��$���.  

      ��@����
�  ���
g I9��- V��/ ,���5��� <=��� �
���� ����: V��/ ���5�6�� V��T` 
d����� �����6/ ��@��
� <=� ($T� (8 AL R
S ; �!�
� �
5@'� I$��� S  ��$1�

\��6S ($T
& d=�� J-'� ��$�� ��2�/ \���[� ; .�T6
�  �K:8.  

  



  � �� �

2.4.2             d������ e��
� �
�� d������ e��
� �
�� d������ e��
� �
�� d������ e��
� �
������� G&��
� U) \�E��6&� G&��
� U) \�E��6&� G&��
� U) \�E��6&� G&��
� U) \�E��6&����>�$p R1	/ l��a6&>�$p R1	/ l��a6&>�$p R1	/ l��a6&>�$p R1	/ l��a6&        

  �1!������ >���p�.'� u ����5����� <=���� l�a6����� ; �����g h����D ($���T� �/�����2� 
 � Z[����5� �������M� \�J����O e�����
�?G6/�56���&     θ  XJK���: .)? ����5����� <=���� 8�����/ ( 

         �5������ ��5����� 8��/ V2 \�J	O h16m ;      ��y ��:��2 A��� R�
S ,��5���   V�/
�����	�� ���2��6�� ��4 e����
� δ ; �A��
����� ���:�$@ >��� ���:����� <=���  %���� ,���5���

  ��
z�����S) ����1� U) ��$�����/ e�����
� V���/ I�'� h������� 0���12 Z���5� X����/��6/ BXY   
   U�'�  ��6�� ��5D �����/ B  ;.$��� X     0�12 ������       "��6/� I�'�  ���
� $�P 

X�.=�����  S  ;.$������ Y   dE$����2 "���
12<��������e�����
�     ����:�$@ ������S \�c����8� 
�1� U) ��$��/ e��
� V/ ��	�� h���� 012 Z5� %�� ,�5��� A
�����  ��
z��S)

X�/��6/ EXY  ; �
D�	��  ��6�� ��5D �����/ E  ; .$��� X    ��
� 012 �����
 "�6�� ��	��$PX�.=��   S  .$��� Y  "
12 dE$�2 ���e��
� <�� .  

 e�����
� V���/ I�'� h������� 0���12 Z���5� %����� ,����5���  ����y ����:��2 ������S V���T` 
 *
���� d������ ;G6g9��� =-8 ��� n�4� (2.13) �(2.14)  ;� G��?.��62.  

 ����5���  ���y ���:��2 G
���6� P1  ���g. �Tf����  (2-4) ; ����3�
z����S) A�  

(XP1, YP1) U) ��$��/ ��
z��S{� �1� �
1�� BXY  ;  >1� ��O:  

 (2.20)                                               
αsin R2Y

αsoc.αsin R2X

2

1P

1P

=

=
  

   
���� ����� ��� ������� ��� ����:  

 (2.21)                                                     
)]α2(soc -1[RY

)α2(sin RX

1P

1P

=

=
  

�5��� �
5� ��
z��S) ���S VT` �5����� ���� �K� �/M9�� ,  ,�5���        

  P3 � P2   �Pi ; g9��� �
��6� n�4�� (2.21) :  

                                 (2.22)            [ ])αi(s2oc -1RY

)αi(2sin RX

Pi

Pi

=

=
   



  � �� �

     *
������ d�������� e����
� V��/ I�'� h������ 0��12 Z��5� %���� ,���5��� �
����6�
 �55� �
��6�� ��#��6
� 05�� (8 AL:  

 (2.23)                                                                         2θ≤αi2   

 ����
5�� U) I$��:$�� ���2�  i = k    ����#��6
� ������2 ���5�6� ? %���� (2.23)  ���56�D
     e����
� V��/ ����	�� h������ 0��12 ����g�$�� ,���5�1�  ���K�� ���:��2 �����F  d��������

 *
������� ;    ��$�����/ ,����5��� n���1� A���
����� ����:�$@ ������F� <=���� u >�����  ����1� U)
  ���
D�	�� ���
1�� X���/��6
� ��
z����S{� EXY ;    A���� �������F� <=��� j����#) ����g� 

 
� �����7�� �
�&�� β  ;     $�5�� E��� %���  PkE   ;   �Tf��� V�/� ��g.  (2-4)  ���
����7�� ��
g (8 ��$!�� β  d����:   

 (2.24)                                                             αk-
2

θ
βSÊP ==   
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 �Tf�� �Tf�� �Tf�� �Tf��( 2- 4 )        

   ����5��� ��
z����S) A����Pk  ��g9��� ���
��6�� (2.22)  ;  ����g9��� =��-8 ����� 
(2.13)  � (2.14)  � (2.24) ; � G��?.��62  >1� ��O n�4�:  



  � �	 �

(2.25)                                                          
)]β2(soc -1[ RY

)β2(sin RX

Pk

Pk

=

=   

         ����	�� h������ 0��12 Z��5� %���� ,���5��� ���
5��  ���K�� ���:��2 �����S ���/8  V��/
d8 e�����
�  Pk+1 ; Pk+2;  Pk+j . B  ���g9��� �
������ V���T`� (2.25) ��  I���6���&
����7�� ��
g β  ��
5��� β-Jα  ; � ��
z��S) ���S�,�5��� <= g9����G6
��6�� G6:   

XPk+j = R sin 2(β –Jα)                                                                      
 (2.26)                          

YPk+j = R [ 1- cos 2(β –Jα) ]                                                            
   (���� ����     A
����� �:�$@ G
�6� (�6g9����      Z�5� %���  ��K�� ,��5D h�16

   e����
� V��/ ���	�� h������ 0�12 ;  U) ��$����/� ���1 ���
1�� ��
z���S{� X���/��6
� 
EXY  .    ��#8 V�/ ���!5
��� u ��6���DJ = 0,1,2…     %��� 0�5��  ���S��6
� ��
��6��  
�55�:  
(2.27)                     0                                                    ≥ β –Jα   

�
�����6� ����/M9�� ,����5��� h���16a
  ����K�� ����:��2 ������S V���/ j�!���6D?� ������ 
    *
���� d������ e��
� ;         ����� ���
���� 0�12 ,�5��� <=�  �y VT`   �$1�&'�

  ����� u l�a6�
� (2.4.1)  .  Z/�    I�'�  ��
� .��62  X�2�g��
1���    ,��5���  �y
%��            e���
� V�/ I�'� h����� 0�12 Z5�  ;��    ���
� .���62       ���
1��1� X��2�g ���	�� 

  �y �#8 V/� h���� 012 Z5� %�� ,�5�����	�e��
� V/   *
���� d������.  

   '� �������� e�����
� 0����12 ,�����5���  �����y �����: V����/ �����5�6�� V���T`�$1����&������ d= 
�  ����� u <��/�a6&(2.4.1) ;  � I$�[ V�/ �5�6�� VT` ��O  >��7��  $�5�  J�-'�  

&�
g I9- V/"D.�5/� \X�Y��/ ��
���� 012 "6�$��� I$����  ��g9����
��6�� :   
 (2.28)                                                                             δn-BEC=   
 R
S)(:  

 BE        �  >1T��  $5�� I$[.  

n          �  X.�T6
�� �����6
� �
�7��  �$g'� E�2 .  



  � �
 �

 (8 AL��g9���� �$��� J-'� >�7��  $5�� I$[ ($T (2.28) \�����/ 
 U)�5
� ����
5���
    N ������� �=��� |��6��� ;� X���Y��/ ����
���� 0��12 �����  J��y ���
5� � 

 *
���� d������ e��
� �
�� ���� �Y��/.  

2.4.3            ���� e��
� �
������ e��
� �
������ e��
� �
������ e��
� �
���
��E$
� M�!# l��a6&�� d���
��E$
� M�!# l��a6&�� d���
��E$
� M�!# l��a6&�� d���
��E$
� M�!# l��a6&�� d��          
    �5����� <=� l�a6��\�/��a6&�       � G65������ G65������ V�/ Z&�8  ��
�& ? u 
   A��� %�� X�2$�� VO�/'�  ��!
@   *��f��� ��Y ;  ��
5���    ��1�$[ ��
5@8 ��/�56�&. 

� l�a6����\�c���8   \�J���O d�������� e����
� I$��[ ($��T� �/����2  ; ($T
��& ����6����
  �o2'� ��$�� I$[>  \�J�O G&��
� I$[� \�c�8     ��gE V�/ \�J	�O ��15� d=�� �/'� ;

� e����
� �=��� 0��12 ,���5���  ���y�O �4)�  >�$c���� .$��Y$
� l��a6��&� ���:��2 ���D
 ���1� U) ��$�����
� ����
�.�T���� ��
z�����S{� >���� G65�������� G65�������� u  ����K��� 

�
1�   ��.�
6-� ;    �:��2 (��@ ; G5������ V������ u ���8. ��O     0�12 ,��5���  ��y �
 u d������ e��
�       ���6�� �����M >� �5����� <=� α  ;2α  ;iα   .   ��$��� I$�[�S   

 .�T6
�  $5�� E�� d=�� ; 4 � I$��� ���	��δ ; �Tf�� u ��O�g.  (2-5) ....        
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 �Tf�� �Tf�� �Tf�� �Tf��( 2-5 )        



  � �� �

    ��5���  �y VT`P1     / \�
&$g \���� ���� %��  <.��5δ  ;   e��
� ����� V2
B    ��6�� ����M ���S VT` R
S ; n�=� �/M9��  �K�� �:��2 ���S ��� α 

   ��g9��� ��
��6�( 2.13)     ��$��� I$�[ ����S�S    ��g9��� ��
��6�(2.14)    ��:��2 ��/8
  ���
D�	�� ����5���  ���yP2    $5����� ������ %���� 2δ ������� V��2e����
� B  @ ������M >��!

  ��6��α  2 %���  �����   ���
� �!BS  ;   ��$��� Z�/    BP2   �@���
�� S ; � �j���6�   V�/
  ��&��K
� ���5��� P1 ;       ��y ��:��2 �����S �6�� �=�T��  >g���  ,��5���;  (8 0��12
 ��#��6
� 05�� (2.19)   �55� .       Z�
��  ��K�� ��:��2 G
��� ���    Z
�6��D ,��5���

� n�4�  �K�� ��
1�2 j��#)� �
��6�� ��$�x� _���:        

.1# 7
O��U�'�  ��6�� ��5D ~$@ �
��E$
6�� M�! B  ; X.�o��� "
#$��$P X�.=�� 
S  ;  �� ������ ̂ ��6
� ��5   d$1���   � M��!�   �.��52 ��@� ��
��E$
6�    .���5N �2�����

����7�� α.   
 .2     �
5�� *��Y ��&�$� ;   �@��
�  �5�S  ;�     U�'�  ���6�� ���5D V�/ \�.��62 B  

$6�
� V�p �!6��k Z5� R
q�
��E$
6�� <E�� d=�� �$g�f�� d  

.3      ���:�x� ���O�F� ����&�$� M���!�� ������� Z��/  ¡���5�� ��L.���� �����7�  >��5@'�  .
�@����
�  ���5� S  ;� ����5��� V��/ \�.����62 P1  ����
���� 0��12 X������ ;(8 A��L�  Z��5�

  ���
��E$
6�� <E���� d=���� �$g�f���� d$6���
� V���p \�c���8 *��f���� �����k  �6��� n�=����
��5���  �y P2 ;  ,�5��� �
5�  �K� �=T��.   

��2�/ ��# �D      d������ e��
� 012 ,�5��� �       ���6�� ����5D V�/ \�.���62 U�'� 
B. oS?�� �     �/��2 �:���� G` U) Z5� e��
� (H   � \��!�6/ ($�T��  X�.=��� <��� S  

  ¡���5�� ��L.����� ������7� Z���/ ����@�$6� �=����  >���5@'�.����/8  e�����
� �
����� ����DE.8 �4)
������ *
������ d��    ���
D�	��  ����6�� ����5D V��/ \�.����62�E ;  ����D�@��& (H��� �S9� �����7�

    >5@'� ¡�5�� ��L.��&        e��
� (8 b?) �2���� �.�52 Z/ 05�6 �&   .���� 0�12 Z5

 ��5��� ~$@ \��g�� ($T� �/��2 �:����E X�.=�� <���� \�!�6/� S .  
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 �Tf�� �Tf�� �Tf�� �Tf��( 2- 6 )        

u  ������F� <=���  ($T6��&  �����5���  ���y ���:��2  PP1  ; �@�����
� >���  S  �������7���      
[ ( 400 – θ / 2 ) + α ];      ��y ��:��2� ���5���  P2   �@���
� >�� S ��� ����7�       

[ ( 400 – θ / 2 ) + 2α ] ;   ���5��� ��:��2 (8� Pi   ��
� >���@� S � �����7��          
[ ( 400 – θ / 2 ) + iα ].      ��
5��  ��K�� ��:��2 A��� �=�T��   %��� ,��5���   Z�5�

 e��
� 012Tf�� u ��O��g.   (2-6) ;�/�E�/ ��#��6
� (2.19) �55�.   

2.4.4            M�!# l��a6&�� d������ e��
� �
��M�!# l��a6&�� d������ e��
� �
��M�!# l��a6&�� d������ e��
� �
��M�!# l��a6&�� d������ e��
� �
��dddd�
��E$
� �
��E$
� �
��E$
� �
��E$
�             
   �Tf���� ����
5@'� ��@�����
�  ����
g V��T` ? �/�����2 ����5����� <=���� l�a6����

   �8 �.'� X.$��2� A�����  ���Y��/��S E$��#�    $���� ���-£ �����2 d8 �8 Z5�6���/ �8 ����� ~
    Z���
��  ����K�� ����:��2 b(����@ ������F� <=���� u ; *��f����� �����&�$� ����Y��
�  ����
5��

   012 Z5� %�� ,�5���          ���6�� �����M >� d������ e��
� .     ���5���  ��y V�T` P1 

���/M9�� ���:����� ������ ����� ��&�K��!  .���g. �Tf���� A���q (2-7)  R��
S (8 ���� 
� <=� >� �:����:        



  � �� �

  U�'�  ���6�� �����M α  ���X.$�  G�� �  I�'�  ���
� <��� BS  ;�� ��$���� <��� BP1   

D�	��  ��6�� ����M��  [ ( 400 – θ / 2 ) + α ] �� X.$� G� �<��   ���	��  ���
� 

ES   ;����$�� <�� EP2  ) �2���� �.�52 �@�.(   

O

S
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∆
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−
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−

400
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 �Tf�� �Tf�� �Tf�� �Tf��( 2-7 )        

��5���  �y �6� P1  �
��6�� �S��
� �@�:  

•     U�'�  ����6�� ����5D ~$��@ ���
��E$
� M���!# 7��
O�� B  ; X.���o��� "��
#$�� �� <����
X�.=�� S ����7�� .��5N X.�o��� ����� ¤ α.   

•        ����
D�	��  ����6�� �����5D ~$��@ ���-£ ���
��E$
� M���!# 7��
O��  E     X.���o��� "��
#$� ¤ 
�� X�.=���� <���� S �� ��������   ����:�x� ����O�F� �����&�$� M����!) �.���52 Z��/ �2������ (

����7�� .��5N [ ( 400 – θ / 2 ) + α ].   

•  () Z[�5�����>��5��� Zg$/ E�� G
�$c�� V�.$��  P1.   

 ()��5���  �y �:��2 P2 ; ����7�� >� 2α ;�����7��� [ ( 400 – θ / 2 ) + 2α ]         

   ���5���  ��y ��:��2� Pi   �����7�� >�� iα  ; �����7��� [ ( 400 – θ / 2 ) + iα ] 
  ��6�D  u     �y��       ���#��6
� ��/�E�/ d������� e��
� 012 ,�5� (2.19)  ��55� .



  � �� �

 ���S9D  d�������� e����
� �
���� (8��¥ ���5����� <=  �����/� �!��& ;  h��1T/ "��D8 b?)
 \��oD n�4� U) \��/ ��2 %2$��� �
��E$
� dM�!# U) ��6#�S.  

2.4.5                
� �
��
� �
��
� �
��
� �
��� d������ e��� d������ e��� d������ e��� d������ e���������6T�{� ��@��
� ���g l��a6&���6T�{� ��@��
� ���g l��a6&���6T�{� ��@��
� ���g l��a6&���6T�{� ��@��
� ���g l��a6&            
     �1/�f��� ������ X7�!#8 7�
�6� ;     ���
1�2 u �����M� �@���/  ��
g V�T` "��DH�

   b(���@ �=��� ; X���S�� ���:.�     �
���� ����
1�2 �
!���� "DH��Y V��/ X7��!#'� <=��� l��a6��&
        �5������ ~���� Z/ �D.�5/ �������� ��
���
� .��9      '� <=�� ��7�
/ V�/ XE��6�& X7�!#  

         <=�� u d������� e���
� 0�12 ,��5���  ��y ��:��2 |�6�D ���D�@    �����M >�� ��5����� 
  ���6�� iα ,…, 2α , α   .  .����'� I�$�[8� Si ,…, S2, S1    ���5D �3������ %��� 

U�'�  ��6�� B  ;,�5��� �3���k�:   P1 ;P2 ;  Pi �!&�y �$1�
�.   

  ��5���  �y VT` P1  ;  �:����� ���� ���       �Tf��� V�/�  ��K1� �/M9��  
�g. (2-8)  ��) >�  �K�� �:��2 (:  

� U�'�  ��6�� ����M α  G� X.$����I�'�  ��
� <�� BS  ;���$�� BP1.   

� ��$�� S1 �g9���� A�� d=�� (2.16).   

  ����5���  ���y �6��� P1  ;        ����6�� ����5D ~$��@ �1/�f���� ������ M���!# 7��
O�6�
U�'� B  ; 2 ��&�$�� �K�� �:�� (α1 , S1) ��5���  �K� P1  ;   ��K� n�=�O� 
 ���5��� Pi ��   �!�&�y ��:��2 l��a6�& (αi ,Si) ;    ���#��6
� 0�5�� (8 0�12  (2.19) 
�55�.       d������� e���
� ,��5D  �y VT` �     ��
D�	��  ���6�� ���5D V�/ \�.���62  E  

    �����F \���/�Q �¥�f��/ ���5����  ���K�� ���:��2 �������S j����#) ����� n���4�  ���:��2
  ���K���   U�'�  ����6�� ����5D V��/ \�.����62 B ; � �6���  � e����
� ,���5D �
���� �  _�����

 ������ �$1&'�"��D.  
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 �Tf�� �Tf�� �Tf�� �Tf��( 2-8 )  

2.4.6            d������ e��
� �
��d������ e��
� �
��d������ e��
� �
��d������ e��
� �
������66
� .���'� U) \�E��6&� ����66
� .���'� U) \�E��6&� ����66
� .���'� U) \�E��6&� ����66
� .���'� U) \�E��6&�             
    
� �
����6� ���
D�T
�� ���
@��y$���� ,��f���� ������? ���g  ���������� ����
���

      <9��28 ����
�
� E$������ u �S��f��
� ~������ _������� ��
������ ;  ($��O I���S u n���4� 
 .$��� G��� �@����
��������� XE����� "��
�D�#�  �5
��p� ; ���
�
�[ �����$2 E$��#� A�����

    �2$�6/� XJ	O �
2���:�� .  ()   V�T` %�� ��&��
� �5������  u ��!2���  ��	/  <=��
 ������F� ;�
����� ����5��[ >���� e�����
� �.������'� U) \�E��6���&  �������66
�. (����O �4����@ 

 G6/�56&?� �:� �$1�
�∆1  � ∆2   ;  X�.=�� u G6�[�56
�S   e��/ ��&�$�
 <������g h�����D *
������ d�������E R;  u ������O�Tf�����������g.  (2-9)  .(�����@  ������
1����

 e��
� �=� ,�5D ����  �K�� �:��2 G
�6� �/M9�� �
���F�  6�� ��@� �6�  ���1�
 ��6��:  

.1 >1T�� I$��� ���S L �g9��� �
��6� ;d������  $51� (2.10).   

.2    d������  $5�� I$[ �
�5� ;    �$g8 U)#  I$��� �����6/ �
�7 δ . R
q ($T�  
R/20≤δ ;  ��� V/ I9g¦� n�4������  $5�� I$[ G� ~.<.   



  � �� �

4 .  .  .  . ���S    U�'�  ��6�� ����M α 
��6��g9��� � (2.12).   

.5 �6��z >�� �����6
� �
�7��  �$g§�  ��6�� ����M ���S d����� α2 .  

.6   $���5�� I$����� ��$����� I$���[  ������) ������ ; �6��������/ ������S�� �@?U�'� ������7D S1 
 �
��6�� �g9��� �
��6�:  

(2.29)                                   S1 = AP1 = δ . α                                  
 R
S) ( :  

- α � ����M?(��E����� X.�5/ U�'� ���7D.   

�g9��� A�q VT�� (2.12)  �����:  

                                                                           
2R

δ
α =  

 �g9��� u �i$�D(2.29) ���@ :   

(2.30)                                                                                  
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�Tf���Tf���Tf���Tf��    ( 2-9 )        

.7  � �@����/ �����S? X.���T6
� �����7D S .  V��/ �Tf���� (2-9)  ��$!���� ���S9D 8 (
 ����M?�X.�T6
� ���7D ; d����� �6��z� �����6/ 2α ;  ��6���� VT` ���6O:    



  � �� �

 (2.31)                                                                            
R

δ
S

2

=  

 .8      ��
D�	��  ���6�� ��5D  �y �:��2 ���S E .      $�5�� I$�[ ����S ����   >��7��
J���-'� C  ; � �@�����/ ������S Z
�6����D? =���C ������7D< V����@ ;  $���5��  ��Tf���� ����g.      
(2-10) ;  ���T`���6O:   
(2.32)    S2 = FE = FJ + JE                                                         
 VT��:  

                                                 
2R

δ
CαC.α.F.PFJ i ===  

                                                  
2R

C

2R

C
CαC.EJ

2

C ===  

�g9��� u �i$�D ( 2.32 )  ���@) (:  

 (2.33)                                                               )Cδ(
2R

C
S2 +=  

E

R

p i

α2
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c
αα

αc

c

J

  
�Tf���Tf���Tf���Tf��    ( 2-10 )  

 ��6�� ��1�6�� �@� �6
@ ,�5��� <=�  �y �5��[ �/8:  

  



  � �� �

•   ����y �6����U�'�  �����6�� �����5D B � 0���12?�/�56���& ∆1  ;��!6@�����/ U) \�E��6���& 
  0��12 ���&��K/ ���/ ����5D U) �����D �8 ; ���
�O��6���?�/�56��& ∆1  ;? ����D'  Z
�6���D

G&��
� �
�� T1 �T2 .  

• � 0��12 =��-HD?�/�56��& ∆1 � �������?���
�7�� �
��&$5�� �@����
� ; <���� δ � \�.����62
U�'�  ��6�� ��5D V/ B  ;\����  �KD� A.   

•      ����5��� I$��S  ���
5�� *����Y .i����D B      I$����� 0��12 ���o@��� Z��/δ ;  �����D u�
   �@���
� ��-£  ��
g *��Y 012 G�D �g$��S1  ;   ��g9���� ��$����(2.30)  i���D� <.

 ��5��� I$SA ; � G���f�� V�=� ����� ($T� R
q�d������  $5�� <��.  

 ��r� G���f���� V�=��� >��g9� ����5D ()  \����
# (�E��f��/ �G���� Z��g$/  ����5��� 
 U�'�P1  ��.��5/ �
&$g �@��/ "6���� V2 ����� e��
� 012 Z5� %�� δ .   

���
D�	�� ����5��� �
����6� P2   0��12 =��-HD d�������� e����
� 0��12���$���� �/�56��& 
BP1   ���
�7�� �
��&$5�� �@����
� δ  ;�  U�'� ����5��� V��/ \�.����62 P1  \������  ���KD� d  
  V/�     ���5��� I$�S  �
5�� *��Y .��D ¤ P1     I$���� 0�12 ��o@��� Z�/ δ ; ¤  Vi
��D 

   �@��
� �-£ *��Y 012 S �g9���� ��$��� (2.31)  ; I$�S <.��D�  ���5��� d  . ()
 \�����
# (�E��f���/ ����r� G���f����� V�=���� >���g9� �����5D� Z���g$/ G���� �����5���P2  V���/ 

     ��5��� V2 ���� %�� d������ e��
�P1 �@��/ ��.�g �
&$g δ  ;�=T��  ��6�D
  u               ��
D�	��  ���6�� ���5D ��!
@ ��N *
����� d������� e���
� ,��5D �@�O  �y E . 

              ��
51� *��Y� �
��E$
� M�!# ��&�$� d������ e��
� 012 ,�5���  �y VT`
� �-���Y��  ������� u �S��f��
� ���5����� _����� (2.4.5) u ����O   Z��/ ; I�'� I���	
�

  $� �
S� ~.�@ �M (8 � ���� ?  ����7D  0�5�� (8 A�L  d������ ��6��z  2α      E���D \�����E ���D'
�� �5�������� �����5��� <����� ; ����#8 V���/�����5��� �
�����  ����5S9��  �����5D �
�����6� ����/8 

 �
D�	��  ��6��  E  ;     ��5��� ~$@ \�7O��6/ ($T� �
��E$
6�� (�@n ����M�� ?  ����7D
 >� �!5
5� A#�$��: [(α + θ / 2) – nα].   

  



  � �	 �

  

2.5            ��$1� ����/��$1� ����/��$1� ����/��$1� ����/            
��H�/��H�/��H�/��H�/    (1)            

� ���������? (�6/�56����& ∆1 � ∆2  X�.=������ u (�����6�[�56/ S   ������!�[�5� ��������M� ;        
θ =  18.4516gr .       ���g h��D d����E  $�5� ��!1�:� E����< R = 450.00 m   

    =��� 0��12 ,���5D �
���� E����� ����O� $��5�� ;  �   U�'�  ����6�� ����5D V��/ \�.����62 B 
��  E$
� M�!# l��a6&      � ; ��
51� *���Y� �-�$Y� �
�� Z�5�  =�� �      G�` 0�12  $�5�� 

     \�!�6/ ($T� �/��2 �:����$P X�.=��  S   ;  ���. VT` ?�    0�12 Z�5� %�� ,�5���
 e��
� V/ ��	�� h���� ; �$1�
��:  

.1    G�&��
� V�/ ��O I$[ ���S SE  ;  ;  ;  ;  SB  ;   d�������  $�5�� I$�[� L   �!�&� 
 $5�� M  �
#.�x� �@��
�� EX .  

.2      �������	�� �����2��6�� ��4 d���������� e������
� 0����12 ,�����5���  �����y �����:��2 �������S            

δ = 20.00 m.   

 .3 ��$1�
� �5������ ,�5��� <=� �
��.  

 �F� �F� �F� �F�::::        

�Tf�� V/ ����� (2-11).   

G&��
� I$[ SE �  SB :  

            .67.652258.9tan  450
2

θ
R.tan  SESB m====  

d������  $5�� I$[SE  :  

                       m43.130
6620.63

4516.18450

ρ

R. θ
SE =

×
==  

�
#.�x� �@��
� EX:   

                m77.4450 -)67.65450(R -)TR(EX
2222 =+=+=  

 $5�� �!& I$[ M  :  



  � �
 �

                        m72.42258.cos9450 -4
2

θ
R.cos -RM ===    
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 �Tf�� �Tf�� �Tf�� �Tf��(2-11)        

.1 d���6
� �2��6�� ����� δ = 20.00 m  ;T6@ ��6�� ����M ($ α �����/:   

                             gr4147.1
4502

20
6620.63

2R

δ
ρα =

×
×==  

  .���62���8(  δ =20 <  R/20    ; ����T�
@     ��$�� >��7��  $�5��  ����) < ;d8 (8  
δ ≈ S .  ) ,��5���  �y �:��2 (  P1 �  P2�  Pi      ��#8 V�/�   2θ≤αi    u ���
�/
 I����  �g.( 2-3 ) .    

  

  

  

  

  

  



  � �� �

                                                                                                                                                                                                                         I����   I����   I����   I����  (  2-3  )        

iα        iδ        i        
3 2 1        

1.4147  20  1  
2.8294  40  2  
4.2441  60  3  
5.6288  80  4  
7.0735  100  5  
8.4882  120  6  

  .2 ,���5��� �
���� �6���  P1 �  P2�  Pi ������� u �S��f��
� ���5������(2.4.4)  

���  .��62)         ���	�� h����� 0�12 Z�5� %��� ,�5��� �
5� �
�� VT` ? "D� \�.���62   V�/
  U�'�  ��6�� ��5D  B          ����F� <=��� ; �!6��. l��� ��    \�J	�O BE�� ; \���oD   E$�#$�

 �
2���:� �8 �
�
�[ ���$2Zg$
� u.   

 ,�����5��� �
������ V����T` P4  �  P5� P6 .  ��������� u �S��f����
� �����5����� ��������             
(2.4.4)  ; ��$���  �K�� �:��2 ����� ; VT�����5��� V/ \�.��62 P3  %��    

   ��
���� 012 X��� ���:8      �5��  R
S ;  M�!#  ��5��� U) �
��E$
6��  P3    "�#$��
  � >�$c�� .$���   U�'�  ��6�� ��5D <�� B  ;  0�12 Xj���5�� Zp$��   >�5@'� ¡��5�� 

200 gr   ;���� �6��� ¤ V��/����O�F� ����&�$� ���
��E$
6�� ���  ���:�x�Z��/ �.���52 
     >�5@'� ¡��5�� 0�12 Xj���5�� ����� �S �2���� 0.00 gr      >�$c��� .$��� ($�T
@

#$/\���! ���@� ���$���� E����6/ BP3  ;� d8�����5��� <���� J  ,���5��� �
���� Z����6��  P4     
�  P5�  P6 ;         ��S ��:�x� ��O�F� ���&�$� >�$c��� .$��� "�
#$6� n��4�  �����

  Xj��5��4α   ;5α  ; 6α ; U�'�  ��6�� ��5D ~$@ I�M�/ �
��E$
6�� (8 $� ��O .
 V��T` V��/ ���5�6��   �Tf���� U) _$#������ n���4 (2-11) ; R��
S  j�f��D) �6���  ����     
t1 t2  ;��5��� ��2 d������  $51� P3 ����� ($T
@����7�� :   

                                                      3α   SBP3 = BP3T1 = JP3T2 =  



  � �� �

   012 I$��1�?�<�� P3P4  ;     ��:�x� ��O�F�� X.�o��� ����� >�T�   ��S
���
5@'� ������7�� Xj����g 4α   >��5@'� ¡���5�� 0��12. i��������5��� � P4 ������  ���5�����

 �5�����;  ������� �=T�� U) ,�5��� �
5�.  

////��H���H���H���H�    ( 2 )  
�(�6/�56���& ∆1 � ∆2  0���12 (��������   �����5D �
����� V���T` ?� ; �����
����  
�!�[�5��S   ;>�
�[ ���2 E$#� A��� n�4�  .�:� E���G6/�56&?� G���    $5�

��g h�D d���E< R=200.00 m .  

�$1�
���$1�
���$1�
���$1�
��: : : :         

.1 Z[�������56�� ���������M ��������S θ  ;����������7��  �������
g ¨ "�����D8 ��������� 178.4413 γ1=      
����7���  γ2 = 186.4517 
5@'� �@��
��� mn = 58.1 m   

.2   G��&��
� V��/ ���O I$��[ �����S SB � SE  ; d��������  $��5�� I$��[� L   I$��[�
>�o2'� ��$�� LC .  

.3              ����6/ >�&$g ��2��6� d������� e���
� V�/ ,��5D  ��y ��:��2 ���S;  <.��g� 
25 m  ;  n�4��� ; \?�8 >�o2'� ��$�� U) \�E��6&� \�
D�z G&��
� U) \�E��6&.  

.4 �� <=�  �y� ,�5���-�$Y�  �
51� *��Y� >�$p R1	/ l��a6&.   

 �F� �F� �F� �F�::::        

     \�J	O ���F� <=� �	/  ��!
� BE��� ;���
& ?    u ~����� *
��+ ���2 
       �
&��C� �©f�
� �!
@ �	T� %�� Zg�$
� ; � �$1�
� ($T� R
S?  ��C$S B��6�

 D U) I$��:$�� Z���` \���
�
�[ �������� ($��T� �8 ; �!�����+ �8 �!/���� (�E Z[���56�� ����5
    ������M  ���
g ���S �8 ���
���� 0��12 X.���5�� l���2 ����6���� �?B�����D θ  ; u ����O

�Tf�� (2-12).   

.1      �6�� ���K�� <=C�    ��	/ ��/ ���5D .��
6- m  � V�/? �/�56�& ∆1  ;  W��-8 ���5D� n   V�/
�?�/�56& ∆2  ;6���7��  �5� ¤ V/��(  γ1� γ2  ;�
5@'� �@��
�� mn    <=�� V/�

 ��&�
5��Z[�56�� ����M ���S VT` θ  ;>1� ��O:   



  � �� �

= (200 – γ1)+(200– γ2)=400–(186.4517+178.4413)= 35.107 
gr
  θ  

S

B
E

R

θ

2

∆

∆

1

2

θ
θ

γ
γ

1
2

58.14 m

_ _
2

m
n

  
���� �Tf� �Tf� �Tf� �Tf�(2-12)  

.2 G&��
� I$[ SB  � SE:   

              m59.565535.17tan200
2

θ
R.tan=SE=SB ==  

�������  $5�� I$[� L:   

                              m29.110
662.63

107.35200

ρ

θR.
BE =

×
==  

>�o2'� ��$�� I$[ LC  :  

           m90.1085535.17sin2002
2

θ
.R.sin2BE =××==   

.3  ,�5�1� �/M9��  �K�� �:��2 ���S:  

� � >�o2'� ��$�� U) \�E��6& ;G6
��6�� G6g9��� �
��6� �6�:  

  



  � �� �

                                         )αi -
2

θ
(cos)αi(sin R2X Pi =  

                                          )αi -
2

θ
(sin)αi(sin R2YPi =  

 �#8 V/ n�4�i =  1 , 2 ,…   �   

   ��6�� ����M A�� ���K�� <=Cα  

                               gr9789.3
2002

25
662.63

R2
=

×
×==

δ
ρα            

 ��6�� I���� u �����F� ���6D A���:  
                                                                            �������� I�� I�� I�� I��( 2-4 )        

Y( m )        X( m )            θ/2 - iα iα                iδ        i        
6        5 4 3 2 1 

5.29  24.42  13.5746  3.9789  25  1  
7.49  49.30  9.5957  7.9578  50  2  
6.57  74.27  5.6168  11.9367  75  3  
2.55  98.93  1.6379  15.9156  100  4  

�     G&��
� U) \�E��6&�   �g. �Tf�� u ��O (2-13)  ; �
��6� �6� G6g9��� 
 G6
��6��:     

                                        
)]αi2(cos -1[ RY

)αi2(sin RX

Pi

Pi

=

=  

 ������� n�4�� U)�����/ %�� �
1�� �1�� B  ;U�'�  ��6�� ��5D .   

�#8 V/� i = 1,2,…   �2θ≤αi2  

2≤i θα



  � �� �

S

B
E

R

θ

∆

∆

1

2

θ

58.14 m

_
2

m

n

p

p
p

p
1

2

k

j

α
α

β

+k

α

Y Y

1

2

y

y

y k

        
 �Tf�� �Tf�� �Tf�� �Tf��( 2-13)  

 

F� ���6D Zp$� ��6�� I���� u �����:  
                                                                                                                     I���� I���� I���� I����( 2-5 )        

Y( m )        X( m )        2iα iδ        i        

5        4 3 2 1 

1.56  24.94  7.9578  25  1  
6.21  49.48  15.9156  50  2  

  ���������� ,����5��� ����
5�  ����y ����:��2 ������F� U)  ��������/ %����� ����
1�� ����1��E   
� ���S AL �
D�	��  ��6�� ��5D ����7�β ;�Tf�� (2-13) .  

                     gr
6168.59367.11-5535.17α3 -

2

θ
αk -

2

θ
β ====        

 �� G6
��6�� G6g9��� �
��6�:  

                                                 )αj -β(2sin RX jk =+   

                                          )]αJ -β(2cos -1[ RY jk =+    



  � �� �

                                                                      0≥αJ -β  
 �#8 V/ n�4�J = 0,1, 2, ...   

 I���� u �����F� A��ª� �g.(2-6)  ��6��:  
                                                                                                                                                                                                                                         I���� I���� I���� I����( 2-6 )        

Y( 3+j )        X( 3+j )        2(β – jα) β - jα ( 3 +j )δ        3 + j        

6        5 4 3 2 1 

3.11  35.11  11.2336  5.6168 75  3  
0.26  10.29  3.2758  1.6379 100  4  

.1    d�������� e����
� V��/ ,���5���  ���y V��T` ;� >���o2'� ��$���� U) \�E��6��&  ���@�
  �����
�
� ��$�����x�� X�����5��� u  (2.4.1) ;    U�'�  ������6�� �����6�5D ($����T� R����
q B  

�  ����6������
D�	� E  ; ����
���� 0��12 G������ ; u "��D8 ?)? ��H���
� <=���   V��T`
X�5��� �@� G&��
� �
�� (2.4.1) U) I$:$�� VT` ? "D' X�.=��  S.  

    U�'�  ��6�� ��5D �
�� VT` B  ;  �@���
� ���S �4) Bm ;  �
����   ���5D
�
D�	��  ��6�� E  ;�@��
� ���S �4) En .  

�Tf�� V/ (2-13)  ��) (:  
En = SE – Sn                                  �     Bm = SB – Sm  

 R1	
� u �$
�� �g92 �
��6�Smn  A6TD:  

                                
)γ -200(sin

Sn

)γ -200(sin 

Sm

)θ - 200(sin 

mn

1

.

2

==  

 �� "�/�)(:   

               m44.23
107.35sin

4517.186sin
14.58

θsin

γsin
mnSm

2
===  

                     m86.36
107.35sin

4413.178sin
14.58

θsin

γsin
mnSn

1
===  

                                        m15.3344.23 -59.56Bm ==  



  � �� �

                                              m73.1986.36 -59.56En ==    
    U�'�  ���6�� ��5D �
�� �6� B  ;     ��1��S %��� �@����1� ��Y��
�  ��
5��� 

�!
12 Bm= 33.15m  .� ���5��� V/ \�.��62 m  ;���  � ������ <���? �/�56�& ∆1  ;  ��/8
�@��
� �D�O �4)   Sm > SB (�@ :   

 Bm = Sm – SB                                                                           

 �6��� �
����6���� ����5��� V��/ \�.����62    m  ;� n���4�� �/�56��&?� �����k <���� ∆1  �@����N�
��.���g  Bm.  D �
���� �6���  ���
D�	��  ����6�� ����5 E  ; �$1��&'� ������   l�a6���
�

    U�'�  ���6�� ��5D �
��6� B  .         e���
� ,��5D �
��� ��/8� \�E��6�&    G�&��
� U)
   �/���� ���F� u@�/M9�� �:����� ���S V/ �y���� VT� JK    ,��5��� <=�  �K�

   V��T` ? "��iD' n���4�   X���2�g G��&��
� V��/ ���O l��a6��&    ���K�� ����
1���  ���/M9��
  n�=��� ������ ? d=���� �������� E$��#$� \����oD .�4) ���/8  \������ ������� \��
���� �������� (���O 

<=¥ e��
� �=� �
�� VT�
@ ; e��
� h�6�/ ��5D V2 \�
@�O  �5�����.  

////��H���H���H���H�    ( 3 )            

�   ����!�[�5� �����M ; (���6�[�56/ (�6/�56�&θ = 12.246 gr   . ��!1��:� E�����
��g h�D d���E  $5�< R = 400 m  .�$1�
��:   

S� *
���� d������ e��
� V/ ,�5�� �/M9��  �K�� �:��2 ���� �5��[ l��a6&
 ����66
� .���'�.  

 �F� �F� �F� �F� : : : :        

*
���� d������ e��
� I$[ \?�8 A�P L:   

                                     m94.76
662.63

246.12
400

ρ

θ.R
L =×==  

  

���    $5�� �@��
� .��5/ (8 .��62     E�� Jy �
�7�� �
& ; ��@ ���T�
@   �C ��
g <=
 �@��
�; R
q 05����#��6
� �55� �
��6�� :  



  � �� �

                                                         m20≤
20

400
≤

20

R
≤δ  

(8 ������&� δ = 15 m  ;       �����) �����T`� �5������� ����#��6
� ���5� >����
.���H� �
�7��  �$g'� ��.  

                                                                                                             I���� I���� I���� I����( 2-7 )        

����????���7D���7D���7D���7D 

( m )              

  $5�� I$[  $5�� I$[  $5�� I$[  $5�� I$[ 

( m )        

 �
�O��6�� �@��
� �
�O��6�� �@��
� �
�O��6�� �@��
� �
�O��6�� �@��
� 

( m )        
3        2        1        
0.28  15  5805  
0.56  15  5820  
0.56  15  5835  
0.56  15  5850  
0.56  15  5865  
0.08  1.94  5866.94  

  

J-'� >�7��  $5�� I$[ A�P C  ; >1���O:  
             C = L – iδ                                                                           

(8 ���� i = S  ��
g ($T6& C:   
 15 ) = 1.94 m                                               ×C = 76.94 – ( 5   

   I������ u  ���K�� ���:��2 A��
��� �6��� (2-7) ;   ��y ¨ "��D8 ������ n���4� � 
U�'�  ��6�� ��5D B �����/ �
�O��6�� �!6@��/ �D�O� 5790.00 m.   

  

  

  



  � �� �

������ ��	�������� ��	�������� ��	�������� ��	��        
 
���
��� ����� 
���
��� ����� 
���
��� ����� 
���
��� ����� �������� �������� �������� �������� ������ ������ ������ ������                                                

������� ��� ����� ! �����"��!������� ��� ����� ! �����"��!������� ��� ����� ! �����"��!������� ��� ����� ! �����"��!            
  

3.1             ������ �������� 
���
��� ������ �������� 
���
��� ������ �������� 
���
��� ������ �������� 
���
���        

    #$%&' ($) *���� +������ ,
��� -�."� $/%��") # )  �$��1 !1 ( 3  �	�$4
  �$�5� �6�7��)! 3 #�!��") 89 ��:���'    ���$���; �$:<� =$	4 > ? @A�  #$%&5�. 
   �$$����� �$$������� 
�$$��
��� C�D"�$$�   ?�$$�� > E8�$$F�� 
�$$�G�5"�� �$$�� 3 H$$��

       IG�$5"�� �J��$) �:�K L���M;         E8�$� N�&$G1 
�O ����$; �$����P 
�$��
�) ����$". 
  Q�&$$$'R� ($$$) �$$$�&�S ��$$$%�&; 
�$$$�G�5"�� TU$$$� �$$$�) �$$$�� 
�)�5"$$$%M� �$$$V! �"$$$�  

 �$$�W��'1 X��$$41�$$YW�")   3+1$$Z !�P 40 m �$$�� ! N&[�$$�� P!�$$Z30 m  >
 \$%&�� 3 !  P!�$Z20 m    ]!�$^� �$�� 3  � TU$� �F_$"� Q�&$'R    �̀$����P �̀$��
�) �̀$�) 

    H$$$�� �)�5"$$$%M� @A @!R� �)�5"$$$%M� ($$$) abW�$$$"�� N�$$$5"4M� ()c$$$� �̀$$$���) �$$$:���   
 E�d��) 3�'W  �F_�� > ��� (3-1).   
$$$�  
�F�$$$d > �̀e$$$�1 
�$$$��
��� ($$$) f&$$$��� �U$$$� C�D"�  g�$$$"  H$$$�� h�$$$��� 

 F�$$$$�� 
�$$$��i"���M�! �$$$$������� j$$$$��&��� �$$$$�F� �$$$$�J ��4������$$$$V �$$$$�g&��! 3 
     ;! 3 I$'&�� > �̀���&_�   $% k�$"��           ���$�� Q�$�:�� �$::Y�&� H$�� ��F_$�� ?&F" 

   ��' -�4 W��"[� ��F_))  �$' �̀8lV TW�"[� ?mK  \����� +������ ,
���� *%��
     W�"[� ?A! 3 �) j���; C����       j��$��� n$�O *�i"� �̀8�� T3     �$[o j��$�; C���$� �$'  
 �p� TU� ��) > ��)R� �p�K
M  3&�(� q�"	"��   ,
�$) �����    *$��) +�$��P

   %��") #%&' () -�c)" # )  �$��1 !1 (  	�$4 W�$�"[�!a    I��"�$� �F_$; �$�:���' 
    g!�  ����� r�K  H�� j��&��� n��    +�$��P ,
�) ��%�&; �:�P�	� (Fs M  \��$;

!   L��� M  �̀����  () f&��� �Ut     3 ���$����� h�$��� �F�$d (�u 
���
���   ?R n$�O
  
�) () N�5"4M�(     �[o (
�) @A -�"v(� N!R�    N&$�;   $% 3�$�5�� -�$4�  E&$' ��&



  � �� �

           �̀$�) w�$����! j���$�� x�7$� �yY�	) EU;�4 3 �$'!      !1 �$;���� ?g�&$� Nz"$[� @A +Pc$� 
    j����� EW�' C�����  �� E������ �:� .     �$�� x��$��� �$/�l"�� E/�J () -�	D"��   N�$5"4M�

 #$$; #$$%&5�� (�U$$� 3  $$; L�$$�{�.     8l�$$�� �$$�5�� -�$$4 �$$��' ?&$$F� ?)R1  ̀z�$$) ( 
 ����"�� �iJ��"��� �55|:  

1

2

3

1
2

3

O

O

O

R
R

R

S

B

E

∆ ∆

θ

1 2

  
 �F_�� �F_�� �F_�� �F_��( 3-1 )  

 (3.1)                                                                       R2  2 / 3 R1  ≥                                                                                                
 ��JA?:  

R2 –  8�F�� ��5�� -�4.  

 3.1.1 *���� +������ ,
��� �V���  *���� +������ ,
��� �V���  *���� +������ ,
��� �V���  *���� +������ ,
��� �V���         

   �$$$'W  �F_$$$$�� *$$$$���� +����$$$�� ,
�$$$$�� -�.$$$"� (3-1) 3 �$$$$V����� ($$$$) 
%�%R� ����"�� �� :  

θ   � � IG�5� ��!�gM#")�5"%  ∆1  !∆2.   

 R1�  ��' -�4Q&5��!R� N7��)! T O1  .  

R2 �  ��' -�4Q&5��7��)! ����� T O2 .   
T1 �  N!R� Q����N!R� Q&5��"���; ��54 ��� r  B.   



  � �� �

T2 �  ����� Q����Q&5��"��� ��54 ��� ����� r E .   

θ1  � �� IG�5� ��!�g��"_�� Q�� C1C2 N!R� Q���� I) T1 .  

θ2  � ��"_�� Q���� IG�5� ��!�g C1C2 I) ����� Q���� T2.   

t1  �  Q�� N&GN!R� Q&5�� .   

t2   �  Q�� N&G����� Q&5��.   
 a�� �) �F_�� () �Jz4:  

- R1 ≠ R2  �̀���; �̀����P �̀��
�) L�VR �MA!.   

- #"������� #%&5�� �7��)  O1 ! O2  3��5?�E�J�! �)�5"%� ��� .  

- T1 ≠ T2  ����� Q���� +!��� M N!R� Q����. 

O

B
E

S

R

T
T

θ

∆ 1 ∆ 2

1 2

2

1

2

1

2O

R

t
D

θ

θ

1

2t1

1θ

θ 2

A
C

  
 �F_�� �F_�� �F_�� �F_��( 3-2 )  

  �$$Jz4 �$$V����� TU$$� #�$$�"�$$;?.  �:e$$�;$$�\���  ��$$u��W 
�$$'z�; �$$�; I$$)   



  � �� �

� ��J��F_�� () �'W  ( 3-2 )  a�� �):  

- ��!�7�� θ � > ��YW�[ ��!�g���� ASC  ?1 +1:  
θ = θ1 + θ2                                                                        (3.2)   

-  Q�� N&GN!R� Q&5�� t1:  

(3.3)                                                   
2

θ
tan.RtACAB

1

11 ===     

-  Q�� N&G Q&5�������  t2:  

 (3.4)                                         
2

θ
tan.RtCDDE

2

22 ===                                        

    � k&G f&�S#%����   t1 + t2 :  

 (3.5)             
2

θ
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��� ��� *���� +������ ,
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 *����.  

��$$5��� Q�$$9 ($$) ��:$$"4M� �$$�;  Aو  Cو D  ،  ($$) j$$5
"�� h�$$G E�$$� ����$$�
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��� ���  *���� +������ ,
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IĈA    i

1

1

==  



  � 
�� �

   ��5��� ���  ���4 ��41 ��	; J    Q&$5�� ()  +����$��  ��$��� 3 �K��$�� 
�O 
CJ  �)&���� .�'W �F_�� () (3-4)  3��!�7�� ?1 �Jz4 DCJ  ��%�� +!���!   

                                                           α
R2

CJ
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�$$$��
��� �$$$V���v -$$$�" �̀8�$$$�($$$� 
  �����        E�$5	�� > �J!�_$�� ������ �������� 
���
��� �V��� (3.1)    R n$�O ?

       �$�; P&Y! I) ������ 
���
���; �:��d ��%���� �:����[    ����$��� hW�&$	�� .
z̀�$$$$�K     c$$$$�� #$$$$%&5�� +�$$$$�' �	�$$$$4 ?&$$$$F� ?1 ($$$$Fs #	�    +����$$$$�� ,
�$$$$���

 �$$�!�g ?&$$F� ?1 ($$Fs! 3 #�!��$$") =��$$�"��X��$$��  ($$) ¡$$�1 N!R� Q&$$5��
  ��!�gX����      =F��� !1 ����� Q&5��  ?1 (Fs!  �!��") �4&F�#   3 ($Fs!  ?1

� IG�5� ��54 I5�M#")�5"% ∆1  !∆2       ,
�$�� ��:$��; ��$� H��   > =��$�"��
    �; �[¢� X���� > !1 X�G#%&5�� ��"_�� Q����� ����� .  �F_���'W  (3-6) 

 
���
��� TU� �	�"D�� 
M�p� #�� ?1 
M�p� I��< �� ��J 3:  

2

θ
tanR,

2

θ
tanR

2

2

1

1  

 n�U�! ?mK:  
ِAD = AC + CD = t1 + t2                                                                                        



  � 
�� �

   
�$$��
��� TU$$� ��$$%�%R� �$$V����� #�$$�� *$$��"� 3M�$$p� �_$$'��)�z�$$�� 
 
����"��:  

• @!R� ���p�@!R� ���p�@!R� ���p�@!R� ���p�        

��!�7�� �4�� �OA θ1> θ2   () �F_���'W (3-7)  ����� ?&F�:  
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1

1

1
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2

∆

∆

θ

θ
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t1 t1
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T

1

θ

  
 �F_�� �F_�� �F_�� �F_��( 3-7 )        

                                                         
θsin

θsin
)tt(  AS

2

21 +=  

= θ1 – θ2                                                                       (3.20)    θ            
 �?mK k�"��;!:  

   T1 = AS – AB = AS – t1                                                                  
    (3.21)            

T2 = DS + DE =  DS + t2                                                                                              
 �;�"� (Fs k�"��;!:  

                     
2

θ
tanR-

θsin

θsin
)

2

θ
tanR

2

θ
tanR(T

1

1

22

2

1

11 +=  

                    
2

θ
tanR

θsin

θsin
)

2

θ
tanR

2

θ
tanR(T

2

2

12

2

1

12 ++=  

   #"���"�� #"������ #"'z��� C��D"%�;:  



  � 
�� �

2

22

θsin

θcos-1

2

θ
    tan; =   

1

11

θsin

θcos-1

2

θ
tan =        


�&$$�^� =$$	4 f�$$���;  > EPW�&$$���$$���� (3.1.1)  3W�$$�"�M� #$$�; U$$[R� �$$�;! 
 �'W �'z��� (3.20)  3�!       #"$'z��� ]�"�"%� > I�"�� w&�%R� =	; ��&�"� (3.10) 

! (3.11)  3 a���) ��:  

              ( ) ( )θcos-1Rθcos-θcosRθsinT 22211 +=        

                ( ) ( )θcos-1Rθcos-θcosRθsinT 11122 +=        
        �V��� ���% #; ?��;�� #"�P���� #��� ?.; �Jz4 3a	F� ��:�p  �K��)

 \5K �V��� ��;W13 ��; n�O!1�'W �'z��� U[(3.20)   .W��"�M� #�;  
	�$$4 ����$$� ?&$$F� �̀$$�����#$$%&5�� +�$$�'  R1 ! R2 �$$�YW�^� �$$�!�7��! θ   k�$$"��;!
) I;�W ���� �K��) a	F� Q��5�� ( ��� n�O 89!1 
���D��.  

• ��4���� ���p���4���� ���p���4���� ���p���4���� ���p�        

A
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O
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∆
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 �F_��  �F_��  �F_��  �F_�� ( 3- 8 )        

��!�7�� �4�� �OA θ2 > θ1   3 () �F_���'W ( 3-8 )  ����� ?&F�:        



  � 
�	 �

θ  =  θ2 – θ1                                                                   (2.22)   
� n�U�! �A ?:  

   T1 =  AS + AB  = AS+ t1                                                                                        

          (2.23)   
T2 =  DS – DE  =  DS - t2                                                         

        

• ������� ���p�������� ���p�������� ���p�������� ���p� 

 �!�7�� �$4�� �OA ?�$" θ1 = θ2    3  > �$��  �F_$��  �$'W(3-9)  $�� �$4�� � 
�M")�5"%� "�g�&") ?#  k&G �?mK  �� #%�� T1 ! T2    a��� M 3 ! A ��!�g ? �$�:�G�5�   

= 0 θ  3!  ?&$$F� n�U$$;$$"�!�7��� ?θ1 ! θ2 "�!��$$")# ?�$$� �$$�:)    Q�$$��� I$$u!
��"_��3  (���5�� a	�4 ���' �4�� ��:)! R1 ! R2.   
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∆
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 �F_�� �F_�� �F_�� �F_��( 3-9 )        

   � ($$Fs �$$��p� TU$$� �$$�) >M  �$$���� ($$) EP�	"$$% S  � #��$$� #$$;M #")�5"$$%         
� ,
��� �U� ��%�%R� �V����� P�b 3 n�O! a�� ���:  

�    #%&5�� Q�� ��54 () C  3 ̀���5"�) £_�4 FG   � �̀�g�&)z #")�5"$%   ?&$F�K
 �����:  



  � 
�� �

  S = BF + GE                                                                            
 MA1?:  

                                                     
)θCos -1(RGE

)θCos -1(RBF

12

11

=

=
   

���' > �&�4 S �i�K A?:   

                                     )θCos -(1R)θCos -1(RS 1211 +=  
� �'z��� *���"; k�"�� a��:��� �F_�� ��� ��:  

 (2.24)                              12121 θCos )R(R -)R(RS ++=        
 �� r�)!A ?:  

(2.25)                                            
( )

21

21

1 RR

S-RR
θcos 

+

+
=        

M  £Y�$$	�� 8l"$$�� �$$�J 3 ��$$���"�� �$$������� 
�$$��
��� C��D"$$%�; L�$$�� 
> ��M�   w&$9�) 89 ��    r$�K 3        P&$�' I$u! *$��"�!    E8�$�     ?1 �$�� 3 ����$�� �$��

8l"$$��   	�c$$�� #$$%&5�� #$$; T�$$ M� > £Y�$$	��#  M =��$$�"�� +����$$�� ,
�$$��� 
L��$$$�  ��$$$u���� �$$$��� EP�$$$�7; ?R n$$$�O 3 1  #$$$%&5�� �$$$J� ̀z�$$$) *$$$��"�4�$$$u�� �̀ 
 �$���)�̀  +U$$�� ��$$u���� �$$������ Q&$$5�� r$$���"��$$��  3�̀$$���� ($$F� 8$$9 �U$$�!.  
n�U�       �$:	�	¤! ������ ���� () �;M EU;���� E&5�� 8�.� () -�	D"��!   g!�$  �$�� 
TU$$$� 
�$$$	����� . �&�$$$5�� EW!�e$$$�� �$$$�� �MA ��$$$���"�� 
�$$$��
��� C�D"�$$$� M    
�h����   ����<�  z̀�)3          ������$V� !1 �$����G j��&� g!�i"� !13    �F_$�� > �$�� 
�$$$'W (3-10)  N�$$$J >!  
�$$$��
��� ($$$) f&$$$��� �U$$$� @A �&$$$i���    L�$$$�� �;C��D"$$$% 

    E8�� W��'1 X��41 3!  L���  Iu&;�    #�����$�� #$%&5�� #; �)�5"% 3A? �$
¥  
 �$$�4�F��! �$$�K��9&���� �!�_$$�� n�U$$; 3�$$��($$� �)�5"$$%M� TU$$� N&$$G �$$5� M ?1  

1.5 V 3 ��J V �"�� ���������  W�$5�! 
�$;���� ��    $$;(m /sec)    .   ���$���; �$)1  @A
   �$$����p� nF�$$�� �&$$�[ �$$V!$$K    ��$$���") �$$����P 
�$$��
�) ����$$"; L��$$� z   

 Iu! ��; �MA� �)�5"% ��:��;(� ��&G �5� M  3 V.  
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R 3
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 �F_�� �F_�� �F_�� �F_��(3-10)        

        

  3.2.1 �����"�� �������� 
���
��� ���   �����"�� �������� 
���
��� ���   �����"�� �������� 
���
��� ���   �����"�� �������� 
���
��� ���          

   � +����$�� ,
��� ��54 ���i"�  =��$�"� 3   
PW! H$�� 
�$'z��� C�D"�$� 
�� > E�$5	 (2.4)  3  #�$$�
��� ($$) ��$54 Q�$$9 �$$V��� w��$J �$$�; n$$�O!  #�����$$��

          =��$�"�� +����$�� ,
�$��� #�F_$�� #������ 3   �$�J ��$      ,
�$�� ��$54
  �) �F_; N!R� \����� +�������	  ��$54 ���$  (� �  $��   \��$��� +����$�� ,
�

 �����.  

  

  



  � 


 �

  3.3    ��&�| ����)��&�| ����)��&�| ����)��&�| ����)            

��.�)��.�)��.�)��.�)    ( 1 )            
� ����$$$$�M?�")�5"$$$$% ∆1!  ∆2  E!WU$$$$�� > ?�$$$$"�G�5") S  3 �$$$$�:�G�5� �$$$$�!�g!                 

θ = 145.3572gr .  +���P (
�¦ ��:�V! P���*��)  #$%&' ($) -�c)    #��$��P
N!R� $$s@!R� �)�5"$$%M� =  ∆1 3! �$$�' -�$$4T R1 = 300 m  ��$$���!$$s =

 �)�5"%M���4���� ∆2 3  �$�' -�4!T   R2 = 200 m  3      �$�� Ng�$��� P&$���� N&$G!
@!R� �)�5"%M� ∆1 3   Q�$� �$�54 ($) �̀W��"��  #$%&5�� C  154.33 m  mC   =   

�'W �F_�� > ��� ( 3-11 )  
 w&���� w&���� w&���� w&����::::        

.1 #��
��� H�!�g w��J  θ1  !θ2 . 

.2 #%���� () �� N&G w��J SE 3 3 3 3  SB .  

.3  w��JN&G������ Q&5�� N!R� + L1  3!n�U������� Q&5�� N&G + ����� L2   
 .4 N&G w��JK����#"�YW�^� "#  N!R� Q&5�� �! ����� Q&5�.   
 �p� �p� �p� �p�::::        

�F_�� ()�'W  ( 3-11 )  �;�"� (Fs:  

        (2.26)                           1
1

θsin.ACmC⇒
θsin

mC
AC ==        

 (F�!:  

                                                     
2

θ
tan.RtAC

1

11 ==        

�'z���; �&�4�'W  (2.25) �i�K A ?:   

        
2

θ
cos

2

θ
sin.

2/θcos

2/θsin
R2θsin

2

θ
tan.Rmc

11

1

1

11

1

1 ==  

             
600

33.154

R2

mc

2

θ
sin⇒

2

θ
sin.R2mc

1

1212

1 ===        



  � 

� �

�� r�)!:  

gr723.675072.0arcsin2θ⇒5072.0
2

θ
sin 1

1
===        

O
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R

∆1
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2

1

2

1

2O

R
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θ =145.3572 gr
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S

        
 �F_� �F_� �F_� �F_�( 3-11 )        

  �'z��� ()�'W   (3.2)���' x"�"�4 ��!�7��  θ2   +1?1:  
     θ = θ1 + θ2                 θ2 = θ - θ1   = 145.3572 - 67.723  =  77.635 gr  

Q���� N&G w��J BS   
BS = AB + AS                                                                 (2.27)   

 MA1 ?:  
AB = t1 = R1tanθ1/2 = 300 tan 33.866 =176.57 m                         

!1 ?:  
DE = t2 = R2tanθ2/2 = 200 tan 38.818  = 139.71 m                       

§AD = AC + CD = t1 + t2 = 308.79 + 71.15 = 316.28  m                

⇒



  � 

� �

w��J (Fs n�U�! AS  () Nz[����� > w&�<� �'z� j���� ASD :   

( )
m94.417

643.54sin

28.316

643.54sin

tt

θ-200sin

AD
AS

21
==

+
==§   

���' �&�4 AS !  AB �'z���;�'W (2.27)   �i�K A?:   
BS = 417.94 + 176.57 = 594.51 m                                             

N!R� Q&5�� N&G w��J:   
       = R1.θ1(radians) = (300×67.723) / 63.662 = 319.14 m L1  

 N&G w��J�YW�^� �K���� �EX  ،N!R� Q&5�� :  

                                 ( ) m1.48 R -RtEX 1
2
1

2
1 =+= 

•  ��Jz) ��Jz) ��Jz) ��Jz) : : : :����� Q&5�� �V��� *��w&�%R� =	�;  

��.�)��.�)��.�)��.�)    ( 2 )            
  � ����$$$$�M?�")�5"$$$$% ∆1 ! ∆2 �F_$$$$�� ?�$$$$"�g�&") (3-9) 3 ��:$$$$��; �K��$$$$��      

m S = 2503     ,
�$¦ ��:�$V! P��$�   -$�c) =��$�") +�$��P    #��$��P #$%&' ($)  
N!R� Q&5�� ��' -�4 R1 = 200 m ����� Q&5�� ��' -�4! R2 = 300 m  .        

 w&���� w&���� w&���� w&����::::        

.1  ������� ��� ,
��� �U� ��%�%R� �V����� ��� .  

.2 TW��5) �;�� ����"; #������� #%&5�� ��� ��54 Q�9 δ = 20 m .  
 �p� �p� �p� �p�::::        

 �$$4�� �$$�� M "�g�&$$") ¨)�5"$$%#  3 �?m$$K&$$Gk�� #$$%�� T1 ! T2   a��$$� M
 �$$�:�G�5� �$$�!�g! θ = 0  ! 3A ?#"�!�7$$�� θ1 ! θ2   I$$u! ?�$$� �$$�:) ?�"�!��$$") 

(���5�� a	�4 ���' �4�� ��:)! ��"_�� Q���� R1!  R2.  TU� ��) >  ���p�
� ($$FsM �$$���� ($$) EP�	"$$% S  3 � #��$$� #$$;M #")�5"$$% 3 n$$�O!P�$$b�  �$$V�����
� ��%�%R� ,
��� �U 3 a�� ���:  

#%&5�� Q�� ��54 () D �̀��5"�) £_�4 FJ � �̀�g�&)z#")�5"%  ����� ?&F�K:  
  S = BF + EG                                                                  



  � 

� �

 MA1?:   

                                                         
)θcos -1(REG

)θcos -1(RBF

12

11

=

=
  

���' > �&�4 S  �i�K:  

                                        
12121

1211

θcos )R(R -)R(RS

)θcos -(1R)θcos -1(RS

++=

+=
  

 �� r�)!:  

                                                 
21

21

1 RR

S -)R(R
θcos

+

+
=  

��!�7�� ���' w��Z �'z��� TU� ��� L��� θ1:   

                                    
500

250-)300200(
θcos 1

+
=  

 r�)!:  
         θ1 = θ2 = 29.5167 gr                                                                   

��!�7�� w��J ��; θ1  ����"�� ��%�%R� �V����� *��:  
� N&G N!R� Q���� t1:   

             m 47.21=tg14.7584×200=
2

θ
tgR=t

1

11  

� N&G � Q�������� t2:   

                   m 70.82=tg14.7584×300=
2

θ
tgR=t

2

22  

 ��5��� ���i"� B  3     �$�� �:����� (Fs =���"�� +������ ,
��� ����; 
 E�$$d��) \$$�D�� 3 ���$$���; n$$�O! @A�$$�) �$$) �$$�54 M � ($$)M�)�5"$$% ∆1    E��$$S 

   �K��$$�� L��$$� �$$�J �$$������ �$$�� BM    �$$�5��� ���$$i"; \$$�D�� ($$) �$$����� B  
!   �$$$�5��� ���$$$  ($$$Fs � ($$$) A 3    �$$$d���� Q�$$$�5��; n$$$�O!$$$��K�� W��$$$5)��              

t1= 47.21m   �$������ �$��  3�   �$�5��� ($) �̀W�$�"�    B    ! >  =$	4� T�$  �M �)�5"$% ∆1  



  � 

� �

 #"�5��� ���i"�! D  ! C   3  h&K ���!P&�� g�:Y 7���� �"� ��5��� A    ����$"��!
;�� T� M�)�5"% ∆1 3 � ��!�� �W��5¦ ������ wW�5� jK! g�:< ��!�7�� θ13 +1  

29.5167gr  .     ��W��5) \��_�� ��%�&; ��5K1 �K��) Q�5� t1   3  ��5��� Q�l�! C  
��5��� Q�l�! D 3    ��W�$' �K��$) Q�$5� t2 = 70.82 m  3 �   �$�5��� ($) �̀W�$�"� D 
! �$$$%!�l�� > =$$$	4�  a�&e$$$�� W&$$$�� T�$$$  Q�$$$l�! 3 �$$$�5��� E   ,
�$$$�� �$$$��� 

��5KR� �K���� Q�5� =���"�� t2 �  ($) �̀W�$�"�  �$�5��� C ;!� � T�$ M �)�5"$%  ∆2 .
 ���$$����� ��$$5��� ���$$  �
$$V ($$) j$$5
"�� A  !  C! D  ! E  . ?&$$F� ?1 *$$b 

    #; EW&��� ��!�7��� � T� M �)�5"$% ∆1 �!M T�$  BE     �$��5�� ��!��$)  θ/2   3 ?1!
 ��5��� I5� B ! C ! E    =$	4 �$�� �M  �K��$��! 3 �)�5"$% BC      ��&$�� N&$G ��!��$)

  N!R� +����$$$�� Q&$$$5�� a$$$���R� �K��$$$��! 3 CE     a$$$���R� ��&$$$�� N&$$$G ��!��$$$)
 ����� +������ Q&5��.  

   =��$$�"�� +����$$�� ,
�$$�� ($$) ��$$54 Q�$$l� 3 ($$Fs�  ($$) �̀$$	�c) TW�$$�"�
#�$$�
�)#���$$; #��$$��P  $$� �5"�$$) �F_$$; ��:$$�) �$$� ��$$54 Q�$$l�! *�$$� 3 (
  �[¢�. ; �        ��.��� ©4 (�u EP�| 89 Q�l�� �5��G ?1 W��"�   TU� Q�9 (F��K

      > �J!�_$�� h�$��� ��Jm; ��5���  E�$5	�� (2.4)         Q�$9 �$V��� w��$J �$�; n$�O!
 �"� H�� �5����� *%��� �F_; ��$5��� TU�� ��W��"[. 

��.�)��.�)��.�)��.�)    ( 3 )            
� ����$$�M?�")�5"$$% ∆1 ! ∆2  E!WU$$�� > ?�$$"�G�5") S . �$$� (
�$$¦ ��:�$$V! P� 
 +�$$$$$��P =��$$$$$�")   #$$$$$%&' ($$$$$) -$$$$$�c) ��$$$$$��P # 3  N!R� Q&$$$$$5�� �$$$$$�' -�$$$$$4              

R1 = 100 m  3����� Q&5�� ��' -�4!     R2 = 150 m 3 !��!�g ��:�G�5�    

= 35.3572gr θ        N!R� Q���� N&G! T1 = 110.76 m .... �F_��    (3.12). . . .         
 w&���� w&���� w&���� w&����::::         

.1 #"�!�7�� () �� w��J θ1 ! θ2.   

.2 ����� Q���� N&G w��J T2.  

.3 #%���� () �� N&G w��J t1 ! t2.   
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� �
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1

1

1
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2

∆

∆

θ

35
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72
θ

S

t1 t1

t211
0.
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m

  
 �F_�� �F_�� �F_�� �F_��(3.12)  

 �p� �p� �p� �p�::::        

 �'z��� ():  

                     ( ) ( )θcos-1Rθcos-θcosRθsinT 22211 +=  

 *"F4 ?1 (Fs:  

                                         
RR

θsinT-θcosRR
θcos

21

112

2 +

+
=  

  
���' (� ��&�"�� ��;! R1 !  R2 !T1 ! θ  ��A ?:  

2 = 50.0744 gr                                                                        θ     
�'W �F_�� ()! (3.12)  ��A ?:  

1 = θ +  θ2  =  35.3572 + 50.0744 = 85.4316 gr                     θ  
  

� ()! ����"�� �'z��:  

                ( ) ( )θcos-1Rθcos-θcosRθsinT 11122 +=  



  � 

� �

����"�� 
M&
"�� ��' ��&�� ��;! : R1  !  R2  !  θ1 ! θ  ��A?:   
T2 = 323.84 m                                                                           

#%���� () �� N&G w��p t1  !  t2   ��A ?:  
t1 = R1Tan θ1/2 = 100 Tan 42.7158 = 79.38 m                          

  

 n�U�!:  
t2 = R2Tan θ2/2 = 150 Tan25.0372 = 62.23 m                           

 w&���� &�! w&���� &�! w&���� &�! w&���� &�!....        
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��� ����� �������
��
��� ����� �������
��
��� ����� �������        

        
 4.1 ��������  ��������  ��������  �������� 
��������
��������
��������
��������            

 
���� ��������� 
�����  �!��"���#����� $��� ��������%�� 
��&�'�
�� ����	(���� )*  
+ �,�% � �-* .���             " /��� 0 123�� ���	(���� 45�6 ���(78 9���8  
����   �:;��+ 

  
���<��� 1���7 =����	�    15������� 1������� >�
��".  � 1������ 45��6 ���,�"  �� @�����* >��A����� $��� 

 �6��!�� B������  0   C5��� ����D��& �A � $��� + ��EF��"  
�7&��G���H  )*  ��(IJK������ . 

   1������ 45��# LA!���� 2MN����� $��� O���	P�A�Q  ���HR" � S��:�+  
�������  
��T��	� 1������ 
  ���������� ����G�� B�����& �����+ 
�����
������� U����������%��- + �����(7D� 9������8 �� 


���'�EK�� )∞( 0 �����+- 
��&�'�
�� �����+ + 123����� ����(7D� 9�����8 ��
�����V�� (R) 
     W'���I $�� X�5�� $&
�	�!���  �������  ������     O���� ��H�Y Z��:& [��� 
���
���

 �(7 ��\��3�� ]���̂ 0
&�EK�� $� 8
<& /�� )∞( 
(�� 
��  �� _���� �56 `�a

������%��  )��&�
� 
��(�� �
����� ������� _����� 
c(  ��(7 O���� W7�����&+ 0 � ����\�� 

     )* ��& e� ]��f�
"7     ��(7 O��� 
�,�    C�'�
��� `�����  ���C5    g��� O�N��&   _�����
   h�!<�� C�'�
�� 0 X�-+
(�� 
�� �� g%�ag)  &�E����� _��� 
.(    B,!�" �,�


������
��� ��������� ����������� ��� i������� ��- 
�����G�� �j������� $����� Sf�
������� i��������
    
����M 
��'��M 
���G��    
�,R���+ 4��k��     
,���!���  �l��D� Q U<���m� 0   �j���� )* 

  ��� ��- 
�G��    C@��8 n�G��4�k��     C�'�
��� _���� i�j >A� .��M+ l���� 
 $� 
&�3�� �56   ���� 0     15������ 1���� 2MN" 
�+���Q�  
����� 0   Q ��,�  o�7� �:;��� 
(4-1)  U<& C5�� ����� 
���.  
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���� �:;� �:;� �:;� �:;�( 4-1 )        

        



  � ��� �

 12V� p���8 
��"� $� ������ �����
��
��� 0 $� �Hq8 :  

•  
�'�"�A:��.  

• ,��� s���� ��:!�.  

•  L�:�� =Y�:�� �(���  . 

4.2     
�'�"�A:A� S:����&
��+ S%
�#� O&�����  
�'�"�A:A� S:����&
��+ S%
�#� O&�����  
�'�"�A:A� S:����&
��+ S%
�#� O&�����  
�'�"�A:A� S:����&
��+ S%
�#� O&�����         
    
���'�"�A:�� t����& $��� �u��Y8�������  
����
��� ������� �� 0 g���D X���-v���w  

l��U" H�  #+8  U�,  �,          Z��:& g�j��� $�� 
�(�� ��� Q g��̂8 S�6+ 0 
�%
�6   �����
 �(7 O��  �
� ��\�� ρ 
��`���� i�(� 
(���� 456  S C5��  
&�
� $� �HA�	&


�'�"�A:�� O ]����M  ./�� O 8
<� Ĉ8 `��7D� `��7 * Z:  
(4.1)                                                         S = C (Const).ρ    

   �(7 O��+ ��\��     1�,�!� 1���� W7���&  0 ]����<���      
�(�� 
�&�EK�� $��   9��(��� 

�'�"�A:�� O  0 
,�7 )* ��& e�+
���M = R ρ  .��8 1l���  
����V��  ��w [���  ��H

�'�"�A:�� Y SH 
���� 1l���H 
,̂ . $:x�H�����%�$�  o7� �:;��   (4-2) .  

  �H�A�� 
<��� t���� M   y���"
��!� V    S�Y8+ o���!� ��!� >A� �uz   456
 _������ ���#�I@ 
���� 15������� 1������ 2MN��" )* 
��<���� 0�H���,�7 Z���:"+  ���� 
����

 _���� $� 
(��:  

(4.2)                                                                             
ρ

M
F

2v
=                                                

/�� *Z:   

v         {  C+�!"+ O(���� Q 
<���� 
��%80% ���� 
��!�� $�,�,
� V 
�| }�,!�� .   

ρ {  �(7 O�� ��\��
(���� XA" 
�� .    

��7K��� $���(4.2)   0 ���� ]�@���j ~��%���" 15������� 1������ �ZN��� ����K�
������� 
��A��  M     

+ ���� Q �H���%O(�� v  0 �(7 O�� 
,�7 �� ]�!:� ~%���"+ ��\�� ρ .  



  � ��� �


7K��� Q ��̂�� (4.2) 
A�:�� 
,�7 M= P/g  
��Y *Z:   

 (4.3)                                                                          
ρ

.
g

P
F

2
v

=                                               

/�� *Z:   

P     P - 
����� ZF+ .  
     g - 
�G�D� 
��-�m� p��!" m / Sec2  

F

B

C

D

S

A

P

a

hβ

ν

β

  
 �:;�� �:;�� �:;�� �:;��(4-2) ....        

�:;�� $� X�5�+ (4-2)$:x  
���� :  
(4.4)                                                                     = S I h = S.tan υ                  
 /��*Z:  

υ     {  � 
��&+�F  S��(3" [���� 
���A���� v��&�(A� S������� 9���(�. +8 s���(�� ������ 



  � ��� �

A� c�
��� _��,.  

          S{  
������ 
Y�!��]���<��� _���� 
&�
� $�  0��- 
(���� e�+ 
 ��\��  ρ.  
I          {   s�(�� ����c�
��� _��,A� ( I = 0.001- 0.002 )� �"���  1@�&F $�

 v&�(A� 
������ 
�Y��� 
�A�" . 
���� $:x X�5�+:  

 (4.5)                                                                 
P

F
aβ tgah ==                                                      

/�� *Z :   

a          {  C��� U� 
Y�!��U��+
��0 ����� �
�"+ .   

7K��� ��̂�� (4.3) 
7K��� Q (4.5)0  >A� ����Y:  

 (4.6)                                                                                
g.ρ

av
h

2

=                                                                      

U�7K��� 1�+�!� (3.4) +(3.6) 
� *Z:   

(4.7)                                                                              
g.ρ

av
SI

2

=                                                               

 g��+:  

(4.8)                                                                              
SIg

av
ρ

2

=                                                             

 $:�+:  

 (4.9)                                                             ConstC
Ig

av 2

==                                                   


7K��� Q ��̂�� (4.8) 
��Y *Z:   

(4.10)                                                                                   
S

C
ρ =                                                              

 g��+:  
 (4.11)                                                        (Const)CS.ρ ==                                              



  � ��� �

   �������K�Z8
�����7K���  (4.11)   
�����7K��� ������	� S�����6 (4.1) .   
�������& �������Z8 
w 
���'�"�A:��  
�������+ 
���%
�#� U"l����� v��� Q 
����+ Z� . $��� ]�u��&8 ����K�+ 


7K��� (4.10) 8     ��(7 O�� Z  ���\�    _�����  s������� ρ 0    W7����& @��&@F��   i��j
  _������ �5��60  
��(�� 
����+ g��%�a  ��&�'�
�� `������ ���� 
 g���,�7 B<���"   )* 
&+�!���

 1�'�
�� �(7 O��  R0  X�5�+ _��,A� SA:�� i�(�� B<�& s������ ]�&+�!� L  

���� 
���� 456 Q0  
7K��� ~�:" (4.1)  s���� �:;���:  

(4.12)                                            L = C                                   .R        

   l������ i
<�!��� C 
��7K��� Q (4.12)  0l��������A2    ���� F������� 45��6 o�!����� 
   
�����P�� ��������� ~���A�8 Q 1
���,���� F��������. 5���6 o����,�" 
�����+  B<����" 
���7K��� 4 

 s�����:  
(4.13)                                                                              R.S = A

2         
 /��* Z:  

- A 
�'�"�A:�� h�%+.   
   }+���& ]1@�� _���� i�js������  L   0$� 20 m  e��+ 100 m 0 + v�A��& 

 v&�(�� O��� 0�� �(7 O�� 
,�7+C�'�
�� _�� R.   
 4.2.1
�'�"�A:A� 
�(�%��� ��@���� 
�'�"�A:A� 
�(�%��� ��@���� 
�'�"�A:A� 
�(�%��� ��@���� 
�'�"�A:A� 
�(�%��� ��@����         

  
(���� ��&
� $:�� P            
���Y8 
Y�!�� >�A�+ c�
���� _����� >A� ��" S  ]����<���   $��
g���&�
� O  0   ���(7 O���� /���� ����\��   ���6 
��(���� 45��6 
����  R  0
��&+�l��+ τ S��6 

                ��,�� ��� 
�(���� X�A" 
��� _���,A� `��,�� �H���& [�� 
&+�l�� �	��� `   _����� 
g���&�
� 
���� $��:�+  O . O���� �H�����& [���� 
��&+�l�� C+�!��" S��6+  ���(7 ����\�� ���� 


(���� 
�� `�,�� >A� @�,��� P .   
   �� ]��'l� ]���̂3" �Z* S 4��
�� ds  0 23" gA���& S'l� 
&l���� 
&+�l�� Q   τ  4��
�� 

 dτ o7� �:;�� ~!�+ (4-3) 
���� $:x:   
(4.14)                                                                             ds = R dτ                                      


,�7 i�I@�� R 
7K��� $� (4.13) 
� *Z:   



  � ��	 �

                                                                        τd
S

A
sd

2

=              

 g��+:   

                                                                                         ds
A

S
τd 2=  

 UY�(�� ���:�  :  

                                                            ds
A

S
2

 ∫
s

0

 =τd∫
τ

0

   

 
� ���:���  ���* 
��+:  

                                                                   02

2

τ
A2

S
τ +=                                                                   

 /��* Z                                                             :  
- τ0            ���:��� .��M 0 �+�;�� $� 4
&
� $:x
�'�
���� C8  :��8 $�    S 

= 0   ��&
�� Z��:& τ = 0  0  �Z��Y s������+ τ0 = 0  .  
�7K��� 5�IN�Y 
���!���  �:;���  
 s���� S'�H���:  

(4.15)                                                                            
2

2

A2

S
τ =     

   
������'�"�A:�� .�������M 
�����,�7 i������I@�� A
2  
�����7K��� $������ (4.13)  0Y 
�����7K��� B<�������      

(4.15)  s�����:  

(4.16)                                                                              
R2

S
τ =                                                  

    �:;��� t���� (4-3)  ]���!���         �6�
�<� 1
������ ���M�
��* 
�A� )*  O  
�(�� 
�������+ 0 
����'�"�A:�� 9����(��� X 
���(���� 
����� 
����'�"�A:A� `����� O  �������+Y 

 g�A� C@�,� 0g���+ � ~!�  �:;�.  
S'lm� ��̂3��� ���%�� ds  $&���� >A��
���MU�
�  *Z:   

  (4.17)                                                                       
τsin dsdy

τ cosdsdx

=

=             

������ �;�� cos τ  0  ��;�� ~!�+ ��A&�">A� ��\ Z���� y��:   



  � ��
 �

(0)  =   cos (0)  = 1                               ƒ (x) = cos τ                  ƒ  

(0)  =  - sin (0)  = 0                              �ƒ (x) = - sin τ                �ƒ  
(0) = - cos (0)  = -1                             ��ƒ (x) = - cos τ               ��ƒ  
(0)  =    sin (0)  = 0                             ���ƒ (x) = sin τ                 ���ƒ   

X

Y

S

ρ

O

τ

d

p

d

d

x

y

ττ

p

O

  
 �:;�� �:;�� �:;�� �:;��(4-3)        

������ �;�� �V���+ sin τ:         
(0)    =   sin (0)  = 0                             ƒ (x) = sin τ                    ƒ  

(0)    =   cos (0)  = 1                            �ƒ (x) =  cos τ                 �ƒ  
(0 )   = - sin (0)  = 0                            ��ƒ (x) = - sin τ                ��ƒ  
(0)  =  - cos (0)  = -1                          ���ƒ (x) = - cos τ              ���ƒ   

  �� 
,�7 @�f�U����  cosτ  + sinτ  0 
����� 
7K��� Q ��̂��  f(x)  ���;� 
��A&�"0 + X�- SA& �,�:  

( ) ( ) ( ) ( ) ( ) ( )
n!

-
...

!2

-

1!
)()(

n

00

n2

0

o

xxxfxxxfx-xxf
xfxf

000
++

′′
+

′
+=  

Z�Y Z���� y�� ~!�+  xo = 0  0+ s����� 
��H!� ��(�!�
���� :  



  � ��� �

                                                     ....
6!

τ
 -

4!

τ

2!

τ
 -1τ cos

642

++=  

(4.18) 

                                                       ....
!7

τ
-

!5

τ

!3

τ
-ττsin 

753

++=                                                               

 
7K��� Q ��̂��(4.17)  U������ 
,�7 cos τ  + sin τ  0 
��Y:  

                                                        ds....)
6!

τ
 -

4!

τ

2!

τ
 -1(dx

642

++=  

 (4.19)    

                                              ds....)
!7

τ
-

!5

τ

!3

τ
-τ(dy

753

++=   


,�7 �&���� τ 
7K��� Q (4.19) 
7K��� $� �H�,��� (4.15)  0>A� ��\   

                                        ds...] -)
2A

S
(

4!

1
)

A2

S
(

2!

1
 -1[dx 4

2

2

2
2

2

+= 

 (4.20)   

                                   ds...]-)
2A

S
(
!5

1
)

A2

S
(
!3

1
-

A2

S
[dy 5

2

2

3
2

2

2

2

+=  

U� ���:�  O+ S  0  h�!<�� 
���!�� ���A,��� $� 
A!A% C��+456   ���7K��� 
Y� 
������ 
�'�H��� ��@���� >A� ���:  

                                       ...]-)
A

S
(

3456

1
)

A

S
(

40

1
 -

A

S
[AX 95 +=  

(4.21)                                                                
                                                   ...])

A

S
(

336

1
-)

A

S
(

6

1
[AY 73 +=  

   ������� _����� >��A� ����" 
��(�� C8 ���M�
���* J�!��� Z����7K��� Z���"�6 B,!��" 
 c�
������ 0 X����-+  
���Y��� 
�������
�����   
��������� �H�Y�!����  �HA����	" [����� 8
���<� $���� 

����M�
�� O .    � J�A(�� Z�� �-* ��8 `�a 
(�� ���M�
�* J�!)S7K"(  _���
  C�'�
���� `������ ���� c�
����� �������0  Y S��	:��i������� i�
<���%  S Q U���7K��� 

(4.2)  0��� i�(SA:��  LA�
�'�"�A: .  



  � ��� �

4.2.2         ���� 
����� 
���� ���� 
����� 
���� ���� 
����� 
���� ���� 
����� 
�������� U�����% U�����% U�����% U�����%        
   ��&
�� $:���� Z�������% ∆1 + ∆2  Q Z����j���� 1+�5���  S 0 + >��A� Z�"
!�� 

  
���<(�� ���,H�j��" 
��&+�F .!���7 
��7+ θ  �����<� �:;��� .U"���6 ������ �� U�������%
� ]�+8 �:	��$��� ����I   O��� g��Y Z��:& h�!� C�'�@   ��(���]�2<�R ≥ 1000 

m       $���� ��G+ )* c���\ � ���D X�- �  s�����Q     
����� 45�6 ��V� � U���  
�����%
C�'�
����� `�������+0 ZDZ����:& $���� 15�������� 1�������   `����,A� 2MN���" ����#Q +8 
�������� Q 

 J������� . �Z8 ���,�� 
��A&�j ��������� ������I  ��� $��� 12<��� ����(78 9�����8 ��-+N g�
    v���&�(�� ��!���� S���A:�� i����(�� $���� iK���7��   �����I8 1l����� 45���6+ .� ����, c�����w � 

 ������A,�  ������* )* o,������ `
����H��  +����" /����� 0 
���A&�j 
���!�����N!����� i )* 

  $����� 
�!��k+ o�,���"  h�!��� C���'�@     A���	�� Q 
�+�;���� ����(�� v��Y+Un���V��   

/����V��+.  �+�;���� .����� �-* ����8  X�5��� B,!��" � 
�����:��+ 
���Y����<(�� 0 
̂���KY
   o�,���" )*  ����A�� $���     
(�!��� 
��&�'�@ ��������� 0    v���A��" ���6��(78 9�����8 i����j8

 v&�(�� O���0>A�   Z8��� @+
�� $� ��" Q 1���5 i+
m�o7� (2-1)     $�+
���" � ��Z������% ∆1+  ∆2   
<!���� $&������ $&
�'�"�A:�� )*C�'�
�� `���   
 (�� �Z*
  � `�a �����%
   6 
�'�"�A:�� �� S �� (
 �� 5# 9�(��  0 
�'�"�A:�� �56

  Z�:& Z8 $:x+�$&
�'�"�A:A5A�� &Q�j ZK�& $  U������%��� C�'�
�� `���� 
   Z8 S��6 
������� 
������ Z8 ��* 0 Z���	A�  Z����j     Z��������� ���,E8+ i���(�� ���	� ���,#

   
&+�lA� SAI�
�� O��,A� 
<!���� θ  �R�8  �:;��o7� (4-4)   �,# Z�:�% s�����+
h�%��� �	� A .  

          o�,����" 
����� `
����H�� �HY@�����& [����� 
������� �������� $���� @
���� y�����6
�������  
��
��� ����� .Q /�<�%K� S7�<�� y��&+ �H�� oH��  c����%.  

   �"������� S���%
�#� �:;����� O�N����& 0 ~!����+�:;�����o���7�  (4-4)  0 ���������� $���� 
 
������ 
�%�%D�:  

• %�,���Z SB1 = SE1 $&
�'�"�A:A�  )T1 = T2.(   
• %�,���Z S1B1 = S1E1 U�(���� 
�� C�'�
�� `��A� B10  E1 ZN� ]�,A�        

( t1 =  t2 ).  



  � ��� �

S

B

E

S

E

B

E

B

1

1

1

1
1

1

1

1

1

1

1

1
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2
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X

X

X

X

O

B

B

B

B

B
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E

E

E

S
S

T

T

t
t

L

L

L
3

4
4

3

5
5

6

6

YB

E
Y

E

C
C

C

C

1

θθ

θ θ
τ

τ
τ

τ

∆
∆

1

2

D

K

R
C

  
 �:;�� �:;�� �:;�� �:;��( 4-4 )  

• :�� $� �� i�jA
�'�"�$&$&�������  L.       
• 1�'�
�� `�7 i�j L1.     
• θ1 U%�,�� �j��" 
&+�F1�'�
A�  t1 + t2 1+�5�� 
�� S1       .  



  � ��� �

           
���<(�� >�A� �6
�!�k+ 
��%�%D� �������� o�7 J�!�      
�(�� 
�!�k C8 0 
 )+D� `�,��� B1  0��+ 
���V�� `�,��� 
(  E10  �� $&
�'�"�A:A� ��U�����% ∆1  

+ ∆2     )+D� `�,��� 
(�� 
�!k+ B1  0   ̀ ��,��� 
�(��+  
����V�� E1   $&
��'�"�A:A�
   �&�'�
�� `���� ��
  0   1+�5��� 
�!�k+ S1  0 
�(��    U�%�,�� �j���" S1B1  + S1E1  

  U�%�,�� 
�!�k+ S1B1  + S1E1 `����A�  �&�'�
��
 �(���� 
���� U� B1  + E1 .  >��A�
    ���A,��� $� 
A!A!� ¡����� `
�H��       $��+ 0 ]�+8 �������� 45�6 o�7 U���� 
���!��

��" �U`�3�� �����   S6+ ��!�� 
�!��� 
&�+�u��:  

-1  
�'�"�A:�� h�%+ J�!�A:   
        
��7K��� v���<(�� 
���'�"�A:�� h���%+ J�!��� o���& (4.9) � +8�  �
���* ¡�
P���% 

������� U�7K���U     :  
(4.22)                                              v33.23 -v018.0543.1A 3=                                    

n�G�� ��� v&�(A� Z�:& ��
�� .  
 +8:  

 (4.23)                                                                    3v207.0A =                                                             
 ��
��� Z�:&� v&�(A�n�G�� �� .  
/�� *Z:   

v {{{{ �� 1�
�� O(���� Q 
��!�� 0 U����!�� U�7K��� Q km / hr.   
��������� Q 
��������I � 0     
������7K��� v�������<(�� 
�������'�"�A:�� h�������%+ J�!������� $������:x          
(4.13) 
(���� 
�� B1 0   � ��(7 O��� ��&
� Z�:& /���  ���\ R = Rc .   i��j+

  _������   g��&�
� $�� ]����<�� O  0      C�'�
��� `����� ��� g�%�a 
�(�� e��+    S = L 
 g��+:  

Rc.L = A
2
                                                                          (4.24)                                                            

          
��'�"�A:�� i�j J�!� 
����� 
���� Q 
7K��� 456 ¡
P�!"0   X��-+ 
��� 
g(����%+ 
���Y��� A   C�'�
����� `������� ����(7 O�����+ Rc  0 i����(�� �&+
���" ]1@����� o����&+ 

�� _��,A� J�!��J�78 )* c�
� 10 m  1@�&l���.  



  � ��� �

-2    ̀ ��,��� 
�&+�F J�!� τc  0     
�(���� 
��� `��,�� �H����& [��� B1  ��� �� 
�����% 
∆1  0
7K��� v�<(�� X�-+ (4.16) 
(���� 
�� B1:   

(4.25)                                                                             
Rc2

L
cτ =                                                             

 $:x�
�� n�V�� `�,�� �H���& [�� 
&+�l�� J�!� 
7K��� 456 ¡�
P�% 

(���� E1 � ���
����% ∆2.   

-3    ̀ ���,��� 
�(�� ���M�
��* J�!���  i+D� 
��'�"�A:� B1  0  C�'�
��� `������ ���   
Xb1 ,Yb1  .   ��@����� $�� X��-+ (��%��� U� 
��'�"�A:A� U� (4.21)  U���<(��   
���


(���� B1 . ��&
� Z�:& ������� ~<!�+)  Xb1= Xe1 (   + ) Yb1= Ye1 (   
�,�����
 h�Y.  

-4 
&l���� 
&+�l�� J�!� θ1  C�'�
�� `��A�:   
  ��Z8 ����<�� 
��(����  O   Z8+ 1�'�
���� l����� S��6 OB2   >��A� C@���,� ∆1 0+8Z 
OE2 >A� C@�,� ∆2 �:�% 
������� ��&
� Z :  

                                cc τEÔE,τBÔB;θEÔB 121222 ===                            

&l���� 
&+�l��+ θ1 C�'�
�� `��A� 1@
��  B1E1   C+�!":  

 (4.26)                                                                   cτ2 -θ1θ =                                               

C�'�
�� `��A� U%�,�� i�j Z�:&+ B1S1 +E1S1:   

 (4.27)                                                      
2

R.tanSESB
1

1111

θ
==                                          

&�'�
�� `���� i�j ��8
 B1E1  Y$:,�
������ 
7K���� g��!� :   

 (4.28)                                                                      
ρ

θ
REB

1

11 c=                                                          

-5 U%�,�� i�j J�!�  T1 = T2 = SB = SE:   
 �:;�� $� ��&
�o7� ( 3-4 ):   

(4.29)     T1 = SB = BB4 + B4B5 + B5S                                         



  � ��� �

 ��*8 Z:  
BB4 = Xb1                                                                                    
B4B5 = B1S1 cos τc                                                                     
B5S = B5S1 tan θ/2 = ( Yb1 + B1S1 sin τc ) tan θ/2                      

o�7 ��̂�� BB4 + B4B5+  B5S  
7K��� Q (4.29) 
��Y *Z:   
T1=Xb1+B1S1cos τc+(Yb1+B1S1sin τc ) tan θ/2               (4.30)   

  -6 
������ 
Y�!�� J�!� EX:   
(4.31) EX = SS1 + S1D                                                               

 ��*8 Z:  
¢¢SS1 = B5S/sin θ/2                                                                       

                                                                     R -)RSB(DS 22

111 +=  

�̂�� ��
7K��� (4.31) >A� ����Y :  
  

 (4.32)                    R -)RSB(
2/θsin

SB
DSSSEX 22

11

5

11 ++=+=       

-7 `���� oH% J�!� M:   

                                          (4.33)        )
2

θ
cos-1 R(DKM

1
==      

-8  J�!� i�jS,R�D� �"���  
11EB  �
�� `��A� C�':  

 (4.34)                                                    ( )2/θRsin2EB 111 =                                   
-9 1+�5�� ���M�
�* J�!� S1:   

 
R�K� �:;��o7� (4-4) SA&�� 
�:   
(4.35)  XS1 = BB4 +B4B5                                                            

 ��*8 Z:  
BB4= Xb1; B4B5= B1S1 cos τc                                                      



  � ��� �

Q ��̂�� (4.35) >A� ����Y:   
(4.36)     XS1

 = Xb1 + B1S1 cos τc                                              

 X�5�+ 
��H!� 
�* Z:  
(4.37)     YS1

 = Yb1 + B1S1 sin τc                                               

4.2.3             
��<(�� >A� 
�'�"�A:�� 
�!k 
��<(�� >A� 
�'�"�A:�� 
�!k 
��<(�� >A� 
�'�"�A:�� 
�!k 
��<(�� >A� 
�'�"�A:�� 
�!k  
   Z*>A� ��" [�� ������ $� @
� `�� _�& 
��<(�� >A� 
�'�"�A:�� 
�!k 

  �56
�'�"�A:��  +�!�� 
��<��  + 4�
7 .��M δ  .  
�!��� `
�H�� ¡��& /��   �������
'�"�A:A� 
����%�%D�  
�����<(�� >���A� C�'�
����� `�����A�+ 
���� 0���������� ]�@������%  `����3��

 �� Q 
��!���
���< (4.2.2)  �������� `���3� B,!��" [���� B + B3   + B4  + B5  >��A�

������%��∆1 .   1+�5���� $��� ]�����<��� 
��!���� �������A� �����<�� `�������� X���-+S  � 

 
����(���� `�����3� ¡������&B1 0   C�'�
������ `�������� ������ i+D� 
�����'�"�A:�� `�����a 
����(�� 
 S'�u���� ��������� 
������%��� 0  g����j @���,� ���Y�+Yb1 
��7K���� J�!���� (4.21) 

  
���(���� 
�����B4 0   1+�5����� 
!���f+S1     g�����j ]�u���&8 @����,� ����Y��YS1   J�!����+
  
7K����(4.37)    
(���� 
��B5          ������� ���" Z8 ~�f 
�!����� 
��� $�� v����A�+

V����� £KS1 +B1 +B3    1
�����+ 
�������%� >���A� .  J�!���� $���:x   U���� `����,��� 
���&+�F
��
����%∆1  �"���+ BB1 
������ 
7K���� X�-+:   

 (4.38)                                                                       
1

1

b

b

X

Y
αtg =                                             

 �"��� i�j J�!� $:x X�5�+1BB  
������ 
7K����:  

(4.39)                                                               
2

1b

2

1b1 YXBB +=                                                        

   $��:x���%   
��(���� 
�!��k $��� v�����A� U���,���� U"���6 ¡�
P�B1 .  $��:x+
�    
�(���� `��3� ]�u�&8 �,H��
P�% B1      ̀ ����A� h&���+ WI����+ .���+@��" 
(�%���  

 ����+ n+��:��� ��Y�!�� �'�7 
(%��� +8 .  
  
  



  � ��� �

4.2.3.1             S'�G /AV� 
(%��� 
�'�"�A:�� 
�!k S'�G /AV� 
(%��� 
�'�"�A:�� 
�!k S'�G /AV� 
(%��� 
�'�"�A:�� 
�!k S'�G /AV� 
(%��� 
�'�"�A:�� 
�!k  
   �A:A� 
���%�%D� ���������+ �������� 
�!��k 
���� C�'�
���� `������+ i+D� 
���'�"   

 
� 
�!k $:x@    i+D� 
��'�"�A:�� >�A� ������� $��   ��  /�AV�� ¡�
P��%   S'�u���
 `������� h&����+ WI��;����+ 0+�� @���,���
������%∆1  �1
�����  �����A,�� `���3�� .

S6+ ������ `�� ����� ~!� ]
&�
�:   ( Xi , Yi )  0 X�-+ SA& �,�:  
 
���(���� ` ����3� P1 �7 �I
����
���, δ  $���� ]�
���� S  U��(����%��� U��@������� Q (4.21) 


(���� ~�"�"+ 
A��Y >A� ����Y ( XP1
 , YP1

 ) P1 0   
�(���� `��3�+ P2   �I
��

,�7 2δ $� ]�
� S U��(�%��� U��@���� Q ( 4.21 ) >A� ����Y  ~�"�"+ 
A��Y


��(����  ( XP2 
,YP2

 ) P2 0 
��(���� `���3�+ Pi 
��,�7 �I
��� iδ ]�
������ $ S  Q
      J�!� 
<!���� �5:6+ 0 
�'�"�A:A� U��(�%��� U��@����      ������� 
���� ������  

 
��� 
������ 
������� >�<" Z8 >A�:  
(4.40)                               iδ ≤  L                                                                                

 /��*Z:  

L   { 
�'�"�A:�� i�j.   
         
�<�� Q }+�;�� J�A%D� �	�� ������ 456 
!̂k (2.4.2)  0  
�!�k o��&+ 

     >��A� ����" ������+ n���V�� 
���'�"�A:A� 
���%�%D� ���������+ ���������5��6  
�'�"����A:��
4�
7 .��M 
��<�� δ .  

 4.2.3.2         .��+@��" F�H� 
(%��� 
�'�"�A:�� 
�!k .��+@��" F�H� 
(%��� 
�'�"�A:�� 
�!k .��+@��" F�H� 
(%��� 
�'�"�A:�� 
�!k .��+@��" F�H� 
(%��� 
�'�"�A:�� 
�!k        
      @
���� `���3�� ������� U����" o���&     i+D� 
���'�"�A:�� >��A� 
���7���� �������� $��� 
 X��-+    
��<(��� ���M�
���� J�!�� ( αi , Di )     Q 
�+�;��� 
��&�(�� �	��� ��# 
1��	�� (4.2.3)0 � �&�+F ~!� /���
7K��� 
(%��� �H�� 
(�� �:� }�&l�  
������  

 (4.41)                                                                

i

i

i X

Y
αtan =                                                     

 g��+:  



  � ��	 �

 (4.42)                                                                 
i

i

i X

Y
tanarcα =                                                      

   ������ 456 
!̂k� 
��<(�� >A���	�� WI���+ h&��+ .��+@��" ¡�
P�% 

�<�� Q 
�+�;�� 
�&�(�� (2.4.3).  

  4.2.3.3    � 
�'�"�A:�� 
�!k� 
�'�"�A:�� 
�!k� 
�'�"�A:�� 
�!k� 
�'�"�A:�� 
�!k���� n+��:��� ��Y�!�� �'�7 ¡�
P�% n+��:��� ��Y�!�� �'�7 ¡�
P�% n+��:��� ��Y�!�� �'�7 ¡�
P�% n+��:��� ��Y�!�� �'�7 ¡�
P�%        
   
������     Z����Y i+D� 
����'�"�A:�� ������� `����3� 
A��;����� 
���(�� F����H� ¡�
P����%
�����  S6 ������ 45# `�3��:  

• �&�+F ��}�&l� αi 
7K���� 
��!�� (4.42).   
• i����j8 ����"+D� Di  ̀ ���,��� 
��(�� U��� `����" [���� B  0 ) F���Hm� ���7�� (
��(����+ 


������ 
7K���� 
Y�!�� 456 J�!� o�&+ 0 
�'�"�A:�� $� 
��H¤�:   

 (4-43)                                                                    2
i

2
ii YXD +=                                                      

 /��* Z:  

Xi      0  Yi{     
�(��A� 
�&@�,��� ���M�
���� Pi  ���   
�(��%��� ��@����� $�� 
��! 
 
�'�"�A:A� . 
�'�"�A:�� >A� ������ 456 `�3�+ 0���(�� �	� �<��  
�+�;��


�<�� Q (2.4.5).   
    
<!������� �����8 )*   $:,����Y h�!���<�� C�'�
����� _������� 
�!���k�  �����(�� p����<"


�+�;�� @��<�� Q0 (2.4.1)0 (2.4.2) 0 (2.4.3) 0 (2.4.4) 0  (2.4.5)0   X��-+
~!�  ~!�+ 1lH�D� �Y�"9+�R�� 
���:�� .  
  4.2.4    ��������`�,,A� L&����� i�(��+ C�'�
�� `���� Q 
��F`�,,A� L&����� i�(��+ C�'�
�� `���� Q 
��F`�,,A� L&����� i�(��+ C�'�
�� `���� Q 
��F`�,,A� L&����� i�(��+ C�'�
�� `���� Q 
��F  

  � Z8 ���������	��U������������% ∆1 + ∆2 ����������j����1+�5��������� Q Z S  0 Z8+ 
�������&+�F
�,H�j��" S6 θ   0+ � �x i+8 
�'�"�A:� Z�������� C��'�@ `�7+ )+D� 
����%             

 �(7 O��4 Rc l���+4 O  0   � ��x n��M 
��'�"�A�+�  
����V�� 
�����% ∆2   ������+
 i+D� 
�'�"��A:A� 0 Q �,� �:;��o7� (4-5).   

    @��&�  � U"�6 ��+ 
�&�j i�
<�%�C�'�@ `��� �,HA�+ o�& /�� U�����% 



  � ��
 �

   4�(7 O��R  0x � ��    U�(���� Q U�����%B2  + E2        Z��:& Z8 >�A�  1���<�
   l����� ��	� U%��A� O .       U�%���� C��(7 S	��� U�� 
�7K��� @��f* J��A(�� R   

+ Rc .   

S

B

E

E 1
1

O

B

C C

1

θ

θ

θ
τ τ∆

∆
1

2

R C

B2

B3

E 2

n m

Y
B
1

R

  
 �:;�� �:;�� �:;�� �:;��(4-5)        

   ̀ ���,��� 
��(�� Z8 ����K� B ��7
��(���� )* .��wF8 
 B2  0 i���j �Z���Y s�������+ 
`�,�� T1     $�� ���̂3" 
�7 SB )* SB2     � U�� `��,��� B<��8+� 
�����% ∆1   `�����+
C�'�
����  � U��� `���,��� $��� ]�
��� 1�����<��
������% ∆1 @���f�+ 0 i+D� 
���'�"�A:��+ 

U� 
7K��� RC  + R  SA&�� ¡���:  
  - C�'�
����� `������� @
���¥�����(��� O�����  Rc  Q g����j��" e���� n  @����,��� �����
iF���� 1�'�
�� l��� $� O � >A��
����% ∆1  0  
� �:;�� $�+:  

(4.44)         R = Rc + nB2                                                                     
 $:�+:  

nB2 = MB2 – nM                                                                             
 ��*8Z :   



  � ��� �

MB2 = Yb1 ;    nM = Rc - Rc cos τc                                           

 g��+:  
nB2 = Yb1- Rc ( 1 - cos τc )                                                         


7K��� Q ��̂�� (3.44) >A� ����Y:   
(4.45)   R = Rc + [ Yb1 – Rc ( cos τc) ]                                      

 
,��A� l����:  
(4.46)                                       m = Yb1 – Rc ( 1- cos τc )          

 >A� vA(&�
,���  m   ��
���SA& �,� g��!� $:x+ C�'�
�� `���� }�&l�:   
U��(�%��� U��@���� $� ��&
� (4.21):   

 (4.47)                                                                       
2

3

1b A6

L
Y =                                       

q�� X�-+ ���6����K�� i� Q���3 
���!�� 
��
�� $� �.  


7K��� $�  (4.24)��&
�  :  
Rc L = A

2
                                                                                   


7K��� $�+ (4.25) ��&
�:   

                                                                          
2Rc

L
τc =          

Q ��̂�� (4.47)  
��Y:  

 (4.48)                                                                         
6Rc

L
Y

2

b1 =                                                          


,�7 ��̂�� Yb1 +  τc 
7K��� Q (4.46)  ��&
� Z�:�Y :  

                               (4.49)           )]
Rc2

L
(cos -1[Rc -

6Rc

L2

=m                                     

  ������ �;� $:x  cos = ( L / 2Rc ) ��
�+ �,�]����%  g��,�7 �&��"+ 0  
�
7K��� o7�  ( 4.49 )  0
,�7 >A� ��\ ���K��� ���  �����+ m:   



  � ��� �

(4.50)                                                                  
24Rc

L 2

=m                                                     

Z�Y s�����+U%���� C�(7 S	�� U� �6@�f* J�A(�� 
7K���  R +Rc S6 :  
                                                                                        m+= RcR 

 (4.51)                                                                     
24Rc

L
RcR

2

+=                                                   

`���,,A� 
���<&����� 
��,���� J�!��� SB 0  
��R�K� iK��I $��� �����:x�:;���� o��7�  
(4-5) 
����:   
(4.52)          SB = SB2 + BB2                                                      

 ]�u&8 ��K�++ �:;�� $�o7� (4-5) Z8 U%����  11 BWB n= Z�&+�!��    
 ��*8Z:   

                                                                      
c1 Rc.Bn τ=  

 
,�7 ��̂��τc  
7K��� $�(4.25)  ��&
� Z�:�Y:  

                                                                                        
2

L
B 1n =                                                                    

X�5�+��&
� :   

                                                                          
2

L
WB1 =                                                              

Z�� ��+ �� i�(� SA:���6 
�'�"�A:AL   Z�Y:   

                                                                            
2

L
BW=  

 ~�:� Z8 i�<�� ~&���� ���:x  :  

(4.53)                                                                  
2

L
BWBB2 ==                                          

J�!� $:x X�5�+ SB2:   

(4.54)                                                         
2

θ
tan)Rc(SB2 m+=                                                      



  � ��� �

U�7K��� ��̂�� (3.53) +(3.54) 
7K���� (3.52)  
��Y:  

 (4.55)                                                    
2

θ
tan)Rc(

2

L
SB m++=   

4.3            �����'�!�'�!�'�!�'�! 
��A�  
��A�  
��A�  
��A�   
����
�N!
�N!
�N!
�N!     ) ) ) )1( ( ( (             

   � ��&
��� $:�����Z��������% ∆1 + ∆2  0   )+D� 
����
�� $��� v��&�j )* Z����,��"  
 1+�5���� Q Z�����j���� S  0 ���,H�j��" 
��&+�F+  θ = 15.623 gr . �,HA���+ @����& 

 ���6�(7 O���� 1���'�@+ 
���'�"�A:� 600 m  0��:;���� ���R� (4-4) ، �  
���'�"�A�
 
<!���� i+¦� ������ )*
� 0 1�'� J�A(��+:  

• J�!�  
�'�"�A:�� h�%+.  
• J�!�  $&
�'�"�A:�� $� �� i�j.  
• J�!�  1�'�
�� �� $&
�'�"�A:�� `�a [(�� `�� �����.  
• J�!�  C�'�
�� `���� i�j 0�� S7K" 
(�� 
�� 1�'�
A� U%�,�� i�j+  $�

 1�'�
�� �� $&
�'�"�A:��.  
• J�!� ������� $&
�'�"�A:A� U%�,�� i�j $&.  

• J�!� Ŝ%�,� 
�<&����� 
,���� J�!�+ C�'�
�� `��A� 
��F�� $&
�'�"�A:�� 

• J�!�  :�� >A� ���� `�� �����A    +�!��� 
���<�� i+D� 
��'�"�( δ = 10 m) 
� X�-+�n+��:��� ��Y�!�� �'�7 ¡�
P�%.  
 ��� ��� ��� ���::::        
 -1J�!���  
���'�"�A:�� h���%+ A   
��!���� 
��Y��� )* 
Y���G��� c����\ ������,�, 
�

           �����+ ��6@���8+ ���<���� 45�6 $� ����A�� 0 ��<��,A�     C5��� Q��G�� s��(��
       i�j >A� v&�(A� 
������ 
�Y��A� >(�& Z8 ~f  � _������+ 0 s�����  ��H�̂8 ��<��

   �56 J�!� ��(�!� X�5� 1�Y��� 2�      U��<&������ U��7K��� �
��* v��<(�� h��%��� 
(4.22) +8 (4.23)  $\ X�5�+ �      ��� W� iKI $� oA�� 
�N!  0     v�&�(A� Z��� Z*

8 n���G�� �����+�  .�5��#  
��7K��� v��<(�+ 8���%D� 
������ 5IN���% (4.23)  S��(�" [����



  � ��� �

_��,A� t�8 ]��j ��
7K��� g�(�" C5�� i�(�� $� s���� (4.22):   

                                                                              
3v207.0A =  

/����Z8 
��!����  km/hr  .�+�� Z8 ����<���  $��� v��&�j )* Z����,��" U�������%  
����
��
  �������� 
��!������ Z�����Y )+D�,�, S����6 
��,!������ 
� 120 km/hr  0Z8+  
��!������

    S�6 ���	(���� Q ������A� 
��,!��� 120 = 96 Km/hr ×v = 0.8    Z��:�Y
 ��&
�:  

                                                              7.19496207.0A 3 ==  
5IN� A = 200     
 -2
7K��� v�<(�� (4.13) 
� *Z:   

R.S = A
2
                                                                                    

�&
� Z�:& 1�'�
�� �� 
�'�"�A:�� `�a 
(�� 
�� $:�+ �:  
 S  = L   +R = Rc   0
7K��� 5IN�Y (4.13)  s���� �:;��:  

                                                                                  RC.L = A
2                                   

 g��+:  

                                66.66600/)200(Rc/AL 22 ===      
 
,�7 5IN�= 70 m  L  

 -3~!���   ���� $&
���'�"�A:A� 
�����V��+ )+D� `���,��� [��(�� `���� �������  1�'�
����
  U��(�%��� U��@���� v�<(�� (4-21)،      �&���" 
��� X��-+ S Q     i�(���� U��@�����


�'�"�A:A� SA:�� = 70 m L   
��Y *Z:   
Xb1 = 70 m  ;             Yb1 = 1.43 m .                                     

  o���� �	� SHY 1�'�
�� �� 
�'�"�A:A� 
���V�� `�,��� 
(�� `�� ����� ��8 
  
������V�� `����,��� 
���(�� �6�
���<� 
����A� ���M�
����* 
���A� )* 
��!�����  E  �������+ X 

  � >A� v<(�&� 
���V�� 
����% ∆2  0  1+�5�� �\ g���+  S  0 �����+ Y  C@��,�   g��A�
�� �\ g���+ _�� .  

  



  � ��� �

-4
7K��� $� ��&
� (4.25):   

              .714.3
1200

70
662.63

Rc2

L
ρτ c gr=×==          

 g��+:  
                                   gr195.8714.32-623.15τ2 -θθ c1 =×==  

 C�'�
�� `���� i�j:  
                                                                  )rad(θ.RcEB 111 =  

                                    m24.77
662.63

195.8
600EB 11 =×=  

 1�'�
A� U%�,�� i�j:  

                                                               
2

θ
Rc.tanSESB

1

1111 ==   

                                    m67.38
2

195.8
tan.600SESB 1111 ===                                

 -5��&
�  
������ 
7K��� $�:  

     
2

θ
tan)τsinSBY(τcosSBXSB

1

c111bc111b +++=  

 >A� ��\ n�V�� 9�(�� Q �&������+:  
T1= SB = SE = 108.78 m.                                                          

 -6J�!�  
,�7�&�'�
�� `���� }�&l�
 m  0
7K��� v<(� (4.50) 
��Y *Z:   

                                                    
mm

m

34.060024/)70(

Rc24/L

2

2

=×=

=
  

`�,�� i�(� 
�<&����� 
,����  SB  S6:   

                                                        2/L
2

θ
tan)Rc(SB ++= m  

                   m04.109358115.7tan)34.0600(SB =++=   
   � 
��<�� 
,�7 S6+    $:x+ `�,�� i�(� 
������ 
,���� �� ]
���� �� �H�� 1@�	�%



  � ��� �

�
�§ ����!�A� ���<� 2� v��� .  
 -7����<��     � o���% `�3�� Z8�        n+���:��� ��Y�!��� �'��7 ¡�
P��% 0 Z��Y   ������

� ���&�+F Z�:���% `���3�� �5��6�}���&l� αi  U��� 
���'�:��4���k� 
������%��  )+D�4���k�+ 
 
��H¤� ������:  

                                                                             
Xi

Yi
  tgarc α i =  


Y�!�� ]�u&8+ Di )+D� `�,��� 
(�� U� B  0
��H¤� ������+��ID�  Pi :  
                                                                                                                                                                                                                                                                                                                                                                                                                     i+
m� i+
m� i+
m� i+
m�(4-1)  

  
  
  
  
  
  
    

  

  

                
2

i

2

ii YXD +=                                                                             

    
   C8*      ��# 
��<(��� ���M�
���� S�6 
���H¤� ������� `�� ����� Z ( αi , Di ) 

�M�
��� 
A� )* 
��!���6�
<� [�� 
�A�� �� B .   
                                                                                                                                                                                                                                                                                                                      

  
  

Di  

(m)  
αi 

 (gr)  
Yi  

(m)  
Xi 

(m)  
Si/A 

(m)  Si        

6        5        4        3        2        1        
10  0.0318  0.005  10  0.05  10  
20  0.0955  0.03  20  0.1  20  
30  0.2334  0.11  30  0.15  30  
40  0.4297  0.27  40  0.20  40  
50 0.6621  0.52  50  0.25  50  
60  0.9552  0.90  59.98  0.30  60  
70 1.3009  1.43  69.97  0.35  70  



  � ��� �

 i+
��m� $��� ����K�o��7� (4-1)   `����7D� i����j8 U��� ����7+�Y 
����" � g���̂8
���6��"+8+ 
���'lm� 0  �����:x s�������+¡�
P���%�
���%���� ��Y�!����  Si  
�!��k 
����

�������� "�A:��     n+������:��� ��Y�!������ �'�����7 
(����%��� 
�����'�0 + 45����6 �
�����+ Z* 
 123� Z�:" �� ]�<��� �H�̂�Y ��7+�	��/�� �#�q* $:x .  


�N!�
�N!�
�N!�
�N!�    ( 2 )            
� ��&
��Z�������% ∆1 + ∆2  Z����j����1+�5��� Q S.   S�6 ��,H�j��" 
&+�F θ 

= 22.158 gr   �:;��� o�7� (4-6).     &������� $&
��'�"�A:� �,HA��+ @���& 
<!����� $ 
 )* Q SAI�
���� 
��&+�l�� O����� S .   ���(7 O���� Z���:& Z8 >��A� ����\��C�3���D�   

Rmin = 600 m   $&
���'�"�A:�� `���a 
��(�� 
���� �I¨���� �q
���8 0 J���A(��+ 
 J�!�:  

•  oH(�%++ $&
�'�"�A:�� $� �� i�j.  

• 
(���� `�� ����� M  0 C8( Xm , Ym )  .        
• U%�,�� i�j BS+  ES.   
• !�� i�j
������ 
Y� EX.  

S

B
E

1

X

O

T

L L

Y

C C

C C

θ

τ τ

τ τ

∆ ∆
1

2

R

m

m

M

EX

min

B
1

  
 �:;�� �:;�� �:;�� �:;��(4-6)        



  � ��� �

 ��� ��� ��� ���::::        
      ����+ o���& /���� 0 
���̂��� ������� $��� 45��6 ������� 
����� t����"�U�������% 

          ��G+ )* 
����� Z+@ 0 U�%�,�� $&������� $&
��'�"�A� 
(%��� U��j����   `��7
� o�& 0 �,H��� C�'�@�� )* i+D� 
�'�"�A:�� $� i����
�'�"�A:�  ]1���<� n�V��.  

-1 �:;�� $� ��&
�(4-6) :  

                                                         gr 079.11
2

158.22

2

θ
τc ===        


7K��� v�<(��+ (4.25) 
� *Z:   
  

                              m83.208600
662.63

079.112
=×

×
  L = 2 τc.Rmin  =   

�� $� �� h�%+ ��8$&
�'�"�A: A C+�!�Y :  

                                                         

.97.35383.208600A

L.RA

=×=

=  

 -2i�
���+ 
�'�"�A:A� U��(�%��� U��@���� $� S  ��L    
�:  
Xm= 208.20 m.      ;      Ym=12.11 m                                       

 -3,�� i�j J�!�]�+8 ~!\ U%� B1S �:;�� $� ��&
� /�� (3-6):   

                                                              
2

θ
tan.Yτtan .YSB c1 mm ==  

                                            m13.2079.11tan11.12SB  1 ==  
 ��&
� Z�:&+:  

BS = BB1  + SB1                                                                         

+*Z :  
BB1 = Xm = 208.20                                                                     

 g��+:  
BS = 208.20 + 2.13 = 210.33 m .                                               



  � ��	 �

 -4 �:;�� $�(4-6)0 Y�!�� J�!� $:x 
������ 
EX:   

                                                                           
cτcos

Y
EXSB

m

1 ==  

                                                              m30.12
cos

11.12
EX

079.11
==  


�N!�
�N!�
�N!�
�N!�    ( 3 ):         
  � ��&
����Z����&F����� Z��������% ∆1 + ∆2 . ����,H��� 
�Y�!���� D = 1000 m  

�:;��( 4- 7)  .
�'�"�A:� �,HA�+ @��&$&J�!� J�A(��+ 0 $&������ :   
•  $&
�'�"�A:�� $� �� i�j. 

• $&
�'�"�A:�� `�a 
(�� `�� ����� M.  

1 2

1

M

D

m

m
X

Y

B E

1000

∆ ∆

τ

R min

c

T

O

  
 �:;�� �:;�� �:;�� �:;��( 4-7 )        



  � ��
 �

 ��� ��� ��� ���::::        
   � U"�6 ��+ 
��� t��"�0 U�&F����� U�����%  ]�u�&8 
���� ����� $�  .

-* t���  
Y�!�� Z8D � U"�6 U�� $� U�����%���� ���(�
��A�.   
 -1 ~�:� 
�'�"�A:A� 
���V�� 
�(�%��� 
�@���� $�:  

 (4-56)                                                        
6

7

2

3

m
A336

L
 -

A6

L
Y =                      

 $:�+�:;�� $� (4-7)  
�*Z:   

                                                        m00.500
2

1000
2/DYm ===  

  

7K��� $� ��&
�+  (4.15):  

                                                                                              
2

2

A2

S
τ =  

 B<�"+
(���� Q C  0i�
�* 
�� S ��L   0+ τ �� τc :  
                                                                                        

2

c

2 A.τ2L =   

� �:;�� $� $:�+ *Z:   

τc = π/2                                                                                         

,�7 B<��Y  L  ��SA& :   

                                                                                          ΠAL =      

,�7 ��̂�� L:   

                                                                 
2/72/3

m Π
336

A
-Π

6

A
Y =  

 +8:     
        Ym = 0.764 A                                                                              

 g��+:  
   A = 0.654 D  =  0.654 ×1000  =654                                           



  � ��� �


�'�"�A:�� i�j Z�:�Y  L :  
                                                    .89.115814.3654L m==    

 -2   
�(���� `��� ������ M     S�6 
��'�"�A:�� `��a 
�(�� ( Xm , Ym )  0 ��*8Z 
Ym  �|�!� © 
7.   

  J�!��� $��:x Xm )+D� 
�(���%��� 
���@���� v���<(��  
���� X���-+ 
���'�"�:A�

�'�"�:�� �56 i�j @�f* © Z8 L  0��\ X�5�+  >A� :  

Xm = 871.93 m                                                                             
   
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  



  � ��� �

  
  
  
  
  
  
  
  
  
  
  
  
  



  � ��� �

����� ��	
������ ��	
������ ��	
������ ��	
�            
��
��
� �����
���
��
� �����
���
��
� �����
���
��
� �����
�������� ���� ������� ���� ������� ���� ������� ����             

  

 5.1      ������
� ���� �� 
 ���
� !�"�� ������
� ���� �� 
 ���
� !�"�� ������
� ���� �� 
 ���
� !�"�� ������
� ���� �� 
 ���
� !�"��        
  !#���$$� %$$�	&'( ����$$' )$$&*+,$$�
�   -)$$&.�� /�$$�0 1 2��$$3)&4 �.5�$$6 �$$�( 

      7 8%$
� 9(,��� ��: ;<( ������
� ���� �� 
 ���
� !�"�� �<,�� => 2��(?
����@� A�� �    "B�3 �C�,� D �1   )#)E( �         F$'�(�G( F$�#�H( F$�#�)B )� $I( F'���"�$3

    ��� ��3 JK* ��"<�� F'�	��&�( ������
� � .   �MN O�     �� $
 ��$�
� !�"�� �3�
�$$$$�����
� ����1  ��$$$$# ��$$$$��@�   ��$$$$P� J$$$$K* !$$$$"' Q$$$$
� ��$$$$"&
� O$$$$� RS�$$$$T ?)$$$$*  

      �&��� ����@ ?�'(N ��3��B �4)� I(. �N )&* ?�'(�� A%4 -,U' VN JK*   W$U' OT�
$$��� X� ��$$3Y Z$$�[( 1 �$$�����
� ��� )$$#\' O#)$$'( �$$T ]$$B �<� $$�� O#�(�$$^�� 
O* 50 m �K. 
� ;_�&�� D 1  O$*( 20 m    �$�K�`� ;_�$&�� D 1 a $[ (N   ,'�$<?

     ���b�� ,c�()
� ��
 O� d)����� �(,�
� .   ?�'(�� A%4 �
,'   2�#)*��'2�����*�  O� 
�
,$$
� 1  W$$@�� �
,$$
� e$$C( => �<�$$fg�B 1  �$$#�)�
� )$$'( S.P �  �$$#�.&
� )$$'(( F.P  

 D �$$�T� �h�$$
�$$
� (5-1) . ��<� $$�� -�$$"'   �� A%$$4 ]$$B �$$�"<��(  �$$"#,�B ?�$$'
 d,$$6���� ��$$3��"
� 1  W$$i ��$$3��"
� (N  d,$$6����1 $$
 j�)b�$$3�B �  ��<� $$�� �c�

k(,�h
g� �$$$$�1 d\$$$$.M�� O$$$$� �$$$$4Wi (N  �$$$$��� d,<� $$$$K��� �,$$$$U
� ;$$$$"E Q$$$$
�  l� 
   9,3�� �"#,�
� ����@� Ohm(1      ��_ a $[ n$
G(,i�      ���� ��$3 �$�<.  n
%$T 
   ]$$B ��$$*�	'�Y� +(,$$< -�$$"'       W$$i �#� $$�
�B (N d,$$6���� �#� $$�
�B �$$�
����� ?�$$'(��
    a E o O�( 1 d,6����  a�$3�&� �	
� �
�      ?�$'(�� A%$4 )$&* �$�����
�   2�?�&�$3� 

� l,
 d,<���� �#� �
� !M�,� => �"B� 
� �C�,�� D �3(,U�� (N �� �.  
               �$�T �$�����
� ���� �� $
 ��$�
� !�"�� �3,B ��3��"
� A%4 �&
 �� ' 

 D�h�
��
�  ). (5-2   

  

  



  � ��� �

S.P

1
2

3
4

5
6

Y=226324.10 m
x=-179124.00m

s.p

H=375.45 m

k34

k33

k32

9
9

A=28.6219 G

Y=230956.40 m
X=-177674.00 m

R=1280.4 m

F=33.05 m
T=292.78 m

H=389.70 m

PI-5
1
0
0

1
0
1

1
0
2

1
2
0

1
2
1

1
2
2

1
2
3

1
2
4

x=-176906.00m

H=295.98 m

Y=231760.00 m

F.P
F.P

N
o
rt
h

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

�h�
��h�
��h�
��h�
� (5-1)  



  � ��� �

1 2 3 4 5 6 7 8 9 10
B

A

A 1 2 3 4 5 6 7 8 9 10 B

+325.00

3
8
8
.0

3
8
4
.5

3
8
5
.0

3
8
6
.0

3
8
7
.0

3
8
8
.3

3
8
8
.0

3
8
7
.0

3
8
6
.0

3
8
5
.0

3
8
4
.0

3
8
3
.1

        
�����h�
�h�
�h�
�h�
 (5-2)  

       ��P� ��"k pK�q ]B ��"<�� ��<� �� ��rs ��#  1    -�$�"t u$�q J$K*    
v$$$$"<N  1/500 N ( 1/1000  (N 1/2000  �    �� $$$$�� �$$$$�wN( X�$$$$_ a $$$$[ n$$$$
G(  
 �$�rs(      ��$"&
� A%$x ��
�
��$
� ��<� $��)  ��$*�	'�Y� (  ��
�$6 -�$�"t 1/50  (N 

1/100 (N 1/200 �             �#�$3 ��$3 l� $&� O� 2�����*� n
G(�   8��$��*  $#J*) �  l� $&
k��"��  �1     ��$��@� ��#( � 9�$	'�      �#� $
� ��$3  �%$4  1   !$�{ !$"' Z$�[   ��$"k !$�"�� 

  $
 ���
� ���� ��  �$�����
� 1     F$
�< 9(,�$�� u$@ ��$"k(         )$#)E a$|( �%$4
 $$&�( !$$
�����B�   ��*�&�$$
� �}�$$&��  1(��$$�_�"' +,$$�
�1   �$$#)#)~� nh $$
�(  

    �$�c��� 8����(     �� $�� �,$��' Q$
�          ����
� ���� �� $
 ��$�
� !$�"�� J$K*  �$� 
 n
%T( &��B�� �.
�< (N �.�E �(,�� (N �.&� �(,�� a| Q
� ��B�r
� ��"&
� .  



  � ��� �

5.2   ������� u� ���
� !�"�� ����' ������� u� ���
� !�"�� ����' ������� u� ���
� !�"�� ����' ������� u� ���
� !�"�� ����'        
   �$��r'( 9(,��� ��: ;<( ������
� ���� �� 
 ���
� !�"�� ���> )�B 

 $$&�( !$$
����B�� �$$�B�r
� �� $$�c,
� ��$$"&
�  ) �� $$M� ����$$�* �q ��$$�_�"' �$$	K�  (
   �$"�&�� �$�<�,i��_ �h��' Z�C 1 9(,��� u@ �����B -)&.�� j�"#   ��$"&
�(

  � D �� $$�� )$$#)E D �,$$@�� �$$�B�r
�Y  v$$3N,
� A�$$I  ��$$�
�B(  "�� V�h�$$3$$� !
  O� �*��� �� �� �%x ���
�!�"
����"� ��   ��G�  X�$�q �$	K�  �h�$'    2�$�@

2�, $$h&�D �$$�T   �h�$$
��$$
�  (5-3)  �(2�$$�
�i   ���� ��$$3  X�$$�� V�$$h' �$$�  

������
�   �C�� �� X���� O� �TN   �$.��"' VN �����"
� (N ����� K
 Ohm Q
�
  �#,$$� �h�$$B  ���$$�� �$$^K�<       ;$$#,�K
 ��$$�
� �$$��� p$$�	� => �$$
�~� A%$$4 D

    )&* �B,�
� O� �\M !�"B         J� $'( 1 ��$	b&�� OT�$��� D �.�?�( ��
��
� ;_�&��
  ;_�&�� V�h# Q
�       t ���� ��$3 O$* 2��$	b&� ;$#,�
� ��$3 �$.�<  ;_�$&   ,$	~�

 Q
� ;_�&��(        t ���� ��$3 O$* 2�$�	',� ;$#,�
� ��$3 �$.�< V�$h#  ;_�$&  j?,$
� .
J� $$#  B ;$$#,�
� ��$$: l� $$&�( �$$�����
� ���� ��$$3 l� $$&� ]$$B +,$$	
�9�$$	'�Y� 
X�$$$�	
� �  �%$$$4 ?)$$$0 Z$$$�C9�$$$	'�Y�  9�$$$	'�� ;$$$�* (N ��$$$��?,
�  ��$$$#,	~� .�$$$f�# 
�h�
� �
� ( 5-3 ) 2���"� 9(,�� ��: O� �\` 2��
�_ .   

        �$$$�K"~� ��$$$3��"
� �c�$$$�k J$$$K* 8�$$$�E Q$$$
� ,�$$$3�� O$$$� 2�?)$$$* X()$$$`� O��$$$�# 
 vK# ��T v4( ����h�� ��B� ~�(:  

-1   X(�� ,� 
� :         !$�"�K
 d?)$P� ��$"&
� )$&* 9(,�$�� u$@ a�$3�&� J$K* 8��0
��$�
�1  )&*(  ��"&
� !
����(d\�����.   

 -2 ��$$$r
� ,� $$$
� :  $$$&� J$$$K* 8�$$$�0�B��  d?)$$$P� ��$$$"&
� )$$$&* �$$$�����
� ���� 
 ���
� !�"�K
1 ��"&
� )&*(  !
����(d\�����.  

-3    Z
�r
� ,� 
� :           ��$$"k )&$$* �$3(,U�� ?�'(�� ]B ��c\`� ��<� �� JK* 8��0
 ���
� !�"��.  

 -4�,� 
  ��# !B�,
�     v�T�,' �h�B ��"<�� ��<� �� O� p
 1 n$
G(    O$� 2���$��*�
��"&
�  S.P9(,��� �#�)B.   



  � ��� �

θ

β

β

  
�h�
��h�
��h�
��h�
� (5-3)  

 -5    �$$��T�,�
� �$#,����h�x� ��<� $�� O� p
��# ����� ,� 
�1 �$T  100 m   
 �$$$#�)B O$$$� 2���$$$��*� u$$$@ �� ��<� $$$�� d��,$$$
 u� $$$��
 n$$$
G( 1 9(,�$$$�� J$$$K* �$$$�"<

 u�b��.  



  � ��� �

 -6 -?� $$
� ,� $$
� : �$$��T�,�
� �$$#,���K�h
� ��<� $$�� O$$� p
�$$�#1 2���$$��*�   O$$�
 9(,�$$�� �$$#�)B1�$$T 8N  1000 m  .��<� $$�� d��,$$
 u� $$�' �.$$&� �$$#�U
�  �$$�"<��

' j)*( 1 u�b�� JK*�@�)�.��B j�
���  !� ���
�.   
-7    !B� 
� ,� 
� :     �� ?�$'(�� j�
�N JK* 8��0       )$&* �$�����
� ���� O�$f �$3(,U

 ���
� !�"�� ��$"k.  
-8  O��$$r
� ,� $$
� :   8N  9(,�$$�K
 �$$�
��
� X����$$B �$$���� ��$$��K��� J$$K* 8�$$�0

A%4 ��)"� ( X����� ���4�I 1��� �T )&* ��"<�� ��<� �� X��_N(.   
-9    !$3��
� ,� $
� :    $�"<�� ��$$�&�&�� !$
��� O$* d,�$$�q ��$��K�� O��$$�# ��$$
( �$

 ��3�3�� �4,��&* .  
    ����K��� A%4 => �<�f> 1  8�$�0 2�,�3 ;B� 
� X()`� O���# VN Ohm

      J$K* 8��0 2�,@� 2�,�3( 1 9(,��� �.&� ,m Q
� !
���� D �B,�
� ��	���� JK*
         �$$4���| Q$$
� ��$$H��( V�$$#?�
�( ��$$3)&x� �}�$$&��( ��$$*(�\�K
 ��	$$�( ��$$��K��

  9(,�$�� 1$$�(     ,� $$
� �%$$4 O�$f 9(,�$$�� �� $$� v$T(,T �$$3� 2�)$$M )$�	�� O
       ��*�&�$$$
� X�$$�*��( �� $$`�( ����$$$��
�( ��$$�_�"�
� !$$
��� �$$$��r' v$$U�&# n
%$$T(

 ��$$�
� !$$�"�� J$$K* �,$$@��1 �$$��K�� !$$�"�� �%$$4 O��$$�# VN O$$hm(� ��<�$$f>  
 vf���� �Y����3� �r� 1 �B,�
� 9�k( 1* ����K��( O<�� ���&�&�� ��".  

       �$$$$k������ �$$$$3��)
� 1 2��$$$$#N ��
��$$$$
� u�$$$$�b�K
 �� $$$$�c,
� S�)$$$$4�� O$$$$�

� ��$$��h  �$$�B�,�
� X�$$�*� 1     j?,$$
�( ,$$	~� ��$$�K�* O$$* �$$I�&
�  V�$$h' VN( �$$
N

Ohm��      vh
 n
G(          )$c�\
� ,$	~� O$* �$I�&
� ?��$�� O� �Kb�
� => ,��k Y
     �( 1 �"�&�� ?()C /��@ �.K"&BY  O$* ��&U�3� �$3       !$
��� /��$@ O$� j?,$K
 ?��$� j�)b

           ��$$3 vT�$$0 8%$$
� �� $$�� n$$
G �$$4 9(,�$$�� u$$� �� $$� ��$$<N V�$$< ��$$�
�B(
    ( 1 2��$${ 2�$#����� 2�h$$6 ����$�
� )$$�B �#���$�
� v$$��#( �$�����
� ���� O$$h


(  �$$
�
� �$$	k D  ���$$�� J$$K*  ��$$��*Y� ]$$�B %$$@�# VN�Y )$$�"�
� O$$* ?�$$��B;$$K���  
 ��3 ��M,��B ���    ������
� � 1X�
g� S)5       O$�< 1 j?,$
�( ,$	~� ��$��T O$�

      u@ �� � ����' l�i,�� Wi�B ������  1 �$	K�q X���( dW�
 ����"�3  O$�(
��$$$	��  �$$$��@( 1 V�$$$h�g� �)$$$
 9(,�$$$�� u$$$� �$$$��� W$$$U' ��$$$"k O$$$� X�$$$
g� 



  � ��� �

    �$$$�
� ��*, $$
� ��G �� $$�c,
� +,$$�K
 �� $$&
�B���   I ���$$�� J$$K*( �$$�
��
� �� a$$$�&
 Y VN ���$$$$	#( 1 �$$$$B)P� (N d,$$$$�"�� ��
�
��$$$$
� ��$$$$�&�&�� ��$$$$3�� �@�)$$$$'  �$$$$"'

  -�$��
� Q$$�"k ]$$B �<� $�� O#�(�$$^��� ]�$$&�&�K
   l)$P�( ,$$�"�� 1O$$* 40 m  
  a$$$| �Y�$$$~� N�$$$3N D( VN  X��$$$_�� %$$$@�'  �$$$5 ��� $$$�� �#,U$$$��� 1    D �$$$�T

 �h�
��
� (5-4) ;#,�
� ��\M��� ;"E Q
�  ��
��
� ��M�,�:  
 (5.1)  d ≥  T1 +T2                                                                           

 Z�C> V:  

-  d    ]��
���� ]'(�G ]B �<� ��.   

T1    - X(�� ��&�� -�� X�_.   

T2    - � ��&�� -�� X�_��r
.   

T T

BB
E

E

d

1

1

1

2

2

2

P

P

1 2

1E1P 1B

P 2

1T

2T

P 1

P 22B 2E

d

  
�h�
��h�
��h�
��h�
� (5-4)  

     ��B�� k� ]��' �MN O�        -(�� ]$B �<� $�� �$"' Y VN a$| 1 9(,�$�� u� 
             �$&���� ��$"
� O$* d,$��"��( �$B�)P� d�(�$^��� ��
�
��
� ���&�&�� X()$`� D   �$
� 

(5-1)  � n
G( ;#,�
� p&�
 2�"<(  1    � W$i O$� F$kN �$�TY  ]��$' 8?��$�
   ��<� $�
  J$$K* �$$�B�� X�$$�� ��G �$$K#�_   �$$�B�,�
� X�$$�*�� d?�$$#� l� $$C .   W#�$$��� => �<�$$fg�B

 � �$$3�� d�$$*�,� a$$| A�$$*N �C(,�$$��$$�.�)$$&* �$$�
��
� �  ��$$�
� !$$�"�� ����$$'
 9(,��� ��P:  

-1  &� ;<��' �3��?�B��&� !� 9(,��� u@ �#�H( �#�)B  �B��;_�&��  d�(���   



  � ��� �

-2  9(,�$$$�� u$$$@ u$$$B� �$$$3��?_�"��� +,$$$�
� !$$$� $$$&� !$$$f(( F$$$$�� �$$$��B��A%$$$4  
 ��$�_�"�
� 1 ������
� ���� �� 
 ���
� !�"�� JK* �.���r'(.  

-3  �&�$$$$$
� X�$$$$$�*�� !$$$$$
��� �$$$$3��? ��* )  �� $$$$M� ����$$$$$�*  (.. $$$$$&� !$$$$$f((�B�� �
��
���� ��.  

-4         ��� $�� O$� ������� u@ �#��( ������ A��� v�� 
� p#,��
� �3��?
 !_�"�' Q
� ��c��� F��.  

-5  d)* D ���_�"�
� !f�' �3��? &� !� ��#�� ��B�� )&* �� �.c��k> X���C.  
-6 �$�����
� ���� ��3 ;#,�
� ��3 vT�0 VN a| �#�� �� ;_�&�� D   

                                                                                                                     X()`�X()`�X()`�X()`� (5-1)  

             V)$�� /��$@ ��N 1         ��,$�
� ;B�$�
� !$<� a$^�<    �$�����
� ���� ��$3 O$*  $t �
  ��$$$���� A�$$�� v�� $$
� p#,�$$�
�B ��$ $$# 1�$$'(d?�$$M��� �$$B,�
� S�$$	M ]�  �$$E

( 1 p�,
� ��"�_���3 Y 1 �#���i !$
��� �B,' �k�T �G> G>  ���� ?��� V�h#
   1 2�W�$$$T 8,��$$$
� )�$$$
� ��$$$3��B( �$$$��< ,$$$��� ?�?\$$$#�G>    A�$$$��� l�$ $$$&� V�$$$T

  �"�&�� D ��<�`��	',�2�  .�� '  A%4� ��3��)

    u$bK
 X�$KC d)$* !f�B ����K
�$$$$�
�����$$$$�K
 v# VN J$$$$K* 1 9(,�]$$$$�B %$$$$@ �Y ��$$$$3)&x�( �$$$$����
� �$$$$����
� ��$$$$��*

     ��k��"�� ��,M> o O�( 1 ��
��`�( ]B    X�$K~� A%$4(  ��$��@�    O$� vc�.$&
� ����$�
� 
 �.&�B1�( ��&	
� 9(,��� S�)4N( ��#�i ;"0 8%
� Y �#?���
.  

��r�#        �� p�f ��)"t n�� u  �3,�#( ����b�� JK* ��P� �%4 � �$T 
 D ]�� �4 ��T 1 ������
� ���� u@ �h�
��
� (5-3).   

�M�?�M�?�M�?�M�? 

IV 

�M�?�M�?�M�?�M�? 

Ш  

�M�?�M�?�M�?�M�? 

Π   

�M�?�M�?�M�?�M�?   

І   
 �(? �(? �(? �(?        ;#,�
� p&�;#,�
� p&�;#,�
� p&�;#,�
� p&�        

6  5  4  3  2  1  

125  150  200  250  300  

]B �<� �� 
��
���� ]'(�G] 

( m )  



  � ��� �

5.3     ��
�
��
� ���&�&����
�
��
� ���&�&����
�
��
� ���&�&����
�
��
� ���&�&��   

 ��' )�B      9(,��� ��P ���
� !�"�� ��     , h&� u@ O* d���* �4 8%
�
        A%$$$4 !_�$$$"' !$$$
���( 1 �$$$	K�q X�$$$�� ��G( �$$$�_�"�� ���"� $$$� ��\$$$MN O$$$� p$$$
��

����"�$$$3Y� �� !$$$
���� D �$$$�> V�$$$h' �$$$� 2�$$$�
�i �$$$�	',�� (N ��$$$	b& 1 ;_�$$$&��<
���$$�	',$$�' � +�$$#�,
��� ;_�$$&��( �$$T,~� ��$$&�N ��$$	b& ,��$$' D �$$B,�
� �$$T,C . 

O$$* 2��$$< ;_�$$&� �h�$$' l)$$��
�( ,$$�"�
� !$$
��� VN � ��$$.¡ a� $$B ��$$B,�K
 /�$$I�
    ,��$$' Q$$
� ��
��$$
� 8�� $$�� D d%$$B�&
� d�$$"
�D   /�$$*�> => 8?�$$'( �$$B,�
� �$$T,C 

  l�T,
� .    ]��' �MN O��  $k�     ;$�"E( �$T,~� ��B� �$#�,
�    ;_�$&� p$�KU' ��$	# 1 
 ,¢k �.M( O� ���&�&�� A%4 ����' Ohm Z�C 1 ��
�
�6 ���&�&t X���� WU'

   V�$$T �$$$�� 8�$$B ��$$3)&4  
 F$$&hm Y ���$$$�� VN £Y> 1   ,$$$h�'  dW�$$T X�$$$�� X�$$�
 $$$�'( �$$$#�,
��+j)$$$"'    dW�$$$h
� X�$$$��� ¤(� $$$� VN �$$$�T 1 ?���$$$
� D ��$$$�T,��         

        u$"< d)*��
� X���� D ,��&' Y 1          2��$#N �$
��&
� X�$��� D �$¥>(1   V�$< ��$�
�B( 
( 1 �4�(�I j)* ��	# J�¢* 2�?()C ¦�&4���3 Y W ' Q
� ������� ���� 

K* �$.�  �$$	K�q �$<��
  . )$$`� ]�$#X( �$
�  (5-2)  1 ��$"
�   X�$$��K
 �C�� $�� J$$�¢�
�
  *, $$
�( ���� �$$�<�,i��_ a $$[ n$$
G( �$$�
��
����$$�
� ��� ��$$�T,�K
 �� . �%$$4

( D �&���� ��"
� O* �
��&
� X���� d?�#� OhmX()`� (5-2) ��)"t 1%.   

 �$$�
��
� X�$$��� �$$"' Y VN a$$| ��$$���� A�$$�� v�� $$
� p#,�$$�
� ]��$$�
  p$$K�b�
��M�?   ��"
� O* +,�
� � 0.005 �  ��N  ( V)$�� �$@�? D D �$�B    �$���� �Y�$~�

<e$$C �� $$� 0.003 � � O$$hm(YX�$$��� J$$K* ?�$$��*  p#,�$$�
� ]��$$�
 ��k�$$f,�
�
2���� � V�T �G> ���< ������ A��� v�� 
�  D 9(,��� ��P ��_ ��� ;�"E

 ��k)
� A?()C .-)&.�� JK* Oh
( ����
� O* 2��c�? Z��
� ����� �r��� � .  
                 ��$"
� O$* �$"' Y Z$�[ �$B)P� ��
�
��$
� ��$�&�&�� X��_N ����@� a|   �#,U$���

    �K
 �#�,
� ;�"��B �� ' Q
�vh
 n
G( 1 O�§� p
��
� (N v
�  Y    !$
��� �h�$'
  \M��C ���&�&�� A%4       ����@� ��# d?�*( 1 �#�,K
 N�_�X �&�����& 
�
��
���  Z�[ 

 Y'O$$$* �$$$" 60 m � ( Y'O$$$* )$$$#\ 160 m �h�$$$
� (5-5) � (N  �<� $$$�� O$$$*



  � ��� �

(N v
��K
 �#�,
� ;"E Q
� �C�� �� ��.#N O�§� p
��
� G> 1 �TN N �<� � V  
                                                                               X()`�X()`�X()`�X()`� (5-2)  

�C�� �� ��
��
� X�����C�� �� ��
��
� X�����C�� �� ��
��
� X�����C�� �� ��
��
� X����%   

 �K.3 ;_�&� �K.3 ;_�&� �K.3 ;_�&� �K.3 ;_�&�         �M,��� ;_�&� �M,��� ;_�&� �M,��� ;_�&� �M,��� ;_�&�         ��K�M ;_�&� ��K�M ;_�&� ��K�M ;_�&� ��K�M ;_�&�        

 �*, 
� �*, 
� �*, 
� �*, 
�
��
���
���
���
��������������������� 

km/hr  

4  3  2  1  

3  4  -  125  

3  4  5  100  

3  4  6  80  

4  5  7  60  

5  6  8  40  

 �$$#�,
�  2�,$$6��� 2�W��$$' ,��$$'D   n
%$$T( �(,$$�� ���$$3D ;$$#,�
� ��$$3    �$$"' Z$$�C
  ����� 
� �(�I ¨,<            1 ;$#,�
� ��$3 X�$
> => 8?�$# �� �����
�  8?�$# )$
(  ,<�$' 

 �    �$�<�T �$#�� �<�       �$	K�q ©?��$C 9�$
( => .  ���$3 V���$
     O$� )$BY ��$�T,��
,<�'             ��$�
� !�"�� D ;#,�
� ��\MN !�{ JK* ��<�T �#�� �)� 1  u" $�� D( 

 ]*�k JK* �<� �� A%4( v"<��:  

  
�h�
��h�
��h�
��h�
� (5-5)  

 2Y(N 2Y(N 2Y(N 2Y(N–––– O�§� p
��
� �<� �  O�§� p
��
� �<� �  O�§� p
��
� �<� �  O�§� p
��
� �<� �         
� $$� �$$
N v$$4( V�$$��B F$$�B,* S�$$"#> O$$� ;c� $$
� O$$£hs �<1 �$$k�T �G> �$$��<  
 �$$�
� �*, $$
�B W $$'��� ;$$#,�K
 �C�� $$�� ��1 � ,$$�@ V(? Y ;c�$$�B j�)�$$� �$$B�� 

O�&�O�&�O�&�O�&��v3 �v3 �v3 �v3         
O�&�O�&�O�&�O�&�)�M )�M )�M )�M   



  � ��� �

 ;#,�
� ��3 JK* ?�M��*�	'��F 10 cm،  VN �,	B n
G(9�	'��]*   ;c� $
�  v$4 

1.25 m  D ��T �h�$
�  ���	 (5-6) . )$&*   �<� $� l� $C  �$#�,
�   $�§� p$
��K
 O 
 �Y�C ©�� \�¥:  

1.25 m

0.1 m

1.5 m

Height of eye

Line of sight Height of object

Non-passing sight distance

( Save stopping distance )

Passing sight distance

  
�h�
��h�
��h�
��h�
� (5-6)  

-1 �"<N ;#,�
��:    

(5.2)                                                                      
f254

V

6.3

t.V
S

2

+=                                                    

-2 Kc�� ;#,�
��,�
�(  d)*�� �B:  

 (5.3)                                                     
%)If(254

V

6.3

t.V
S

2

+
+=                               

- 3 Kc�� ;#,�
���
��k �B,�
�(  :  

 (5.4)                                                     
%)If(254

V

6.3

t.V
S

2

+
+=                                

Z�C >V:   

  - V    ��
��
� D(5.2) ( (5.3) ((5.4)   �B,�
� �*,3km / hr.   

- f      � ���*Y ���3( ���
 %@�#( ;#,�K
 v�� 
� ¦�h�C0.5 .  

-  I %    ;#,�K
 X��&
� (N )*��
� ����.  



  � ��� �

- t       ]B �(�,�#( ;c� 
� )&* ��	
� ?� O��1.5 => 3 ��k��.   

�������� 2��k 2��k 2��k 2��k––––O�§� v
��
� �<� � O�§� v
��
� �<� � O�§� v
��
� �<� � O�§� v
��
� �<� �         
   �<� $$� V�$< �$$
�~� A%$4 D �$#�,
�  1  �&K�$$C Q$$
� ��$"
� p�$$f 2�$�#,"' 8(� $$' 

�Y?���� D �.�K* (5.2)(  (5.3) ((5.4)  � n
G(©�r
� �Y��K
 d��T%��  A�*N  

  Ohm�      ���
 ���&�&�� 9��kN !�{ j�)b�3����"�3Y� 2�$�
�i(  ��_�"���  
  �
�� )���k ��      ��
�
�6 ��( ���&�&�T �#,c�)
� -� .  ��# ��$��@� S��$kN   �$4���
N 

  V�$$�N �(,$$6 ;$$"E ��$$3�
 2Y��$$_N O��$$' Z$$�[�T,~�X()$$`� ����	 (5-3) ]�$$# 

      ��
�
��
� ���&�&�� ���
N S��kN X��_N �*, K
 2���' ����¢&
� ��
���� �� 1 2�$��'( 

 p&�
;#,�
�.   
                                                                                      X()`�X()`�X()`�X()`� ( 5-3 )  

 ���&�&�� ���
N S��kN ���&�&�� ���
N S��kN ���&�&�� ���
N S��kN ���&�&�� ���
N S��kN
����¢&
�����¢&
�����¢&
�����¢&
�     ( m )  

�B):�B):�B):�B):        d,�"�d,�"�d,�"�d,�"�        

 �*, 
� �*, 
� �*, 
� �*, 
�
��
���
���
���
��������������������� km 

/ hr  

;#,�
� p&�;#,�
� p&�;#,�
� p&�;#,�
� p&�        

4  3  2  1  

15000  5000  >120       �(?  

10000  3000    100        �M�? І  

5000  2000      80      �M�? Π  

3000  1500     60       �M�? Ш  

2000  1200  < 60              �M�? IV 

     S��kN ��
 X�@ O���     D �$&���� �$#,c�)
� -��$
«
 �$���¢&
� ���
 X()$`� 
�$$$
�  (4-3)  1    A%$$$4 ]$$$B �$$$M�)�� �$$$�( ��$$$�&�&� !$$$f( => �$$$M�C Y F$$$kN ¬$$$C�k

( -��
������"�3Y�.   
5.3.1   
�
��
� ���&�&�� ,��&*
�
��
� ���&�&�� ,��&*
�
��
� ���&�&�� ,��&*
�
��
� ���&�&�� ,��&*��������   
         ��
�
��$$$
� ��$$$�&�&�� p
�$$$�' 1 D �$$$�T �h�$$$
��$$$
� (5-7) O$$$� ,$$$��&�
� 



  � ��� �

 ��
��
� ��3�3��:  

β
P

B E

EX
T

T
1 2

R R

RR

T T

P

EX
1 2

B
E

β

D

D

1

1

2

2

∆ ∆

∆ ∆

  
�h�
��h�
��h�
��h�
� (5-7)  

-1 � !_�"' ��"kY]���"�3 P . ( Point of Intersection )   

-2 � !_�"' �#(��Y]���"�3 B . ( Deflection Angle )   

-3 )B ��"k ��&�� �#� ) =(N -�s( B ( Beginning of Curve ) .  

-4  ��&�� �#�H ��"k ) ��k�� -�s( E ( End of Curve ).   

-5 ��M���� �<� �� EX ( External Distance ).   

-6 V�3���� T1 ( T2 ( The two Tangents ).   

 -7����� ��� L ( Length of Curve ).   

-8  
!"� #$% R ( Radius ).   



  � ��� �

5.3.2  ��
�
��
� ���&�&�� ����'��
�
��
� ���&�&�� ����'��
�
��
� ���&�&�� ����'��
�
��
� ���&�&�� ����'   

   ��
��
� ��&�� ����' V>��3�3�� A,��&* !�{ ]��' ��# 1  �$4N O$�(  

A%4   ,�"
� p�k ,��&�
� R .      �B ���$�� -)&.�� j�"# Z�C F$&���  1 2�?�&�$3�  =>
����*     �.wN O� ��
,_ ��� :  S�T X�_ ]��'   Q$
� ��$3�"
� �<� �K
    (,$6 ;$"E �

�#�,
�  ( v
��K
   �(�^�
� (     �$��
 �"' Y VN JK* 1 O�§� p
��
�     ��&$�� ,$�
 p�$k
      �*, $
� ;$���' F�< Ohm 8%
� )~� O* ��
��
�  �$�
����   ��$B,�K
 �C�� $�� ��

  D �$&����(X()$$`� �$
�  (5-3)  n
%$$T(  2�?�&�$3� => �  X�$$@ O$$� ��$3)&4 ����$$��*
 ;$$�"E��B�� $$k� K
  V�$$h# Z$$�[ �� $$� ,�  (  2�$$�� l�$$T,K
( ��$$B,�K
 2�$$0� ����$$��*

   ;3�&�
�( ���h�
� ;�"��
 ��
�{ �(Y        �(�$�� u�$P� !$� j�^ k.       !_�$"' �$#(�� �$�N
�Y]���"�$$$3 β  1    D X�$$$~� �$$$4 �$$$�T 2d,$$$6��� �$$$����
� J$$$K* �.$$$3��
 O$$$hm �$$$<

   ��$$�
� �$$��� �$$<,�� X�$$@ O$$� �5� $$C ��$$# �$$¥>( 1 �$$�"<�� ��$$�&�&�� �
 ���"�$$3
 �
 ��$$�
� �$$���( 1 =(��    �Y�$$C d)$$* )$$M�' Z$$�C 1 �$$�k�r
� ���"�$$3  X�$$��� A%$$x  

 �h�
� O�(�
� (5-8) vK#�� ¬C�k:   

P% � ��� �Y       ��
�
��
� �#(�\
� V�h' ��)&* aM�� �4( =(�� ���"�3 �
 ���"�3
 ;<�� +�<  =(��.  

q% �  � ���Y      #(�\
� V�h' ��)&* aM�� �4( ��k�r
� ���"�3 ��
�
��
� � �
  ���"�$3
 ;<�� +�< ��k�r
� .     

  Ohml� C   � !_�"' �#(�� Y]���"�3 β  1   X�@ O�����@�    ��$3�&�� �$
�~�   J$K* 
 �h�
��
� ( 5-8 ) . (B n
G;������
��
� �
��
� :   

 (5.5)      β ( rad ) = | p – q | %                                                            

��6�B X���� %@�'��
��
� ���'( 1 �#�`� �� ( 5.5 ) Y ��)&* �
��"� �(�^�#  ���
 � O$$$� �$$TY  �$$��"
� ]��_�$$$"��� ]���"�$$3 4% �  V�$$T �G> �$$$�N O#W�$$$T V��$$$��  

 ��
��
� ��
��
� ;���' a^�< :  
  



  � ��� �

(5.6)                                                                 
1PP

1PP

1 L -L

H - H
  βtan =         

 (5.7)                                                                
P2P

P2P

2 L -L

H -H
  βtan =                                             

   

%
+
p

%+p

%
+
p

+ %q

− p%

− p %

− p%

− q%

− q %

+
%q

+
%

q

− q
%

1
2

3

4

5

6

)(
( )

( )

( )

( )

( )

β β

β

β

β

β

  
�h�
��h�
��h�
��h�
� (5-8)  

 Z�C>V:  

- β 2 , β 1          ��#(��� ��� Y=(�� ]���"�3 P1P ��k�r
�( PP2 ����
� JK*  v4( 
���K��.   

- HP2
 ,HP ,HP1       

 ��(�%
� a�3�&� P1 ( P ( P2 ����
� JK* � ���K�� v4(.  

- LP2
,LP,LP1       

 ��"<�� ��<� ��  ��(�%
� A%x2�����*�O�  P1 � ���K�� v4(.   

  V�$�
��
� �� $' (5.6) ( ( (5.7)   $[ ]�#(�\$
� l� β1  (  β2�  Z$�C  �$��' 
�#(�\
� βi  ��M��  1V�T �G> tan βi > o  V�T �G> ��
�3( tan βi < o .  



  � ��� �

� ]'�4 !_�"' �#(�� l� C ��#Y ��
��
� �
��
�B ]���"�3:                              

β = | β1  –  β2|                                                                  (5.8)   

   X�$$�� V�$$h' �$$� 2�$$�
�i�    ��$$��b�� J$$K* �$$��r� 9(,�$$�� ��$$: ����"�$$3   �4)$$&*
� ��� �#(�� l� C OhmY]���"�3 P1P ( P2P  ��
��
� �
��
�B:  

β1  = arc tan ( P % )                                                                 

(5.9)   

   β2  = arc tan ( q % )                                                                

   �$#(�\
� JK* X���K
 β   �     � !_�$"' �$#(��Y     ]�#(�\$
� �$��
 ��$�k ]���"�$3 β1 ( β2 

�$$$
��
�B (5.8) .       ��$$$3�3�� ,$$$��&�
� l� $$$C -)$$$&.�� !B�$$$�# n$$$
G )$$$�B   �,$$$@��
 => 9�M,
�B(�h�
� (5-7) �� )� vK# :  

-1 ]3���� X�_ T1(  T2 :   

(5.10)     T = T1 = T2 = R tan β / 2                                             

- 2 ��M���� �<� �� EX:   

(5.11)   EX = OP – OD = OP – R                                               

 Oh
(:  

                                                       ( 2

2

2

2 TROP +=    

�
��
� D ����k (5.11)  �l�K��� JK* ���&<.   

  



  � ��� �

������ �	
�������� �	
�������� �	
�������� �	
��        

 ���
����� �������� ���� ���
����� �������� ���� ���
����� �������� ���� ���
����� �������� ����������� ���������� ���������� ���������� ���        

         

    �
��������� �������� ������� ���� ! "����� # ������$%� &  ��� ������� '����( ����)* "����� 
  +���( ����,�,-� &  ���%� # ����. /��.0#�1��0 20-� ����3%�� ���    ������� �4��. 56��7 8��) �

  ��$%� ���(9:�� ����,�,-� 6��;����� <����= '��( ���)* ����%��)0  8%(� %��,*�0 8!���. ���
 8%� ���.  

6.1   <��= <��= <��= <��=?�
!@�?�
!@�?�
!@�?�
!@� ��#�1��0 20-� ��3%�� A� #  ��#�1��0 20-� ��3%�� A� #  ��#�1��0 20-� ��3%�� A� #  ��#�1��0 20-� ��3%�� A� #         

    ���
����� �������� ���$%�   ������� ��� &        2B C��(0� 4��
�%�� ����D( E�%F
  �G6�(?�
!@�    �
����� ����� ��H A� #  ) 6� �� 0J <�K� (  ��( 8%(� %�,*� 

  8%�7� %�� &      ����� ���� �3D�,6M '( 'N3%�� ���  &    '�( ���� �6�M0 �   A��� "�� ��
 ��� � !�4. ����� CO6P��(  Q��RJ ��  & 4��
�%   @��� S���� T��U0 4�
��� O ����  �����  

�
����� ����� "� # & V)�, W�0 5 �3X- C����M  Y�� !0J 6
Z� ���
( 5 S�6��   

 <��Z?�
!@�20-� ��3%�� �� #  B  ��N�����	  (6-1) %[ 'N\�)� :   

(6.1)    HB = HP – T sin β1                                                                             

 ]�=B Y:  

- HP              ?�
!@� �� #  �7� !8%(� %,*�.   

 _�F �1��)?�
!@���#�1�� ��3%�� �� #  E:   

(6.2)                                 HE = HP + T sin β2                                            
         C�`���aJ 6���� �� �
�������� ����;
�� ������= 5 8%����:��� 8!����. V������! '���N\  

 �������� ��������� 0J ����b
�� c
����� �*���= ����3d0����� �N����� (5-8) '��( ����
 �	

 e(���f�YJ �����   ���agd� ��@���Ph� 4��ij! ���� sin β1  0 sin β2.  �6��k�  A��� #
3%�� ��#�1��0 20-� �� &�3D�%G��( <��= 2B 4
��� ���D�� E�%F 8%�3[�6%��  



  � ��� �

 _�l0 �N���m�@ (6-1) �n BY:   

� 20-� ��3%�� �� �� ��3[�6%�� �G���� B :  
(6.3)            LB = LP – T cos β1                                                      

�  �� ��3[�6%�� �G������#�1�� ��3%�� �� E:   

(6.4)        LE = LP + T cos β2                                                          

P1

P 2

P

O

R

B

Eβ

β
β

β
2

β

β

1

1

2

2

β
2

T
 S
in
β
1

L
L

P
1P

  
�N���N���N���N�� (6-1)  

6.1.1    <��= <��= <��= <��=?�
!@�?�
!@�?�
!@�?�
!@�<o�K� �
����� ����� ��� ����
�� "� ��� <o�K� �
����� ����� ��� ����
�� "� ��� <o�K� �
����� ����� ��� ����
�� "� ��� <o�K� �
����� ����� ��� ����
�� "� ���    

   4�
�! ��k)��  �)�K� ���
����� ������&     �6M 2B ���D�� E�%F    '�( ��� 

             ���� �a0���%(0 ��(
��( �������%) ��������� p4. ��� ����
�� "� ���  _��M-�    ]��=
B  /. ���
����� �������� ���= 5 �6k�� 6;��� Y��
!@���  "�� ��� p4.   �G��qh�)

  ��3[�6%�� �r�G��( 2B. <��= 'N\?�
!@�  sJ�� #  �( & ��� ��� �1( J   �����
��
  �����     �UB <�K� �
����� ����   <���= ����%�,  t6�G *� ?��
!@ ∆HBJ      p4�. 8�)

20-� ��3%�� �� #0 �� ��� B   � �n ]�='( �N��� (6-2)  YJ:  

(6.5)            ∆HBJ = C2C3 = OC3 – OC2                                         



  � ��� �

 'N�0:  
      OC2 = R cos β1                                                                          

OC3 = R cos φ
J                                                                                          

  

P1

P

R

B

E

β

β

1

β 1
L

L

1
2

3

j

ϕ

J

C
C

C

Ο

b

∆H b j

j

P 2
β 2

  
�N����N����N����N��� (6-2)  

��:��� 5 uo
�# (6.5) �$�G BY:   

∆HBJ = R cos φJ
 – R cos β1                                                              

 0J:  
 (6.6)  ∆HBJ = R (cos φJ

 – R cos β1 )                                               

]�= BY:   

β1     - � ��( �a0�9*20-� �(� %, P1P �(
��( /.0 VG-� �(.   

- φ
J      

 ��	a A�� �a0�v��6� �� w	# �D OJ  �v[6( '( @��� c
����� �(   O6�x��
 ��
Dy /.0 �;
��.  

'( �N���m�@  (6-2)�  'N\�a0�v�� <��=   φJ � T�U0 /�a �3[:  



  � ��
 �

                                              
R

CC

R

JC

OJ

JC
φsin

2133

J ===                                      

 0J:  

  (6.7)                                          
R

BC-BC
φsin

12

J =                                           

 +�(0:  

(6.8)                                                          
R

BC
-

R

BC
φsin

12

J =                                                               

 '( ��a�� 'N�0�N��� (6-2):   

                                                               
R

BC
βsin

2

1 =                                                               

 ��a�� T�4[0:  
             BC1 = LJ – Lb                                                                                                        

 ��:��� z�	%G (6.8)  ��%��[:  

                                        
R

)L-L(
βsinφsin

bJ

1J =                                 

 +�(0:  

(6.9)                                [ ]
R

)L-L(
βsinarcsinφ

bJ

1J =                                      

 *� t6���G <�����= '���N\?����
!@ ∆HbJ �   ����a0�v�� ����3�� {a
����! c:���i '���( φJ 

��:���)  (6.6) ��:��� '( �)
�K�0 (6.9) �  Y
N�G?�
!@��� ���  J 
. :  
(6.10)                                   HJ = HB + ∆HBJ                              

  '��N\ ����%��)0 ���������� ��� J    ��������� ����� &T���U0  *� ���G6�( ����)?���
!@ HJ 

0��G�����3[�6%��  LJ .  

 � _�|*  ��a0�v�� YJ 2B p���%# φJ  �   c��}� 5 ��D3�� 4�i~! [β1 , 0] �  T���U0
����� �6��M   ����� ������
�� "��� �������  <���K� �
������� ��� & c
������� @����a 2B0 



  � ��� �

@���v[6( '(   ����%!0 & �;
�� O6x���  ��3� �� '�( C�@��%� | φJ | = | β1 |  �(���� 

J = 0   &20-� ��3%�� �� # �6M VG�
! A�� B  .� 'N\* @�63%�,   ��)���Z�)
   "� # �6k� �(9:����   @���a 2B �����
�� <��K� �
����� ���     '�( @���� c
������
 �;
�� O6x�� v[6( & ��b�6%�� W(���(�  � ����%��:  

(6.11)                                                                  | β1 |  ≥ | φJ |  ≥ 0    

      8��\ 2B0 <���K� �
������� ������� ����� ������
�� "��� ��� �6��k!  c
�������
@���      ) ��;
�� O6x�� v[6( '(�       YJ ������0 � )����� ����:��� S���%�,    C�`�aJ ��=:#
 Y~�)� ������ φJ ���� � ����� ���� ] [ 0 , β2    ��a�v%! /�.0� C�@���%�   ��3� �� '�(= 0  φJ 

  ��3� �� ��=0 | φJ | = | β2 |      ���3%�� ��� # �6�M V�G�
! A���0  ���#�1�� E .   T�4�[
 � 'N\*    "� ��� �6k� �(9:�� ��)��Z�) @�63%,    ���� �����
��     �
������ ������

    @��� c
����� 8\ 2B0 <�K� v[6( '(  W(���( �;
�� O6x��    �����%�� ���b�6%��
 �  �:  
(6.12)                                                                    0 ≤ | φJ | ≤ | β2 |    

              ��;
�� O6�x�� v[6( '( @��� c
����� 8\ 2B ����
�� "� ��� ��3[�6%�� �G���� 

 ����%�� ��:���) V)����[ _��:  

(6.13)                                                                      LJ+1 = LJ + δ  

 ]�=BY:  

- δ             ò �
a0 �
������ ������ ���� ��,06k�� "�� ��� 8�) s0���%�� ����%��� YJ 

 Y
N!: R/20≤δ  
6.1.2   <��= <��= <��= <��=?�
!@�?�
!@�?�
!@�?�
!@���� ����� ��� ����
�� "� ��� ��� ����� ��� ����
�� "� ��� ��� ����� ��� ����
�� "� ��� ��� ����� ��� ����
�� "� ��� 6� �� �
��6� �� �
��6� �� �
��6� �� �
��  

    ���1( & ���( ���� # sJ ?���
!@� <����Z J       �
������� ���;
�� �����( ����� ������0
6� ��  ?�
!@*� t6G <��= C*0J _| ∆HbJ 20-� ��3%�� �� #0 �� ��� p4. 8) 

B  m�@ �N��� '(0(6-3)  _%N# YJ 'N\:   

(6.14)                                                ∆HBJ = C2C3 = OC2 – OC3   

 'N�0:  



  � ��  �

      OC2 = R  cos β1                                                            

        OC3 = R cos φJ                                                            

��:��� 5 uo
�# (6.14) �$�G BY:   

∆HBJ = R cos β1 – R cos φJ                                                          

  0J:  
(6.15) ∆HBJ = R ( cos φJ – cos β1)                                             

�a0�v�� _���! φJ /�a �3[:   

 (6.16)                     
R

BC

R

BC

R

CC

R

JC

JO

JC
φsin

122133

J +====         

O

B

E

J

R

P

P

P

C

C C 1

1

1

1
1

2

3

2

L

L

b

j

β

β

β

β

ϕ j

  
�N����N����N����N��� (6-3)  

 'N�0:  

                                                            
R

BC
βsin

2

1 =                                                         

 ��a�� T�4[0:  
   BC1 = LJ –Lb                                                                               



  � ��� �

G��:��� z�	% (6.16)  �N��� �����%��:   

                                                
R

)L-L(
βsinφsin

bJ

1J +=                                           

 +�(0 :  

 (6.17)                                          ]
R

)L-L(
βsin sin[arcφ

bJ

1J +=  

  

 *� t6����G _�������a ?�����
!@ ∆HBJ  �    �����a0�v�� �����3�� {a
�����! c:����i '����( φJ  ������:���)       

(4.26)  & Y
Na0?�
!@��� ���  J:   

(6.18)       HJ = HB + ∆HbJ                                                              

 ]�=a*� t6G 4ij?�
!@ ∆HBJ �)@�P+!�agd� .   

   �6��k��� "��� �������
�� ����� 
������� ������� 6��� �� � & '��N\�e��
# ?����! 
A�� �������  <o�K� �
����� ����� "� # �6M ��� �.��a6bJ.  

6.2   �
����� ����� '( �� # {
iJ0 ���J ��
( 8��!�
����� ����� '( �� # {
iJ0 ���J ��
( 8��!�
����� ����� '( �� # {
iJ0 ���J ��
( 8��!�
����� ����� '( �� # {
iJ0 ���J ��
( 8��!  

      �:�;�
�� "
��i ����� c��3�J ��( V�G�6%a 3�3	�!0 �D  & �������� {��) 

 ����,���� ��� ���� &   G & ?06����� �����.J0 ����a�M S���� A����  �7��� %! �(����� C:1��3
"
����i   ��U ��@������ m�3	���! 2B ����3�# �����#�G &�����x��� �:������� ����( �:���;�
��
c�N��PJ �����)J0 ��������� p������ wa6	��%� ����,��( . 4��� �  �����
�� 5 �.4���
�%) S
�� # 

 '��( �`��
����  @������ .    @
���d� Q����#B ��6��a �(����� T�4��[ &����#�G   C�`��aJ c0����
 '��( ����
!6�� �����
�� ����|B @������ .]������ Y���G ���.�M0 <����,-� p4���0  ����
( '���

    ������� ����� ������0 ���� # {��
iJ 0J �����J �
�������   C�a@06��q C�6��(J g��%�a 0(D C���3. 
! 'N\���1( & �( �� # sJ ?�
!@� 8 �� ��� i � ��:��� V���%) (6.10) :  

 Hi = HB + R ( cos φi – cos β1 )                                                     

)0� YJ @���%� HB 0 R 0 cos β1     ��%)�R m��� &     ?��
!@*� �.4�i~a ��3�� g�[J Y��G Hi  
�N��� 5 zq
( 
. �3[��	  (6-4) /. ��a�� Y
Na �(��� :  



  � ��! �

cos φi = max                                                                                    

0B�3�� ���J Y�)�%�� �.4i~a  cos φi  /.:  
 cos φi = max = 1                                                                             

 sJ:  
      φi = 0                                                                                             

B     ����� ��� � ! �� # ���J Y   <o�K� �
�����  &   �4�. �7�� ! ��� # /.   ������
  ]���= ���;
�� O6��x�� v�[6( '��( @����� c
������� ��( φi = 0   _�����a0 ?���
!@�  p4��.

��:���) �� ��� :  
(6.19)    Hi = HB + R ( 1 – cos β1 )                                                  

P1

P

R

B

E

β

β

1

β 1

L

L

1

i

I

C

Ο

b

∆H b i

P 2
β 2

  
�N����N����N����N��� (6-4)  

)� e��
# ?����! '��( <
���,-����������&    ������� ����� ��� ! ���� # {��
iJ Y~��) �%�%���# 
�
�����         O6�x�� v�[6( '�( @���� c
������ ��( ����� �4. �7� ! �� # /. 6� �� 
�;
��  ]�= "#  φi = 0 �  _���a0?�
!@� ����%�� ��:���) �� ��� p4. :  
(6.20)                                                   Hi = HB + R ( 1 – cos β1 )  

  



  � ��$ �

6.3   �x��(�x��(�x��(�x��(��
�� ��
�� ��
�� ��
��    

��~�(��~�(��~�(��~�( ( 1 )   

�Y�%(� %��, ∆1 � ∆2   5 Y���%�7� %( & 20-� ���b@��� '��( V��a67 2B Y����3%�! 

O0@4���� P � � ����(*20-� �(� %��, P % = + 3 % � � ����(0* ����#�1�� �(� %��,         

q % = -1% �     !��. �7�� ! ��� # <
���(0 8 8%(� %�,*� Hp = + 417.30 m  

 5 �3[m�@ �N���  (6-5) ....        

P

R

B

E

∆

β

1

∆ 2

Hp = + 417.30 m

+3
%

-1%

T

T

1

2

∆
H
b
p

1
2

3
4

j

jϕ

        
�N����N����N����N��� (6-5)  

<
����<
����<
����<
����: : : :   

•  8!�. �;
� _,��( <�� �
��P ���( m�3	!8%(� %,*�.   

•    ��U & <���K� �
������� ������� ����� ��� ! "��� # �6��M 6��;��� <����=  ������!

p@�� W)�R ( δ  = 25.00 m ).  

 �Z� �Z� �Z� �Z�::::        

! ��a & <�K� �
����� ����� m�3	! YB8��6� �� w	#   R  �a0�v��0 
����av[6�� β ���a6x���� �
��� �� O�����K�� )  �7���� ! ����a0�9 �D����
# /���.08%(� %���,*�(  



  � ��% �

0 8��! T�4[4. c
7p�
 ��  L.   

� 6� �� w	# 8��! R.    

)�  � ���b@��� '��( V��a67 2B Y����3%�! 8%(� %��,*� YJ @����%�Y���G & 20- ��6����� 

	��%��3�3  /��. V��a6��� �4��. ����� ����)6��� �=
3����� ��:  100 km / hr  w	��#0 


. ��6��� p4� VG�
�� /(����� 6� �� R = 10000 m   .  

� �av[6�� �a0�v�� 8��! β a6x���� �
 �� O��K�� BE .  

)� /��( YJ @��%�%(� %,*�8 �k;  & _%N# YJ ���%�# ��#�G:  
β  = | p – q | % = | 3 + 1 | % = 0.04 ( radians )                           

 0J:  
63.6620 = 2.5465 gr                                               × β = 0.04  

� �
 �� c
7 <��= L:   

      L = R. β ( radians )                                                                    

0.04  =400 m                                                       × L = 10000    

� 8,�3�� c
7 <��= BP = PE:   

T = R tan β / 2 = 10000 tan 1.2733 ≈ 200.00 m                         

)� ����; ����%�� O�0���� Y�G O�k; c
��� YJ @��%�:  

                                                          2/BE2/BET ==                      
� 20-� ��3%�� �� # <
��( <��= B:  

HP = HB + ∆HBP                                                                          

 +�(0:   
HB = HP - ∆HBP       

 'N�0:  
0.03 = 6.00 m                                × ∆HBP = T.P % = 200.00  

 sJJ Y:  



  � ��� �

HB = 417.30 – 6.00 = 411.30 m                                                

� ��#�1�� ��3%�� �� # <
��( <��= E:  
    HE  = HB+ ∆HPE                                                                                     

 'N�0 :   
0.01 = -2.00 m                                    × ∆HPE = T.q % = 200   

sJ BY:   
HE = 417.30 – 2.00 = 415.30 m                                                     

2 -     o���K� �
������� ������� ����� ��� ! A���� "��� ��� �6��M 6��;��� <����=<  ��U0

W)�1�� ����%�� ( δ = 25.00 m ).   

 ��3[�6%�� �r�G��( /. "� ��� p4. �6M 6;��� YB:  
    LJ = LB + J.δ                                                                                 

 ]�=BY:  

 - J = 0 , 1 , 2 .. nS��@J "� ��� .  

- LB � �� ��3[�6%�� �G������3%�� � 20-�  .  

   *� t06��G _�����!����
!@  "��� ��� p4��. 8��) ��&    V�����%) 20-� ����3%�� ���� #0 

��:��� (6.6).   

∆HBJ = R ( cos φJ – cos β1 )                                                        

 ]�=B Y:  
     β1 = P % = 0.03 ( radians )                                                         

J s:  
  β1 = 1.9093 

gr
                                                                              

0J Y:  

                                        
R

)L-L(
 -βsin[sinarcφ

bJ

1J =                          



  � ��� �

                                                              c0�d�c0�d�c0�d�c0�d� (6-1)  

  

  

  

HJ( m )  ∆HJ( m )  ( φJ ) gr  ( LJ – Lb) ( m )  J  

5  4  3  2  1  

411.3  0  1.9093  0  0  

412.02  0.72  1.7501  25  1  

412.67  1.37  1.5909  50  2  

413.27 1.97  1.4317  75 3 

413.80 2.50  1.2725  100 4 

414.27 2.97  1.1133  125 5 

414.67 3.37  0.9541  150 6 

415.02 3.72  0.7949  175 7 

415.30 4.00  0.6358  200 8 

415.52 4.22  0.4766  225 9 

415.67 4.37  0.3175  250 10 

415.77 4.47  0.1583  275 11 

415.80 4.50  0.0000  300 12 

415.77 4.47  - 0.1600  325 13 

415.67 4.37  - 0.3192  350 14 

415.51 4.22  - 0.4783  375 15 

415.30  4.00  - 0.6375  400  16  



  � ��� �

P

R

B

E

∆

β

1

∆ 2

Hp = + 390.55 m

+3
%

-2%

∆
H
b
p 1 2 3

jϕ

#�m�@  c0�d� VG0 ��)��Z� _!6 (6-1) �  /�a�( ��=:( 'N\0:  

�(��� J = 0   20-� ��3%�� �� # ?�
!@� ��� �	� HB .  

�(��� J = 16  ��#�1�� ��3%�� �� # ?�
!@� ��� �	� HE.   

0B ��a0�v�� Y φJ  k%�!  c��}� '3�q � [ β1 , 0 ]  � c��}�0 [ 0 , β2 ]  �   ����J ���
( YJ0
         c
����� �( ����� �4. �7� ! �� # /. <o�K� �
����� ����� ��� � ! �� # 

�(��� sJ & �;
�� O6x�� pv[6( '( @��� φJ = 0.0000 gr .   

��~�(��~�(��~�(��~�( ( 2 )   

�Y�%(� %��, ∆1 0 ∆2     0-� ���b@��� '��( V��a67 2B Y����3%�!2& 5 Y���%�7� %(  
O0@4�� P.  � ��(*20-� �(� %, P % = 2 %  � ��(0*��#�1�� �(� %, q%=+3%  

  

  

  

  

  

  

  

  
        

        

        

�N����N����N����N���    ( 6-6 )  

 8%(� %��,*� 8!���. �7��� ! ���� # <
����(0 
��. Hp= + 390.55 m  � 5 ���3[ 

�N���m�@ (6-6)  <
����0:   
m�3	! '��( 8!�. �;
� _,��( 6� ( �
��P (� %,*�8%.   



  � ��
 �

•     ��U & 6���� �� �
������� ������� ����� ��� ! "��� # �6��M 6��;��� <����=  ������!

p@�� W)�R  ( δ = 25.00 m ).  

• 0 ��
( 8��!?�
!@� ��� � ! �� # {
iJ  �4.�����. 

 �Z� �Z� �Z� �Z�::::        

            6�� �� w	�# ��a�� ���a & 6�� �� �
����� ����� m�3	! YB R   ��a0�90 

+�%(� %,� �7� ! β � �� �
 �� c
70a6x��� L   

 -1  6� �� w	# 8��! R:   

)�       �=
3���� �����	%�� ��6��� Y�G & 20-� �b@��� '( Va6��� YJ @��%�  _��l0 

 c0��d� ��	 (5-1)  /�. 100 km / hr  �   V�G�
�� 6�� �� w	�#0    
�. ��6���� p4�� : 
= 3000.00 m R  

-  �av[6�� �a0�v�� 8��! β ) 8%(� %,*� �7� ! �a0�9 (:  
)�@��%� /��( YJ %(� %,*�8�k; Y� & _%N# YJ 'N3�G :  

β ( rad ) = | p – q | % = | -2 – 3 | % = 0.05 ( rad )                      

 0J:  

 63.6620 = 3.1831 gr                                           ×  β                                             

-          c
7 <��=�
 �� L:   

  L = R  β ( rad )    =   3000 ×  0 05 =150.00 m                           

- 8,�3�� c
7 <��=: BP = PE = T  

tan 1.5916 = 75.00 m                      × T = R  tan β / 2 = 3000   

- 20-� ��3%�� �� # <
��( <��= Hb:   

      HB = HP – ∆HBP                                                                        

 'N�0:  
- 0.02 = - 1.50 m                             ×  ∆HBP = T.P % = 75.00    



  � ��� �

 sJJ Y:  
   HB = 390.55 + 1.50 = 392.05 m                                                

1- = ��#�1�� ��3%�� �� # <
��( <��:  
  HE = HP + ∆HPE                                                                             

 'N�0:  
0.03 = +2.25 m                                                        ×  ∆HPE = 

 T.q % = 75.0  
sJ JY:   

 HE = 390.55 + 2.25 = 392.80 m                                                 

-2          ������%)0 6�� �� �
������ ������ ���� ��� ! A��� "�� ��� �6�M 6�;��� <���= 

p@�� W)�R  ( δ = 25.00 m ):   

� ����%�� ��:���) "� ��� p4� ��3[�6%�� ��G���� <��= m%a:   
            LJ = LB + J. δ                                                                             

]�= BY:   

- J = 0, 1, 2, .. n �D,6M <
���� "� ��� S��@J.   

�    <��= m%a0��
!@�       *� t06G <��= ��) T�U0 "� ��� p4. ����
!@��    8�)0 �D��)
 ����%�� ��:��� V���%) T�U0 20-� ��3%�� �� #:  

∆H
BJ 
= -R ( cos  φ

J
 – cos  β1 )                                                    

 ]�=B Y:  
β1=  P % = - 0.02 ( rad )  =  - 1.2732 gr                                     

0B Y :  

                                            
R

)L -L(
βsin[sin carφ

bJ

1J +=  

 ��%�� c0�d� VG0 �Z� m��#:  

  



  � �
  �

  
                                                                 c0�d�c0�d�c0�d�c0�d� (4-2)  

HJ( m )  ∆HbJ( m )  ( φJ ) gr  ( LJ – Lb) ( m )  J  

5  4  3  2  1  

392.05  0  0  0  0  

391.66  - 0.39  - 0.7426  25  1  

391.47  - 0.58  - 0.2121  50  2  

391.49 - 0.56  0.3184  75 3 

391.72 0.33  0.8490  100 4 

392.15 + 0.10  1.3796  125 5 

392.80 + 0.75  1.9103  150 6 

- 3  6� �� �
����� ����� ��� � ! �� # {
iJ <
��(0 ��
( <��=:  

   6� �� �
����� ����� '( �� # {
iJ ��
( <��Z &   ��X~) C����b m���#   ��� ���
�D�G Y
Na A��  φJ = 0   sJ:  

                                            
R

)L -L(
βsin[sin carφ

bJ

1J +=  

 sJB Y:  

                                                      0
R

)L -L(
βsin

bJ

1 =+  

 +�(0  
  LJ – LB = -R sin β1                                                                                   

LJ – LB = - 3000 sin ( -1.2732 )  = 60.00m                               
 ��a �4.JY :   

 LJ = LB + 60.00 m                                                                        

  <��Z?�
!@� �� ���  J  &   *� t6G C*0J _���a?�
!@       ���3%�� ��� # 8�)0 �D��)   20-�

�3�� {a
�! ��) T�U0 φJ = 0 )��:��� ( 6.15 ):   

 ∆HBJ = -R ( 1 – cos β1 )                                                             



  � �
� �

 ∆HBJ = -3000 [ 1 – cos ( - 1.2732 )]                                          

∆HBJ = - 0.60 m                                                                         

 Y
N�, ��%��)0?�
!@��� ���  J 
.:   
             HJ = HB + ∆HBJ                                                                        

          HJ = 392.05 – 0.60 = 391.4 m                                       

��� � ! �� # {
iJ <
��( 
.0 6� �� �
����� �����  .  

  

  

  

  

  

  

  

  

  

  

  

  

  

  

  



  � �
! �

  

  

  

  

  

  

  

  

  

  

  

  



  � ��� �

������ �	
�������� �	
�������� �	
�������� �	
��            

��
�����
�����
�����
����� �� �� �� ������ ����������� ����������� ����������� �����    ������������������������            
  

  7.1��������������������        

     �� ������� ��
��� �� �����  !"#$  �%  &��' ()�	# *��+�  ��,"-��# ��.  
 ��/��� 0��1� �� �2�2�3� 45���6 ����� 7���%"�� 8�2)���6 ��9:�;  </��"��6

 �=�
�� >�?:�7� @�A!� 4�B6 C @� D�	#E�-(� 8�2)���6 0��1� 4�# . 

        
�5
���5
���5
���5
�� (7-1)  

     G��,HE6 D�5IE ���J�� K)�,"!�              �,� L,���E �5
,� M�A,!# +�,"�N �,9E OCP 7 
           �Q�6�,� ��!�,# R/��,�� ST,Q6 7 �,���U R/��V W�. ��!�# ��-X�� +�)��!,�   6E +����,�

 R/�;��� �� +�Y�Z�� 7�5
��[Y�  (7-1) @&2+�)�. STQ ��   \B�%���.  

,,,Y�
HP ���,,,�� ]�
,,,HP ^,,,��!2+��� +�,,,��%_,,,` +���,,,
Ha� �T,,,Q 8E OCP 7  b,,,� S� ,,,2 �,,,�  
WIX!26     ��R�� �6�� ��  7  4�B6  DX,? �,� �    *,�� �,%�c"�� ����,d�6 �,/��
� 2)e# �,$ 

 f ���,,�� M,,�!gC�,,1��� C)�	,,!Y�2�6 C.�%!V �,,� �,,Qh'6.f6    8�,,�U:� i,,"�



  � ��� �

���� ���
# j&	2K�6�` � Ck' . �$�.  

7.1.1        ���� ����� �Y��� ���!? ����� �Y��� ���!? ����� �Y��� ���!? ����� �Y��� ���!?        

   ^,,��!2� ���,,�� �,,Y��� ��,,�!? 7 �,,$/��&� �&,,����� �,,�5�:� �,,. l,,�&�� 4,,�B6
   �,,,,U�!��� �,,,,�5�:� m/�	,,,,? �,,,,���) DX,,,,? �,,,,��,,,,�  ,,,,��� �,,,,� LU�� �,,,,�V������ 

   �,,,�n��'�&���6 �,,,�V��6�����6 7P6    �2�6�o,,,�� ��,,,2��!�� ]��,,,V   ��,,,,��g �,,,`66 
,,�n��'�&- �   �,,2��!� �,,�V��6����� ��,,������ ]��,,VP6 7 �,,���%�� �,,�V����V �-�,,��6 
6 �.�,,�� 8�,,2��� S�,,p 7   f ]�,,�� b,,��P �	,,2 8E �,,5q 0T,,�� L,,%c.:� r��,,���6

L/�,,,�� >�,,,1�  7 ��,,,`�"��6 �,,,������ b,,,"-��� [,,,��6 ]�
,,,Ha �,,,U�!��� �,,,Y���� f 
      ��U��,�� D�,%.:�� s�����6 7 �����    D�	,��� �,�tX��    �,�n��'�&- ��,��g W,�.   

u�,,��� 1/5000  7 ��,,9v�6E   �,,�/��� 0��,,1� ��,,��!��)  �,,,$��� w�,,.  >�,,1� 6E
 L/�,,�� �,,� �,,,YE 500m(  u�,,,���6 1/10000   ��,,9v�  �,,�/��� 0��,,1� 6E�o,,2�"��    

 ) �,,�  ,,;E 500m (  _�� ST,,Q @&,,#   ,,
!��6 �,,���%�� �Q��,,�� �,,`��� ��,,��X�	� 
�6 �,,,�"�&���C�,,,z,,,$�n �,,,{ ��.��,,,
# �X�	� �$,,,��� �2�,,,�  ) 0)��,,,�� 6E (�,,,Y��� f 

  ,,# �,,�|}6  u6��,,��~2��o   ��B �2��,,# ��,,����� ��,,���� w�:� j�,,�  �,,.�&# ��
X,,5� �&,,���� @,,������  7  K�,,. �,,`�# � �,,�6D�,,�U*,,�� �,,Y��%��   (��,,QE <,,��

 G6�
,,�� 7 [!,,���   �$,,��� �,,� �o,,n:� �,,Y��� ��,,�!? ]�
,,Ha  ��,,��7,,�� l#  W,,.��
 ����!�� ����"��:   

• 8E  W�. +�2)�%. ���� ��� 8�52�8�2��� S�p.  

• 8E    @!2t��,,,,!�6 @!%��!�,,,,� �$,,,,��� �!
,,,,` 8�,,,,5# 7 �,,,,%$��. E�,,,,�2 �6C�,,,,&#� 
 ��� *�� @����  . ������ 7f ]��� r���� ��h�# �� ['����  �$���.  

• C 8E  ��B �$��� ^H��V 8�5#��2�I ����.  

• 8E 52�Y��� ��. +���` �$��� 8�u6���� .  

• C 8E 2 �,,,,� �&	,,,,d� L,,,,`��:� �%,,,,` �%|,,,,�� �,,,,���' 7 �,,,,Y���� 6E �,,,,n�|5�� ��B
5����� ��H 8�5�a� ��Y ���� �� DXYa�6 ����"�. 

 



  � ��� �

7.2         ��/��� �������� ��/��� �������� ��/��� �������� ��/��� ��������        

  ]�,,�� ^,,��!2    �,,�/��� 0��,,1� W,,�. ���,,�� 7   ��,,������ �,,� �,,.�%� ��,,�# 
 ,,������6 ��/�	,,Ua�    7 �,,�n�; �,,���t ���,,!
� �,,�/��� ��6P 8 m/�	,,? �,,n�"�  ST,,Q

0��,,1� 6�%�,,� C   8�,,2��� �,,%/�) ��,,9:�  7  s�,,cH �,,&Y���6���,,2� �,,$�n 87 6 �,,n�"�
# ��� ��h�����       �$��. k&!� *�� ��9:� S���   STQ   ��h,�#6 ���,��  ,�������  S�,�� 

7 K�6�,,1� ��,,9:�  +��,,V 0�6�,,`  ��,,���"�� hn�,,# (�,,=�,,�tX��  ��,,�_!� ���,,��
%�%	#6�$ .   �,H�; ��6       ,p���� �����,�� S�,���� >T,�!# ��,9:� �     ��,��:� �,�Q �,.

 \��|�� 8��6B6        ���3� 8�n 7 ��n��� S���� �P �n�`a��      K��!�,� h,' �,2T�!�� �,��"��
   ���,,�� s�,,2E DX,,? �,,$��. E�,,�# *,,�� ��h�!,,��6   f K�,,I�&� ��h,,�# �,,$�n��2� 6E G�,,
#�

�      l�U  �$��� f ]��� r���� w�
�         ��,����� ��,���� �,YX"�� ST,Q �,�|} �5q
 f j,,`�� �,,Q �,,%; �,,�H��� �5
,,��[,,Y�  (7-2)  ،@&,,2 0T,,�� r��,,�� ��h,,�#  j�,,�

   DX? �$��� f ]���    ����� �$IE 7 �n�"� 8: 4�B �5q 0T�� L%c.:� r����� 
�	,,,# 8Eb,,,��P  �$,,,��� f S�,,,���+��,,,V �2�6�,,,`   7��! �,,,2�*,,,�� �;�,,,�:� ]�,,,�� L,,,�&�2 

 �$�n ����.  

1 2 3 4 5 6 7 8 9 10 11 12
T

H ( m )

Months

1978
2

4

6

8

10

  
 �5
�� �5
�� �5
�� �5
��(7-2)        

  OCPE      �!��Z ���� �������� STQ 8 7  �� � LQh�!K       �,?� �P s�,. �,� 7  4,�B6   ^�,�



  � ��� �

�2T�# ��h�#��9:� 4�#  7 n ��!���6�8��9:� STQ 8�2�V s�cH ����)   <�Y) �5
�
^��!2  	/�	? �2��     �6�,�� �%52 ��Q6 7 +C6E �$�� ,$[    ��U��,�� D�,%.v�7  �,� 

 ��,,������ ]��,,VP DX,,?�,,�tX�� �,,2�6���  7!�@�,," 8�,,2��� �.�,,�  ��,,�� @�,,"#6���  
 �,,,�/��� 0��,,,1� G�,,,Y 76 4�T,,,;@�,,,"# ���,,,�����  KR,,,�%��  ���,,,����6 �,,,�%c.:�

�2��z:�6 �$�n ]��� j���  .����[��  �6 ������� �-���� ��`�"�0��1� ST� .   

7.2.1        C� @�"!��C� @�"!��C� @�"!��C� @�"!��L.�
#�L.�
#�L.�
#�L.�
#�:� G�Y ����� :� G�Y ����� :� G�Y ����� :� G�Y ����� 9999��������  

  �� ��,,`�"�� �-�,,��� [,,�� ^,,��!2  �,,�/��� 0��,,J%7   ��U��,,� ��,,���Y ]��,,VP 
 @�,,"!���,,�����      ,,1� G�,,Y ��,,�H �,,� (�,,; )�,,. >���� f� ,,U�!��� �,,Y�  ]�
,,Ha
 ��,,��7    �,,��Z L,,"V�� �2�,,� j�,,� �P ����,,��  )   �,,�&�� j�,,� 0�!�,,� ( @�,,"#6 

�   1� f S���� G�
#�>�   ��.   4�#������7    ��,������ STQ s�_!�#   �,
�!g w��,':  
���$�E :  

•  L`�"�� ����� [��. 

• U��� r��UL`�"�� ����� � . 

•   8�2��� �.�� u��Y.  

•  @�"#1� <n�# L/��� >� .  

�2 u���� G�
#�]�1� f  >�L`�"�� ����� ���H ��. � � �/��6 K�" �$�E �:  

 +C6E +C6E +C6E +C6E��������&�� �/����� ����&�� �/����� ����&�� �/����� ����&�� �/�����    

        t6�J!# C *�� ��%.:� ^���# *�� �/����� LQ 8 m  7���$�E  :    

•  4���� 4���� 4���� 4���� ��|�� ��|�� ��|�� ��|�� 

��|�� 4����         : ����? �� G��	� ��"� 4�� �. K��&. ��H�"�K��V  C# �ZA!
 C6 �,,��-����,,#7 E�	 6,,�  �,,���"� �����,,!� \�� 76 ,,!2�9 f �,,%�+X,,�Z b  +�&,,����. 

 s��_!,,�� �,,5q 4�T,;6   �,V���� ����Y�
,,�� K���,,��7b&
,,# *,,�� �h,,��  u�,,���
E%.� S���� � 7f �%; �5
�� [Y� (7-3).   



  � ��	 �

1

1

2

2
3

3

4m m m

m

  
 �5
�� �5
�� �5
�� �5
��(7-3)        

 +��H�Z +��H�Z +��H�Z +��H�Z������ �/����� �� �/����� �� �/����� �� �/����� K���!K���!K���!K���!   

�� �/�,,����K��,,�!  L,,Q     ,,. �,,2R# *,,�� ��,,%.:� ^,,���# *,,�� �/�,,����� 8 m  
 # [!,,,2 l,,,�U 7 ��,,,%.v� ��J�,,,�� KR$V:�,,,� W.�,,,#6@�,,," ��h,,,�# �,,,�� G�,,,
#�]�+�,,,���  

�6����%!,,� 7 4,,�B6� �   ��#�	,,�� ��,,n \��,,�:� s��_!,,� .   u�,,��� �,,�2���� ST,,Q j�	,,# 
                   [/�,. r��,Y W,�. KR,$V:� ST,Q �,`�# l,�U 7 ��,%.:� ��N 7    ��,n +�,V���E ��	,#6

 � ��#�z�    G�,��� S�p 7    0�,� �� �&�!,�    �,� �,#��� D  ST,Q   \��,�:�       ���,
�� ^�,� 7
     �6�,z �,c3 @� ��R�� 6� D�&�!,�    \��,�:�            �$,��� f ]�,�� <,%. b,�� �!�!�,26 .  [!,2

�/�,,!H ��J�,,#  �,,&|� �,,5� W,,�. (�,,
�� ��,,? ��6 W,,�. +�,,��� ��,,�������,,� t�,,$��  .
�6��!# ST= ��9:� ��%.E u���� ������ �Y���  ��2����@���    (5-15 cm) .  



  � ��� �

7.2.2            :� G�Y ����� 0�!��� @�"!��:� G�Y ����� 0�!��� @�"!��:� G�Y ����� 0�!��� @�"!��:� G�Y ����� 0�!��� @�"!��9999��������        

      ��,9v� ��`�"�� �-���� [��� 7     [%	,�� \�,!�      )�,"� 0�!�,�� @�,"!�� �P 
       f �"Y���� �$��� G�Y ���H ����5�:� U�!���  �7���n:� ��n���� r��U6    �$,���

�n�,,`a��� �� � @�,,"!�C L.�,,
#� ��,,���� ST,,� [!,,26 7��,,�2�- ��,,�!? � ^�,,� u�,,���
 �$��� w�. 7 L�2 �%; 4�B6:  

 +C6E +C6E +C6E +C6E���� �$��� *
` @� �n����  �$��� *
` @� �n����  �$��� *
` @� �n����  �$��� *
` @� �n���� t6�J!# Ct6�J!# Ct6�J!# Ct6�J!# C    100 m            
       f      �,&U �
,2 ���3� STQ   @!,�      w�:�,� @,�6��� �2h&,; �2�,#6 @,�   �5
,�
�,,�V  �$,,��� *
,,` W,,�. 7 6  �,,z�? ����,,I�� \��,,� �,,.�&!�� 8�,,52 l,,��   ST,,Q @,,�

 ����Ia�26��!� +�.   

4
2
0
.5
1

4
2
0
.6
7

4
2
1
.1
1

4
2
2
.0
7

4
2
3
.4
5

4
2
1
.5
2

4
2
2
.4
8

4
2
3
.3
3

4
2
4
.0
8

4
2
5
.6
2

4
2
7
.1
2

4
2
5
.7
5

4
2
5
.6
5

15 30 10 10 10 10 10 10 15 13 136Dist.

E
le
v
.

Max.Elev.

Min.Elev.

A B
m n

a

a

b

b
c

c

d

d e

e f

f

g

g

1 1

11

1
1

1
1

h

h

  
 �5
�� �5
�� �5
�� �5
��(7-4)        

 u�,,�#   �,,"Y���� ��,,���� @,,� �,,��n:� ��n��,,��   L,,`�"�� �,,���� W,,�. 
 � �P +�)��!,,�



  � ��� �

 �����# �TQ �&3�7 @&� �Q �%; W�. �5
��[Y�    (7-4) .  

 +��H�Z +��H�Z +��H�Z +��H�Z����     Kh&; �$��� *
` @� �n����  Kh&; �$��� *
` @� �n����  Kh&; �$��� *
` @� �n����  Kh&; �$��� *
` @� �n����         

  ���,,p �P �,,��3� ST,,Q f u�,,�$�� A,,J�2����!,,���,,��� � �-,,`�"���� @,,� 
*
`   �$��� 7��      �2���,�!� @	,?�I s��_!,� 7 ,2�����   �,��� �%$,���  .�6� s��_!,� 

    �.��� b�!� W�. �%� r��Y+�    7 >�,?E u�,�Y ���,�6 0E 6E m?�I S���6  l,�U    [!,2
        � W�. +���} S��� *�� ������� ��# �U �.���� b�V�#C K��,1� ����!�  7 ��T,H�6 

 ������ @�"# [!2��.�
#���&�� f ����&�� ��2����� +� (7.2.1).    

a b c d
e

f

a

b

c

d

e

f g h

M
N O P

C D

E  
 �5
�� �5
�� �5
�� �5
��(7-5)        

 ��E��  ���n:� ��n���� u��Y6 ������ ST� 0�!��� @�"!�� �VE �%�n�$���  
n       f �,%; �,��6)��# t�,$V s�_!��  �5
,�� [,Y� (7-5) .      �C�,3� i,"� @&,2 0T,��

��5%�� .   



  � ��� �

2��,,,� <,,,���� A,,,�d�    � ��,,,� W,,,�. m?�
,,,�� �,,,`6 f C  K���,,,1� ����!,,,�       
�  , 0.5 m)( 76� A�d� �TQ �� M�
_!� 7 8��:� K)�2t6 �Y���6  8E ��o,
2  �%"�� f

s�_!��� r����� 8�52���Y � +����6   +X��Z.  

<,,�"!#     �$,,��� L�,,���� w�"��,,� �$,,���"# )��,,�� ��,,���� @,,� �,,��n:� ���,,.�&!�� 
 @&� �Q �%;f  [Y� D6���(7-1) .  

                                                                                                                                             D6��� D6��� D6��� D6���(7-1)        

 +�|��Z +�|��Z +�|��Z +�|��Z����    Y Y Y Y  �6�!5�a� ��n���� ~/� �6�!5�a� ��n���� ~/� �6�!5�a� ��n���� ~/� �6�!5�a� ��n���� ~/�        

  �,,n�6 ��U��,,�� D�,,%.:� [,,JU �,,� DX,,Ya� �,,VE �,,� �2�,,�  D�,,%.:� ST,,Q �,,Y)
6�  ��	!?����R �QT�
�!� stX��  7 #Y s�_!��6�!5�a� ��n���� ~/� �,�H.    ST,Q f

   [!2 ��2������6 ���Z��Ua� ����"� ���H ���!?C   �$,��� *
` >�UP W�. �"Y�6 G�
#�
  # 8E ��o
26 W�. 8�5� �$��� L`�"�� ����� ����!�P �5�E 8 �$Y�n R;�%!��6 .

               �,�2 �,U +��,;�. S�,�� �,%�6 r��,Y f ~,�� �.��,� b,�V�# [!,2 4,�B �,"�
  W,�.�  ~;�,"�� �,,z� [!,,2 � 7 L,`�"�� �,,���� ����!,,�  7+�,,&��'6 ~/�,,��� �%"!�,,2 

�a   K��5!�� �������� �%�� �6�!5�  7   �,VE ��  n:� �n��,�� K]��,Y  �,��   �,� +�)�,.
 �����7 +K�I�&� t�$�� �I�I W�.+��cH 4�B6  ]��� f ~;�"�� ��&|# ���"	� .  

u�,,,,�#�,,,,n 6� �C,,,,.�
#���    \��,,,,� �,,,,&� D�,,,,z��� ~;�,,,,"��6 t�,,,,$�� @,,,,�            
 ) �V��� K���� 6E(7 u��Y �P �n�`a��  ���n:� ��n���� . @�"!� � ������ G�
#�

 K)�z���B 7Y� �5
�� [(7-6)  7 <&�H�YX"������!��   :  
           Hb = Ha + ∆Hab +  J – ( S + L )                                      (7.1)        

   l�UP8 :  

650>>>>        650        400        250        150        90        70        50        35        25        
L����� w�"��L����� w�"��L����� w�"��L����� w�"��    

�$����$����$����$���    (m)        

11        10        9        8        7        6        5        4        3        2        1        

50        40        30        20        10        8        6        4        3        2        
L����� �.�&!��L����� �.�&!��L����� �.�&!��L����� �.�&!��    

������ @������� @������� @������� @�    (m)        



  � ��� �

- Hb          ����$1� ������ G�
#� B .  

- Ha          �����"�� ������ G�
#� A .  

- J             �t�$�� G�
#�.   

- L             \���� �&3� D�-�    �$,��� G�,Y �,� +���,&!.7   # �,��H �,U6 |  �	,"��� b,!�& 
~;�"��  ����3�>�?E �P ���H �� h�!� �Q6 7 .   

          S-   ~;�"�� �	. D�- 7\���� �&3� �� b!�&|# ���H �� +���&!.�.   

- ∆Hab       � ��nC@!����� @� G�
#� A  6 B 7   W�. K]6������I�
 +K�I�&� �.  

A

B

J
H

∆
ab

S
+
L

m n

        
 �5
�� �5
�� �5
�� �5
��( 7-6 )  

  7.2.3 ��9:� f 8�2�J�� ������� �.���� u��Y  ��9:� f 8�2�J�� ������� �.���� u��Y  ��9:� f 8�2�J�� ������� �.���� u��Y  ��9:� f 8�2�J�� ������� �.���� u��Y   

             l,�U ���,���� 8�,2��� �.�,� �,2�� �,� �,�C ��,9:� <n�,# r��U �VE �� 
 �$�E �� ��- K�. w���� �T� s�_!�#:  

 +C6E +C6E +C6E +C6E���� �n������  �n������  �n������  �n������         

��  �,n���   	,,� ��&
,? �,"�Y �,,. K��,&.    G6T,,V �,� 6E (�,,�� ^
,d� �,� �.�� 
 f �%; �
�!g )�"�E6 D�5IE ��B6 �%_o�� ��JI:��5
��[Y�  (7-7)  .  



  � ��
 �

s�_!�# ��  �,n���            b��,� W,�. �,
�# l,�U 7 ]�,%�� �����,�� �.��,�� u�,���  
        �.��,,,�� r��,,,U �,,,5q K)�,,,� �n��,,,� �,,,��� stX,,,�� ��R,,,�� �,,,n�"� DX,,,? �,,,�6 

  �,,�6 7 ]�,,%�� �����,,�� J!�� ���,,5# DX,,?   ���,,�� �,,� +�)�,,. �,,�� �,,5q \�!�!,,�� 
  8�,,2�J�� ���,,���� �.��,,��*,,�� 7 06��,,# +�,,&2��# �P  0.85  �.��,,�� �,,�  �����,,��

]�%��.   

25-30 cm

5
 c
m

60
 c
m

20 cm

3 
cm

  
 �5
�� �5
�� �5
�� �5
��(7-7)        

,,��%. �,,�n���� s��,,V:� s�_!�,,#+� �,,5q C ���,,�. ��)E ��,,- s��_!,,�  �$,,�� 
 )�,,. ��,,������ K)�,,.P ^,,� �T,,�+�� �,,� 6 ���,,�� �,,� ���,,���� �,,%���� )�,,%!.   ��o,,
26

P       K���� ��?���� D��U:� f �������� ]��V 7    6E ��&	,�� ��.�� f6     l,�U ]��,��
        +���!�,� ]��� j��6 +�/)�Q ��� 8�52.       �,�2���� ST,Q f [!,2      L,`�. ��,� ]�
,HP

L��/� A-A      b,� @2t��� @2�H�Z �2�?� �2���6        �26��,!� �%$,��� ��n��,�� .  W%�,2
D6:� ��,, � B-B  ,,����E+� ��,,|�� ��,, �6    C-C ,,�
�?+� .     �,,; @,,� �n��,,�� T,,?e#

 l,,,�� �2�6�,,,J!� �2��,,,� �,,,$"��# ���,,,n���  f �,,,� �6��,,,!2 �,,,�t 30 �P 40 �,,,�H�Z  
�5
��[Y�  (7-8)  .  

  � ���,,�� �,,� +�)�,,.  �� �,,%���� �,,%!"#�,,����  ST,,� ��]��,,���7  ���,,5# [!,,26  u�,,�Y
   +�)�. ��R��   �,���� �Y) W�. D�	3� [!2 �U ����� ��  ��R,�� @�,"# f   f )6�,U 



  � ��� �

0.1 sec.  6 ���� �-��# �&Y��� 8�n �o2�"�� ��9:� �VEn���    K���,1� �6�, � �,� � 
 � [!,2�    �,��6)��!�� KR,$VE s��_!,� . P �,�E  8�,; �B    �,2R2 C �$,��� w�,.  W,�. 100 m  
,,n� 8  !� �2�,,#6 u�,,�� ���,,p K��;T,,�� �6�,, �  �$,,��� *
,,` W,,�. �2���,,� 7�
,,#6 

�%$���    �,V��� D�,&U       K)�,� �����,!� 7         �,"
#�� D�,&3� ST,Q 8�,5# 8E W,�.  +X�,�Y
��n]��� j��  .  

AB C

A
B C

LL

  
 �5
�� �5
�� �5
�� �5
��( 7-8 )        

 +��H�Z +��H�Z +��H�Z +��H�Z���� ��/��� ���� ��  ��/��� ���� ��  ��/��� ���� ��  ��/��� ���� ��         

       � ��6 L/���$; )��. b��. ^;�� rC6) �. K��&. ��/��� ���%��.�  ¡2� 
L/��� ���!�� �6�� hZA# �� �6�#6  ^���!#�� 8��6��� �.��  ���d� �.����

]��� 8�2�� L$n �T� 7  s�_!�#�]��� 8�2�V �.�� u��� ��9:� f DX? �� 
�n�"� ���� �� ���6) )�.  *���J�2�$L/���$5�� )��"��    ��/��� ���� �� s�_!�#

 S���� <n�# u���� +�o2E�2R# *�� ��/��� 0��1� f . �¢��n�#W� ^"5� �!� 
Y�%.E �2R#6 7 ��H�|�� f �U�6�$. W��
�. ��Y   ���� ��.6  ^� u����� ]��Va

�L/��� >�1� �� +��&�H [��!�� ]RV ���!?   �.���� u��# l�U f�; )�.( 
��%.E W�.6 L`�"�� ����� ���H �� �
�!g7�5
�� [Y�  (7-9)7!�# STQ s�_



  � ��� �

�������� a)�� �YX"�� ���6) )�.6 8�2�J�� ���d� �.���� @� ���# *�� 
��/��� ���� ��  ��!�� s�"�� �5
�� ��B �YX"��� :   

(7.2)      V = aK + b                                                                           

l�U8E :   

- V     8�2��� �.��K����  ,� m / sec.   

- K     ��H�|�� f ���6��� )�..   

 - a,b            ��,������6 ��,��"�� �,��"� DX,? �,� �,Q)��P �,5q �,���Z  �o,/�
�� 
�2�cH <n6 >��	�� ��"���!��  .  

BA a b c d e

  
�5
���5
���5
���5
��    (7-9)        

7.3        ����� f ��U���� D�%.:������ f ��U���� D�%.:������ f ��U���� D�%.:������ f ��U���� D�%.:�        

   �,,,,,"����� ��,,,,,�!?����� �,,,,,Y&,,,,,���,,,,,�� T,,,,,�
�!� � �7���,,,,,��"�� �P +�)��!,,,,,� 
�,,,,�&�� f K��;T,,,,�� (7.1.1) K�,,,,�
��6 (7.2)، � \�,,,,!  ���,,,,�� ST,,,,Q ��,,,,�£�P 

  u�,,,,��� �,,,,�n��'�&- ��,,,,��g  1/20006E  1/1000(    ST,,,,Q �%o,,,,!# 8E W,,,,�. 
 ,,
!�� �,,�N ��,,��_��X�	��6 �,,�"�&��� C u6��,,�� �,,Y�%�� ��.���,,z ��,,"��6  

�� ��,,���:�$ ,,� �,,%  �$,,��� �2�,,� D�,,U w�:� j��)  (�,,V� ���,,� � r��,,�� �,,ZE  
  @��,,��  ,,. ]�,,��� �  �$,,��� *
,,` G�,,
#�� �,,2��U ��
,,�� � ��,,&� �$�,,% .(  �,,�|}6

     �,.�&# ��B �2��,# ��,����� ��,���� w�:� j�,� ~2��o# (1-2 m) .    �,|� )��,.a
 �,,V���� �,,� �2�!�,,� �5&,,I ~�,,�A# �P \�,,!� ��,,��_�� ST,,Q ,,
�e� �,,"����� �,,� �
  �,,� r����,,� �,,¢�6�B �,,`�!# l,,�� 7 ��,,|�|�� �,,� ^,,���� )�,,.  �$,,��� *
,,` 76 f

    K��!�,��6 �,n��� �Y����7         �5
,� w�:� f +��,�V �,&O|#6     �,Q���� �%o,H .  u�,�#



  � ��� �

��U��,,,,� u�,,,,�Y KR$VA,,,,� �$.X,,,,`E6 ��,,,,|�|�� �,,,,2�6t �,,,,�N  ST,,,,Q ¤�,,,,"#6 7 �,,,,��Y)
        ��	,�� ��,"���!�� �,2�cH <n6 D��"#6 ��������  > 76  � �,�     ���Z��,UP W,�. D�	,3�

 ��,,|�|�� u6��,,� �,,�/�9 7  ��,,|�|�� ST,,Q M,,|5# �    l,,�U ��"�o,,�� �,,� �5&
,,�
         u6��,�� �,Y��� �U��,� L,��!� �$-��H Gt�#          �,n�|; 8�,5# 8E6 7 [c!,�� �5
,�

       j�,�� D�,%.E T�
�!� ��n�; ������ STQ     7 0�!�,��   �,�:� 4�T,;   �5&,I ~,�e#
��!�# �2��#�$-��H  �P �V���  u6���� �Y��� �%` K�n�!�� ����53� �2��!��  

  ,�6 �TQ^  @�,"#  ,�������  �,z����  )  ��"�o,�� u6�� (�X    T,�
�# f �,$��P )��!,�
����%.  � j���C   L.�,
#� .         [!,2 ��,��_�� ST,Q W,�. ���,!Y�      *,�� D�,�3� �,� )�,.  

     G6�
�� ��2�'6 (��QE <�� 7  �     6 +�,��n D�,�3� ST,Q ¡Y�,�#� ,!Y ��	,�� +�2)�	  �P
�  7 ��,,�� �,,Y�� �,,|�:� �,,3� ��,,�!?l,,�� �,,� �	,,YE ��,,�� D�,,- 8�,,52   �,,5q 

     ���%|�� L`��:�6 ������ ��.��R�� L`��:� ��Q �� DXYa�6      ��
,��� s�,Q ^�p6
�� ��,,�����$ 6E �,,2��%"�� 6E ��/�
,,Ha� �,,%���� ��B �,,%  �,,�¥��!�� .  O�,,3� �,,�&|# �,,"�

 �,,,Y�� L/�$,,,�����,,,��_�� W,,,�. ��,,,�� ��,,,�   �,,,�n��'�&���7W,,,�"2 +�R,,,�¦ +�,,,H��  
6 �,,%!"2 7 �	,,!_�� ��,,$�� �,,&Y �,,��E�,,&#   �,,�tX�� ��U��,,�� D�,,%.:�� K�,,I�&��
a\�!H  f��'�&��� ����_��    ) �2T�
�!�� D�%.:� s6R� (     b,�� �%�,� 0T,�� �2�
,��

u���{ ���� ���  ) 1/10006E  1/500(   7� �.�&#6 S���,�� �2��!�� ���? @ 
0.5 m .   ST,Q W,�.        ��n��,��6 ��,�� �,2�96 �,2��� �,2�� [!,2 ��,��_�� �,��n:�  

R,,;��� @,,�    ��
,,��� �,,Y��6 b,,� K�6�,,1�6 b,,� �,,����� ��
,,��� �,,2��6 R/�,,;���
�%.����  §-�
�� ) 8���V� �2)��!�+X|� ( 4�B h'6 . 

  7.3.1 �"�&��� W�. ����� ���p  �"�&��� W�. ����� ���p  �"�&��� W�. ����� ���p  �"�&��� W�. ����� ���p         

   ,p 8P �,�� ���� � u�,' �,,"2 ���6�,,Q ,������ �  7 �,,Y���6 �� �6�,�R/�,,;� 
 �,,Q)�"�E6 7 �,,�� �,,�Y�#6����/�RVE �,,$ �,,
�!_��   �,,"�&��� W,,�.+K�,,I�&� )�,,� l,,�U  

�@!,,��H u�,,�� ��,,�� S�,,p A  6 B  W,,�. 8�,,"�#���,, � �T,,Q ����!,,� 7 4,,�B6   �,,�
    ��_�� W�. �I�&�� u����� DX?��n��'�&��� �� ,' �z��"�  @#�,Q u�   @!,����� 

�      W,,�. �,,!&|�� ��"�o,,�� ��,,�H 6E l,,��|!�� ��,,�H �P +�)��!,,�    �¢��Z��,,U�� �,,�_��
   �,,"�&��� W,,�. K��,,1�6 �,,���"�� 7  �,,Y�� �,,� r����,,�    R/�,,;� ���,,J!�6 7 ��,,��



  � ��� �

@!��U @� R�¨ ��`�"�� �Q�6��6 �����.  

 +C6E +C6E +C6E +C6E���� Kh�z ���� ��!n 8�5# ����.  Kh�z ���� ��!n 8�5# ����.  Kh�z ���� ��!n 8�5# ����.  Kh�z ���� ��!n 8�5# ����.         

    �,n�; ���,p �,5q      K�,I�&�� ��,������ ]��V�,� R/�,;��� R,;���� +���,&!. 
  @!����� >�UP �� A  6E B          �,&U �
2 l�U 7 �$��� f�- W�. @#��1�  0BC�,n 

 \���,,,�  @!,,,����� @#�,,,Q @,,,�  7 � W,,,�. b,,,.�Y6 <Y�,,,26C����!,,,� AB ��,,,����  t�,,,$V
    @!����� >�UP ��n R;�%!� ���6)��# A  6E B   ��n�,��� ������6 ��"��  @� �,�

 R/�,,;���7 u�,,�#   R/�,,;��� ST,,Q R,,;���  7  DX,,? �,,�  ��,,�X. 6E ����,,IP �,,`6 
 �2���� ST� ���	2 ©
? ��V W�. �z�?.  

       ��,�� R/�,;�� ��,`�"�� �6� � ���p��   6E �,��6)��# t�,$V s��_!,�   l,�|�
 L/�`>�?E ����6 �2E 6E.    

 +��H�Z +��H�Z +��H�Z +��H�Z���� Kh&; ���� ��!n 8�5# ����.  Kh&; ���� ��!n 8�5# ����.  Kh&; ���� ��!n 8�5# ����.  Kh&; ���� ��!n 8�5# ����.         

 f ]�,,J��� �,,5q �5&,,I ~,,�e# l,,�U l,,��|!�� ��,,��%. �P �,,��3� ST,,Q  �,,�
 �,,,,��"�� ���Z��,,,,Ua� �,,,,�N �P ����,,,,�� ��,,,,|�|��7 ���Z��,,,,UP �,,,,�N �P 6E    �,,,,���

                 @�5,I 6E )�,
�� L.�,�� �5,I �,� +�,&��' �5&
,�� ST,Q M�A!#6    @�.�,�� �5
,�� 
(7-10)  l,,����,,, � 8�,,,52  AB  7�5
,,,�� GX,,,`E �,,,UE )�,,,
��� L.�,,,����7  6E 
o�� @�.����� @�5
�� @� ��!
�� ��.  

A

B B

A

  
�5
���5
���5
���5
��(7-10)         



  � ��	 �

 [!,,,2���,,,�!?      �,,,�n��'�&���6 �,,,�H�5�� �6�
,,,�� ^�,,,� �,,,�.����� D�5,,,I:�
�,,5�6 �,,VE �,,� �,,%c!�� b&,,I �,,�.��� D�5,,IE W,,�. D�	,,3�7  �,,�. �,,�6� � ^,,� 

� ��,,�!? u6��D�5,,I:� ST,,Q �!# l,,�� �$,,��� *
,,` W,,�. �,,�V ^,,�#�!� �,,` . u�,,�#
�,,�N       �,,2�6R�� u�,,�#6 7 �6�,,!5�a� ��n��,,�� ~/�,,Y ��,,���� ��,,�Y:�6 GX,,`:� 

  <,,,,�Y) �,,,,��6)��# t�,,,,$V s��_!,,,,��� 7   �,,,,2�6R�� u�,,,,�Y ��,,,,- >�,,,,UP <,,,,�&�!� 4,,,,�B6 
     �U��,�� r�,!; f �U6�
��  )٣(    7     7 �,Y:� W,�. �,�X� ���A,�6    D�,"# � �,�6

       ,"���!�� �,2�cH <,n6 �������� STQ   ̂ �,�6 >��	,�� ��     u6��,� �,�/�$��� ���Z��,Ua�
 D�5I:� STQ.        

  ���J!�  ���H   R/�,;� R,;���  �,�� �7 �   �,�2�- s�_!�,# �� �-�,�!   )  �-�,�#
��Q�pC� (  � 4�B6�     ���Y) ���6)��# KR$VE  s��_!� .     �,���"�� ��n��,�� ��,����
   ������ @�A      ���� R/�;� R;���6P1  6 P2   *�� ��������6 VE�2�  ���!�H 

�2�6R�� r��U  α16  α2 7 β1 6  β1 �5
��[Y�   (7-11) .   

A B

C
D

1
2 3

4

5
6

7
8

1

2

1
2

1 2P P

α

α

β β

L LL L1 2L

  
 �5
�� �5
�� �5
�� �5
��(7-11)  

  



  � ��� �

     ������ ��n ���6)��# t�$V R�;�# [!2 A    � �2��,!��6�     �,�X. S�,p )  ���,� (
 ��n �.�`�� ������ B            �$,��� �,� �,������ �
o,�� W,�. )    ~5"��,� 6E (   R,�;�#6 7

t�,,,$V �,,,��6)��#�,,,?� �,,,����� ��,,,n  C  )+X|,,,� (� �2��,,,!��6�R/�,,,;��� R,,,;��� S�,,,p 
 �� �2��
!�� ����, � �2�6R��  α16 α2    ��,���� �,�n����  P16 P2  . ��,!���6   @"!,#

    ���$1� R/�;��� R;���   DX? ��  T,Q �-�,�#2� �C Q�,p@ . <�Y�,!�    ���,p ��,z
   R/�;��� STQ 7    !2 l��Z ���6)��# t�$V s�_!�2 ��n R;�%  �,����� D  �6�  s��_!,�

R���6  @!2��� �  @! β1 6 β2       <n6 b�V�!�� ���!�H� S�,p  R,;���� P1 6 P2  .P 8
� �-��# �z�UC L�"2 �ZX|�� ��Q�p��r����� �Y� .  

8�,,n 8�,,�.��� 8X5,,I §
,,HE6 Kh&,,; ��,,�� �,,�!n �,,H�; �BP �,,�E � s��_!,,�
  !� �2�,,?� �,,��6)��# 0t�,,$V% �H ��,,n �2R,,;�   ��,,|�� L.�,,���� �,,� @!,,�    bHA,,I �,,�

  ;E �Y�� R/�;��� R;��� ���p.  

7.3.2        � ��n @�"#� ��n @�"#� ��n @�"#� ��n @�"#CCCC �9 *
` W�. 8�"�# @!��H @� G�
#� �9 *
` W�. 8�"�# @!��H @� G�
#� �9 *
` W�. 8�"�# @!��H @� G�
#� �9 *
` W�. 8�"�# @!��H @� G�
#�        

          �,��� <,n6 ���,�� �,z��. T,�
�# \�!�����  	,!�� %�%  �� 7P  @�,"# � �  G�,
#�
  0)��,�� 6E �$��� f�- W�. ��# *�� ��"V��� ������ �� )�.  7  ,&2����6   �,Y�� �,� �

��,,�� . M	,,!�� �,,�. �2��,,!�� t�,,$V R,,�;�# ���"	,,� +��,,cH6   @!,,��H @,,� �n��,,��
 @!����!� �$��� f�- W�. �P ]�J��� �� ��C 7���2�- s��_!�  ~;�"!�� �z���

� ��n r��3 ��#�|�|�� �2��!�� ��2�- 6EC@� G�
#�  @!����� @#�Q. 

 +C6E +C6E +C6E +C6E���� ~;�"!�� �z��� ��2�-  ~;�"!�� �z��� ��2�-  ~;�"!�� �z��� ��2�-  ~;�"!�� �z��� ��2�-         

  �,,# ���,,�. �,,�2���� ST,,Q s�_! C �$,,��� 6E 0)��,,�� w�,,. 8�,,52 +�h&,,;l,,�U  
    �Y��� f �2��!�� t�$V R�;�# [!2 1 �5
��[Y�  (7-12)  76  �&,` �,"�   b,#���&/t

   ��
�d� K]����� T?e# +���V a1  ������ ��n +����Y�I �!&|�� �h�� W�. A  7 K]����� 6
�,,����:� b1 +����Y�,,I �,,!&|�� �h,,�� W,,�.�,,����� ��,,n  B  8�,,5�n  ��,,nC� @,,� G�,,
#�
@!����� A  6 B +�26��� :  
 (7.3)    ∆H1 = R1 – V1 = a1 – b1                                                 

                 SR,�;�# �,"�6 7 0)��,�� 6E �$,��� �,� ��,|�� (�,��� �P �2��!�� t�$V ���2 �   +��,�V



  � ��� �

 ������ ��n 2.    
�d� K]����� T?e#�� a2         ��,n +����Y�,I �,!&|�� �h,�� W�.  �,����� A  
 �����:� K]����� T?e#6 b2      �,����� ��,n +����Y�,I �,!&|�� �h,�� W�. B    ��,n 8�,5�n

�C@!����� @� G�
#� A 6 B +�26���:  
  

 (7.4)          ∆H2 = R2 – V2 = a2 – b2                                                                      
� ��n L��6 ^��C ����!�� �YX"��� G�
#�:  

 (7.5)                        
2

)b-a()b-a(

2

H∆H∆
H∆

221121 +
=

+
=   

 8�52 ��!���6������� G�
#� B  +�26���:  
(7.6)                                           Hb = Ha + ∆H                             

1A

2 B

R1

V1

  
 �5
�� �5
�� �5
�� �5
��(7-12)  

        � ��,n u��Y ��. ���Y) �/�!H W�. D�	���C   @!,����� @,� G�,
#� A 6B   ^,�
 � �,,n�; T,,?EC       �,,� DX,,Ya� �9A,,I �,,� *,,�� h���,,!��6 ��,,-��!U�r�,,5#�  ]�,,�?:�

          @� �n���� �2R#C 8E ^� 0E 7 ����c��� ]��?:� (TU6 ��/��
"��     R,�;�# �,��H
t�$�� 1 ������6 A .W�    @,� �n��,�� 4�T,;6 7 ��!�E ��ª      ��,n �,&|�� t�,$��



  � 
�� �

������ 2 ������6 B   7 2 C 8E6 ��� G�
#�  �,. �,z��� �?      ]�,�� j�,� ��,n �2�,!��  
  �2�
,,�� �,,3� ]�,,�ZE �,,z��� ��,,��%. �,,. M,,Y�!��6   8E6 7 �,,2���� ��,,2��� r�,,&Q �,,�.6

� ��n u��2C@!����� @� G�
#� A  6B   �,�   � �,2�V (6�,�  �=�
,!6 7  ��,�!�2 
�      �,,� +C�,,� �2��,,# 0t�,,$V s��_!,,�� s��_!,,�     �,,U�6 �2��,,# t�,,$V7   8�,,5# 8E W,,�. 

 �%$,,!Y)�,,����!�.   8P�  �,,z��� �,,�2�- s��_!,,�      A,,�? (T,,U �9A,,I �,,� ~;�,,"!��
      KR$V:� f S)�V6 D�U f ��Y�
�� b�V�!��     �,. �#���� A�d� (TU6 7 ���_!���

�6 w�:� j�� ]�����"I:� ���5H.   

 +��H�Z +��H�Z +��H�Z +��H�Z���� ��#�|�|�� �2��!�� ��2�-  ��#�|�|�� �2��!�� ��2�-  ��#�|�|�� �2��!�� ��2�-  ��#�|�|�� �2��!�� ��2�-         

     +�h&,,; �$,,��� 6E 0)��,,�� w�,,. 8�,,52 ���,,�. �,,�2���� ST,,Q s�_!�,,#  �,,"�6 
R;�%!�� ��V �5
������� ��n �Y��� ��. ���6)��# t�$V ������ A.   

         �,����� ��,n +����Y�,I �,!&|�� �h�� W�. K]����� T?e# B 7  f �,%;  �5
,�� 
[,,,,Y� (7.13) 7�� K]��,,,,Y 6 ����Y�
,,,,�� �,,,,26�R γ   �,,,,z��� �,,,,? @,,,,� �,,,,�/�5��  <,,,,n:�6   

� ��n 8�526C@!����� @� G�
#� A  6 B  +�26���:        
 (7.6)   ∆H1 = D tan γ1 + J1 – S1                                                     

A

B
J

S

H∆

D

ι

a b

D . t g i

  
   �5
�� �5
�� �5
�� �5
��( 7-13 )  

l�U P8:   

- J        �
#������� ��n t�$�� G� A.   

-  D       @!����� @� ���n:� �n���� A  6 B .  



  � 
�� �

-  S1       ����Y�
�� �h�� W�. K]�����.   

- γ1        �26�R��  �c��� �? @� K��	 � ����Y�
��6L�n:� 0�!���.   

  �    0)���� 6E �$��� �� ��|�� (���� �P ���6)��!�� t�$V ���2 7�# �"�6 SR,�;   ��,n
������ B  7 K]����� T?e# S2           �,����� ��,n +����Y�,I �,!&|�� �h,�� W�. A  7    K]��,Y 6

 ����Y�
�� �26�R�� γ2        � �,z��� �,? @,� ��/�5���   �,����� S�,p A   <,n:�6  7  8�,526
� ��nC@!����� @� G�
#� A  6 B  +�26���:  
(7.7)   ∆H2 = D tan γ2 + J2 – S2                                                  

  �,,�2���� ST,,=     � L,,Y�n W,,�. D�	,,3� [!,,2C G�,,
#� ∆H1  6  ∆H2  @#��,,I�� 
 @!�;�"!� 7� ��n 8�n ��!���6CL����� G�
#� ∆H  06��2:  

 (7.8)                                                             
2

H∆H∆
H∆

21 +
=  

 b��6:  

(7.9)                  )
2

S-S
(-)

2

J-J
()

2

γtan-γtan
(DH∆

212121
+=  

 � ��,,n K��,IP 8PC�,,� L,,Q �,,YX"�� ST,,Q f G�,,
#� K��,,IP ∆H1 ��,,!���6  �,,5q
 r��U������� G�
#� B  7L�2 �%;:   
(7.10)                                            Hb = Ha + ∆H                        

    ^,,� �,,��Y) �/�,,!H W,,�. D�	,,���� B�,,£� ~,,
HC  K��;T,,�� h���,,!��6 ��,,-��!U  f
   �6:� ��2���� .    ��,3� �,Y��� f ����5!�� �z��� ���  ������ ��
!H«� +��cH

 b,H�n  �,5q �    KR,$V:� ST,Q s��_!,�  ,3 � ��,n r��C    W,,�. 8�,"�# @!,��H @,� G�,
#� 
  )�6 6E �,,,9 �,,,� @���,,,�!� @n�,,,-  7 �.��,,,� �o,,,nE �,,,Y)6 Kh&,,,; T,,,?e#  8E W,,,�. 7 

�C  �,,,�tX�� ��,,-��!U 7 � �,,,VE �,,,� 4,,�B6  W,,,�. ��/��
,,,"�� ]�,,�?:� hZA,,,# �,,,� DX,,Ya 
 ����������V6 8P ����c��� ]��?:� (TU6   .  

 7.4    ��
H:� ��
H:� ��
H:� ��
H:�         

�� �� ��
H:�  !"#��� ������� ��
$ *�� �%#()�	  +�&��'�%` ��5&I 
 8��� �?�) 6�!�� ���?6 7 �2�2�3� ���d� ��5&I6 �����.   



  � 
�
 �

  8P     ��
H:� ]��� �� �2����t��!V�    ]�
,HP ��,�
H �H�; �BP �%�n �o2�"�� ��9:� 
   �$Y�n ������
�5�       �'�&���6 �,�H�5��6 �,���%�� �6�
,�� �,H�; �BP 6E 7 �  �,�n

     4�B w�
# G6�
�� �Y�� . +�o2E6� � M���,5# 8�5# ����. D�&�� t��!VC  (�,
!�
  T�
�!�� ]��ZE ���U 7 ��R�� �6�� �� 6E 6E 7 �"
#��8�5#     �,��� h,' �6�,�� �6�,I 

6�   ¬6�U D�%!U� 6 �����9�              �,�2�- ���,!
� <,2���� �X,'P �,�­ +�,%/�) �T,�# ��YCRH

��  �5(7-14)  .   �5q 4�T;�          >�,?E ����,?6 w��,': +�o,2E ��,
H:� s��_!� 

 �.��!� 76�%�� C > 5�� 8��� f .  

C

D

A B

Sec . C-D

 �5
�� �5
�� �5
�� �5
��(7-14)        

O
�#  �5I W�. �
� l�U 7 8��� f �o2�"�� G���
�� ��6 K)�. ��
H:� T
   � �,�.6 7 �,U�!
� �)�,�?C       DR,,"�� D�,%.E6 ��/�
,Ha� D�,%.:� M,�!g T,,�
�# �,� ]�$,!H

L/�,,��7  >�,,?:� �,,�H��� D�,,%.:�6  7,,2  �,,U�6 �,,Y6 f b,,�&H�V �,,� <,,
��� s)�  4,,�B6
    0E D�	U ^�J!��  �CRH 7   0E 6E�  ��2RH �5��� f    �P <,
��� L/�
,Ha�     K�,U�6 �,$V

  f �,%;�5
,,�� [,Y�   (7-15)7   0T,,��@&,,2    <,,
��� +�,�VB�¨ +��,,`�. +�,"��� 7 �,,"�
�2�%3� 8���V6 ��H�!�&�� D�%.:� T�
�#  <
��� L/��� DR"�� D�%.E6.  



  � 
�� �

     ��,���E �� r�����6 ���o�� G���
�� ��6 ��
H:� ������ �6�� D�U f6   ��,&��
5�,,����,,����� ��
,,���6 ��� 7 ^,,J�n �� B�,,£C�,,�n�5�� ��,,-��!U  �,,�? ^,,�J!�

 0E ¬6�U� 6E ���9�[�.�!� 4�B6 7 �����:� ST� �CRH  �)��_�� ��&H��� 8�����   

  
 �5
�� �5
�� �5
�� �5
��(7-15)        

         <,
��� [�,� ��/�
,Ha� D�,%.:� T�
�!� G���a�6       �,� �,
�e� ]�R,VE �5,I W,�.  �,�Y 
 Kh	,,,,Y 7 D�,,,,z��� �,,,,U K�,,,,I�&� s)�,,,,# l,,,,�U  � �,,,,�6 7 r�,,,,���� r��,,,,��� �P

� K�I�&��A D�%. ��2�
3� ��tX��T�
�!�  ��!�� ]R�� 7 �T5Q6…  

7.4.1         ������� ��
H:� ������� ��
H:� ������� ��
H:� ������� ��
H:�        

  ��,,�£ \�,,!� C ���,,p6.6 �6�,,�   �����,,�� ��,,
H:� �,,z��7  D�,,%.E �P
   K��"� ��U��� 7       ,� ��"�o,� ]�
,H�� W,
!526K)6�
        <,
��� ���,� L;�,�   @�A,!�

  +���nE �����:� S�z��. u�'7 ]�
,HP 4�T;6        <,
��� ���,� �2��,# �2��,# �����,� 
    KR,,,,�%�� S�,,,,z��. u�,,,,' @�A,,,,!�� +�,,,,�.�
#�.     �2�!�,,,,�� ��U��,,,,�� D�,,,,%.:� T,,,,
�#

�6C �,,�.�
#�7  f �U6�
,,�� ~,,�:� <,,n6   4�T,,;6 r�,,!5�� �T,,Q �,,� D6:� �	,,
��
��� STQ �Y) �o£�P �����  f K��;T�� �.�����6 �6�
�� 4�B�	
��  .  



  � 
�� �

7.4.2             ���%"�� ��
H:� ���£ ���%"�� ��
H:� ���£ ���%"�� ��
H:� ���£ ���%"�� ��
H:� ���£        

,�� �$Y�%.E �t6�p �BP ���%. ��
H:�  !"# 20 m 7  ��,
H:�� W%�#6   �,�2����
,�� �¢����� D��-E �t6�p �BP ���%"��6 500 m .  

  s�_!�,,#��,,
H:� ST,,Q  +�,,&��'C  �o,,2�"�� ��,,9:� t�,,�!V 7E  �,,��&�� ��X�,,��6
��2����6�!� ]��� ��.6 7   ���"�� ��U���� ��6 G���
�� ��6 �} 8��� f ��
H:�

 �� +�H��UE6   �,�n�; ��%.E W�. 8�5# 8E ^� ���3� STQ f6 7 ���5��� ����:� 
���C6          �,55
� 6E �
�",` ���!�� �H�; �BP �z�?6 <
��� M��6 8���V [�.�# ��  

� ^�J!� 4�B6C9 �¯V�
�� ¬)��3�6 ����� .  

       l,,�U �,,� +�h|,,; M,,�!£ C ��,,
H:� ��,,�_!� �,,�tX�� ��U��,,�� D�,,%.:� 8P
         ]��VP �� ���C BP 7 �Xz���� ��5&I ���_!� ������� D�%.:� 4�# �. E�&��

   �,,,N6 ����,,,I GX�!,,,�� ��,,,��%.�� ��,,,���":�    �����,,,�� �,,,� )�,,,. �,,,2��!� �,,,��6
��5%��7 6 ��� ���!?��2�' <�� 0T�� �$��� �� �on:� ��� G6�
�� (��QE6 .  

        6E �,,����� �%,,` K�n�,,!�� �,,2R2)���� ��,,���� �,,. ¡�,,!
!�� ��,,��%. E�,,&#  
            ��2E� �%; ������ STQ M�|5#6 7 �¢���"� ��z �� �;A!��6 �$�� �&2����  +�����

 ©�# *�� �&����� �n�|5�� �P D�z��� �U����_!�� ��V��!U 2�'6 T�
�!�� ��.  

    �,%n 7 +X�,,�Y K�n�,!�� �,,2R2)���� ��,,���� )�,. 8�,,; �BP �,�E   ]�
,,HP �o,,n:�
      �5,,I T,,?A# 8E W,,�.  �&,,���� �,,V�) �,,�6 �2�!�,,� l,,��|# �5&,,I    ��,,!��� ���,,��

      �5
,,� ��,,"
#��� W,,�. �5&
,,�� ST,,Q ��,,�H u�,,�# l,,�U ��� �%o,,2]  <,,��6 �,,Q
2����� 7 K�6�J!�� ������ �� )�"� ��)�&!�� �`�#6  �� Mz6 ��Y��� .  

      l,,�� ��"�o,,�� ���5&
,,� l,,��|!�� �5&,,I M,,�|5# [!,,2   �,,¢�6�B �,,`�!#
 P  <,,
��� ���,,� �P �,,5q �,,� r�,,YE8w�:� �,,�n��'�&- �,,�°   4�T,,� . �,,Q �,,%;

 j`���5
��� (7-16).   

� ^,,,�C 8E �P S�,,,&!H� �5
,,,� �,,,�n <,,,�"!2 C <,,,
��� ^,,,����� ���,,,�� ��,,,�!?
 ��o,,!�� �,,"�&-6 w�:�    ^,,"�# �,,Qh'6 �,,�V��6���Q6 �,,�V����V r�&,,�E ��,,�Q6 7 ~2

 +��6) +�o2E�$ +�% . �on:� ����� �2�� f.   



  � 
�� �

��     �5%�,,n +�,,��? +X5,,I T,,?A# ��,,
H:� �����,,� 8E ��,,&!.�  �5&,,I D��&!,,�
l,,��|!��7         ��,,Y <,,
��� ���,,� �,,� r����,,� �,,¢�6�B �,,`�!# K)6�
,,� ��"�o,,� ]�
,,H�� 

    �� STQ �o£ 8E W�. 7 8�5�a�    �,� �o,£ *,�� �.�����6 �6�
�� ~
�� ��"�o
  ��n��,,�� u�,,�Y �,,.��Y6 GX,,`:� D��,,-E l,,�U �,,� l,,��|!�� �5&,,I  8E6 7 �,,2�6R��6

            �%,,` �,,&#�� �,,Y:� ��"�o,,�� �,,� )�,,"� �,,$
�|5# [!,,26 7 �,,Y��� ~,,
H �,,� 8�,,52
     <
���,,� �,,����� ��,,����� ��
,,��� �,,Y��� D�,,U6 ���,,�� �6�,,� ��,,!��� �2�
,,�� .

u��#��� �%o2 �5
� �&|#6 ������ STQ ] �� Mz6 ��Y��� �`�#6 �Q.  

A

B

  
 �5
�� �5
�� �5
�� �5
��(7-16)        

       0�!�,�� @�,"!��6 L��	
!�� j��� D�%.E T
�# �6C     �,�"�&��� ��,"%�� L.�,
#�
�6C     ��!��� �2�
�� �%` ��.���z      f �U6�
,�� ~,�:�6 ^���,�:�6 ��,��� <n6

 D6:� �	
��.  

[!,,2\�,,!HP    Kh�,,z ~�2�,,�{ �,,�n��'�&- ��,,��g  )1/10000 - 1/5000                      (
       ^��6 �2��!�� ���? @� ^���� �.�&#6 � K�I �&|2 7 w�:� j�� ����  ����

   ��,,��_�� ST,,Q W,,�. <,,
��� 7    E�,,&# � �,,�6 �,,"�&��� W,,�. b,,#�6�B u�,,�#6  ��,,��%.
 a �,,,,,,�tX�� L��	,,,,,,
!�� j�,,,,,,��\�,,,,,,!H�,,,,,,��g  Kh&,,,,,,; ~�2�,,,,,,�{ �,,,,,,�n��'�&- �      



  � 
�� �

)1/1000 – 1/2000 ( 7  �,,� �2��,,!�� ��,,�? @,,� �,,.�&#6 1 m �P 2 m 4,,�B6 
�X     ��,���� �,�� [!,2 � �,�6 7 �2T�
�# w��': ����_�� STQ �� K)�
!�   KR,�%��

�� ��"�o�� ���H 6E l��|!�� ���H ���/��U�� <
��� ���� ���V� ����� r�Y K).  
7.4.3 b�V�#  b�V�#  b�V�#  b�V�#  +���nE ��
H:� +���nE ��
H:� +���nE ��
H:� +���nE ��
H:�        

  +�,,,,��nE <,,,,
��� ���,,,,� b,,,,�V�# 8P 7 �,,,,"V �,,,,"2�  �%��!�,,,,�� b,,,,/�RVE ��,,,,Q�p
      � <,n6 w�:� j�� �� �������6C   	,!�� ��,Q�p%�%    0E  w�:� j�,� ��,n �,� ��

    � ��%��� ~
H �� 8�52 8EC �2��&!. .f <
��� ���� b�V�!� ����� �� )�. ���Q 
  � L�n:� 0�!����  :� M�!g s��_!�   ��U���� KR$V .    L�2 �%�n ���&��   >�,UP  ��,-

  +���nE ����� b�V�# 7 m_�!#6  <
��� ���� �� @!���� 0)�%"�� ����a� DX? ��
       �,,Y) ��B6 K�,,�"� ��R,,�$p �P \�,,!� C6 <,,�&�!�� ��$,,� �,,�2���� ST,,Q  ,,!"# l,,�U

         K��V ��&2�p �/�!H ��.E �9E �%; 7 ��n�; .     �,�2���� ST,Q E�,&� �%!"2 �5
,�� 
(7-17)  L�2�� W�.:  

��n <
��� ���� �� �� ���H ��n R;�%!�� [!2 ���6)��# t�$V ������  j��
  w�:� 7         �	,?�I W,�. �2��,!�� � ��6 )   ���,� (     �,�H�Z �,��H ��,n �,�#     ���,�� �,�
 8�,,5!n� 0�!�,,�� f �,,"Y�6 <,,
��� �,,� ]R,,�� �T,,Q ����!,,�  b��,,q 0T,,�� ��Y�
,,��

   � K��c�� L/�o�� �� �   [!,2 4�B �"� 7 ���6)��!�       �,¯� ��,n @!,"Y�6 @#�,5� 4,2��
      �%$,,�� �,,; �,,� ��,,!26 7 �,,2���� ST,,� K��,,
�      +X,,�Z b,,!2�9 f �,,%� ��,,"� 4�,,�

 +�&,,,���� . W,,,�. 8�5��,,,�� 8�T,,,Q �,,,�2 �,,,U �K�,,,U�6 ����!,,,�  )�C����!,,,� - Π І ( 
 ���6)��!�� ������ K��1� .  

4�B ��. �26 ��V �5
� 8�#�5&�� �&|# <
��� �?�) �P ���6)��!�� t�$V ��
6E �� �,,,�ZXZ �,,,� +����,,,2 6E +�,,,��q b,,,52�� [!,,,2 l,,,�U �,,,?� �,,,��6)��# t�,,,$V s��_!,,,� 

  �V�:� 7     ©2��# �5
� [5�%�� ��Y�
�� �d� �� 8�5���� <&��2 �U    �,&|#
       �,&|#6 K�,.���� W,�. t�,$�� ��&|# L'�� ��6 +���V �V�:� ��ZXZ    �,��n:� �,;�3�

z�d�        ����Y�
,�� �,;�3� ���6 ���"��6 �    K��,c��� �26�,!�6     L,�n:� �,Q��� D�,U 
���,,�{ 200 gr  7 j&	,,2�  L/�o,,�� ��,, � S�,,p^�,,�6 �5
,,�� (7-17) ��S�,,p 

  ���,,�� �,,� >�,,?E �,,��H u�,,�# �Q�,,�. 7 <,,
��� ���,,�   �,,%� �.��,,� b,,�V�!� 4,,�B6



  � 
�	 �

       �d� �� <&��2 �U +�	?�I 6E ��%�� ��?   [,5�%�� ��Y�
��    8�,52 4�T,�6 7  
� ��HC�P w�:� j�� ��n �� ����!�  <�� �Y <
��� �?�) . t�$�� �`6 �5q

 <,,
��� �,,� �,,������ �,,$�� f  ��T,,H�6   L,,�n:� �,,Q��� D�,,U K��,,c��� �26�,,!� s6R,,� C 
� �,,¨P6C0T,,�� S�,,p � �,,Q 8�5��,,�� b"�	,,2C  <,,
��� ���,,� �,,I�&�� S�,,p . 4,,�B �,,"�

 u��$�� ���!2    u�,�Y        ��,�H6 KR,�%�� ��,���� ���Z��,UP r��,U6 �,2�6R��6 ��n��,��
�C(��"H  ��U���� ����%"�� 8E �� �%;� <
��� �?�) �P w�:� j�� �� ���!H .  

A

B

1 2O O

  
 �5
�� �5
�� �5
�� �5
��(7-17)        

           	,!�� ���,�� <n6 ��H��� D�%.:� s��# ��z �� <��!�� �5q%�%  <,
��� L 
� A,,�? �&,,`6C��,,� ��,,���� �X':�,,� G�,,Y��� ^,,�p6 ���,,�� �T,,Q �,,. (  ���,,5#
  ��� b,�V�# �,��%.     K)�,� ��n��,� DX,? 7 +�,��nE <,
)  �,; 500 m (   <,�"!# �¢��,.�&#

              �,5q 6E 7 S�,z��. ���,p f �,������ �,Y����6 <
��� ���A�       ���,�P6 ��,�E �,
U
 �Y:� W�. <
��� �?�) �P K�U�6 ���H7STQ 8�5!n   K��&. ������ �&` ���H �.



  � 
�� �

 ��U���� ����%"�� .����� ���±� STQ W%�#  ��U���� �&Y����.  

           �,��6)��!�� t�,$V �,Y�� h&,; �5
,� 7 �,�2���� ST,= <
��� b�V�# �Y) <�"!# 
      �,� DX,Y«�6 7 �,�H�"�� �X,�:� rT,�T# �����6 7 �z���� K ?6 s�_!���   �,%�Y

8E �o
2 �X�:� STQ rT�T# �. �#���� A�d��� �.��	� 8�5#   ��H�"� �/X?
      ���,,�� 8�,,52 l,,�� �$,,�� �,,; �,,2�9 f �,,�Z <,,��"#6 7 K�,,�V    4��,,�� �,,�Y6 �,,�|��

      D6���6 7 <
��� <%. �� +�)�- @&���!�[Y� (6-1) j`�2 4���� ��Y @� �YX"�� 
 <�"�� ��|��6 <%"��6.  

             D6��� D6��� D6��� D6���(6-1)        

  

  

  

  

  

  

  

  

�� 6 Kh	,,Y 8�,,5# �,,� +�,,&��' <,,
��� �,,?�) ��n��,,�� 8E ��,,&!.�%�,,� C D�,,U f 
)�V6 ����
�"   � hZA# 8�n     6 +�h&; 8�5�� �26�R�� ]��?:�%�� C  R,;�%!�� A,�?  

       �Y) f +�h&; +��6) ^"�2 0T��  u��YC ]��?:� STQ �� M�
_!��6 7 �2�6R��  L
52
 �,,�n� ^,,� �,,¨P6 �,,Y��� �,,���. KR,,$VE s��_!,,��� �,,n�; B�,,£C��,,-��!U �,,�5%��  

     ����Y�,,,,I �&,,,,`6 <�Y�,,,,�� R,,,,;�%!��6 ��,,,,������ ���,,,,5# DX,,,,? �,,,,� m?��
,,,,�� 
        �6  m?��
�� STQ W�. <�Y��� �2��!��6 7 K)�z���Cs�%!Q       ���,|�� ]�R,VE �2�,�!�

 �2�6R�� K]��Y ��. j��z �5
� .  

7.4.4         +����Y�I ��
H:� b�V�# +����Y�I ��
H:� b�V�# +����Y�I ��
H:� b�V�# +����Y�I ��
H:� b�V�#        

   ��Y�
,,,�� 0�!�,,,�� f ��,,,
H:� b,,,�V�!� �	,,,�2 7 	,,,!�� r��,,,��� �,,,�H%�%L 

4���� ��Y4���� ��Y4���� ��Y4���� ��Y. . . .     mm            

        

<�"�� 8t���<�"�� 8t���<�"�� 8t���<�"�� 8t��� .  .  .  .  kg     
        

�¯&�� <%.�¯&�� <%.�¯&�� <%.�¯&�� <%.     . . . .m 
        

3        2        1        
0.3  10  20  
0.4  15  40  
0.5  25  60  
0.6  35  80  
0.7  50  100  
0.8  65  150  



  � 
�� �

     H:� STQ �?�) �P w�:� j�� �� >�?:� �Q�z��.6 �Q�6� 4�B6 7 ��
 � +�)��!�
�,,�� �P����6E 7 w�:� j�,,� W,,�. ���,,�� �,,� �,,&2���� �2��,,!�� �,,V���  �,,������ 

,,V��� ��"�o,,�� ��6�B�  ���,,�� �,,� r����,,� +�o,,2E K) . ,,!"# l,,�U  ^�,,����� ST,,Q
 +����Y�,,I <,,
��� b,,�V�!� ��,,���:� ��,,��"�� .K�,,. ��,,�Q  7 �,,%"�� �T,,Q t�,,²a ��,,-

6�,,UP @&�,,�,,��� ST,,Q >��  7 ��,,���# �P \�,,!� C L,,Q6   �,,���. 7 ³ �,,Y6� �,,Q��&!?
   K�,,�V �,,Y) ��B �,,$J/�!H �,,H�5n +�,,�&2�p . �,,�&|!� s�,,�H    �2�,,I �$,,�� ��,,!2 K�,,5�

   \��� ��"�#  b#����# �2�R!��P �
�:� �� +���&!.    �P K��,
� �,¯� �?�) 7 W�.:�
     	!�� <%"�� �� +��V ^2�Y <%.%�%  L .���2  Z �2�
�� �T=�^���� � ��� �  St�R,!Q

    �,� +�)�,,- +�&,���!� 8t�,,�� 8�,52 l,��     <���,,�� �,�&�� f �H�,,V6 �,%; �2�
,,�� D�,-  
# ��r�,,YE ��,,n �,,V��� �h,,� �,,`  �2��,,# �,,V�� 7  w�:� j�,,� W,,�. ��o,,� K6�B 6E

�5
,,� �$!���Y�,,I �&o,,#6  7 �,,�V f �,,%;�5
,,�� (7-18)  �,,
�H t�,,$V ��,,����6
K]����� T?e#  a W�.  �h��K]�����6 �V����  ℓ1  �2�
�� �����# W�. .   

��       K]��,��� T,?e# <,
��� �,?�) G�,`�� �,?� �,
�H t�$V s��_!�   b 7 W,�.   �h,�
      K]��,,���6 7 <,,
��� �,,� �,,� �,,��H ��,,n ��Y�,,I �5
,,� �.�,,`��  ℓ2  W,,�.  �2�
,,��

   \��,�� ��,"�� . �5
,�� �,,cUX{[,,Y�  (6-5)  7 ���!�,H)�,,�P  � �,,����� G�,
#� b  
 4�B6L�2�%;:   

(7.11)                                   ∆Hab = a – (ℓ1 - ℓ2 ) – b                

 �5�6:  
  Hb = Ha +   Hab                                                                       

 b��6:  
(6.2)                                       Hb = Ha – (ℓ1 - ℓ2 ) + ( a – b )    

 l�UP 8:  

-  Ha       �2��!�� �V�� G�
#��Ra.   

-  a         �2��!�� �V�� ��n �.�`��� �h�� W�. K]�����Ra  w�:� ��n.  

-  b        ������ ��n �.�`��� �h�� W�. K]�����B  <
��� �?�).  



  � 
�� �

 - (ℓ1 - ℓ2 )  \���� ��"�� �2�
�� W�. @#]����� ��n.   

A!2������ r���� r��U �Z B  7�2�
�� �	� 8E �5q 0T�� D6��!���  ��"��
  �J�!HC         <�"�� ��|�� �J�!H6 7 w�:� j�� �� K���3� �V�) G�
#�     �2�
,�� �T,=

 �2A�d� �2TQ hZA# �� DXY«�6 7�2�
�� 8�52 8E ��o
2 �� +�.��	�����?   

1
1

2

2
a

b

A

B

-
L

L

L
L

  
 �5
�� �5
�� �5
�� �5
��(7-18)        

        <
��� �?�) K]����� T?e# 8E ��o
26 7K��V ��H�"� f�Y��� b�,
H     b,�n T,?e# 0T,�� 
��]����� �� )�. ]��VP6 w�:� j�� ��n K]����� 6� ������� �%���� )�%!..  

  7.4.5:� �?�) ���n:� �������� ���p :� �?�) ���n:� �������� ���p :� �?�) ���n:� �������� ���p :� �?�) ���n:� �������� ���p 
H
H
H
H���� � � � �        

,,,� @,,,� �n��,,,�� 8: +��,,,cH�:� �6,,,
H��&H�V6 ��,,,$ K)6�,,,�  �,,,���� 8�,,,n *,,,�� )
         C �,Y �,�H�5�� �6�
,�� �$`�
# ,#  ���,J!� j%�      �,��n:� ��,������   f ]�,V �,%; 

  K��
�� f �U6�
�� ����� (2.4) . 6  �,5q *�� �&����� ��2�����   ST,Q f �,$.�&#
   ���,,�� ���,,p �,,�2�- L,,Q �,,��3�0�/��,,��  �  7 �,,"��!!�� ��,,#6:� �P +�)��!,,�E  �,,cH

[Y� ��&�� (2.4.6)  7� �9:��
H:� �?�) �������� ���H ���J!� �&����� ��2���   



  � 
�� �

7.5    ��Y���� ��"-��!��  ��Y���� ��"-��!��  ��Y���� ��"-��!��  ��Y���� ��"-��!��              

 �-��# ]��V �� �Xz���� ��. �5
!#�2���� 7 �Y:� W�. � �J�!H6 �2t�!
 �6��� �;�U �����# ��"-��!�� STQ ��.� �� )�. �PC ��Q�p 7 f �%;  

  
 �5
�� �5
�� �5
�� �5
��(5-19)        

  �5
��  [Y�(5-19)  7�6��!��           �,%�n ��,��"�� @,� K)�,"!� s)�	# ���H ���!# (�� 
 �
�!g �2�6�� ¬�)�U G�Y6 �P 0)e2 ��¦ 7 K�
��6 ����"�� @� 6E 7 �$��� .  

  2       �6�,,�� �,,n�|5� ��,,"-��!�� ST,,Q �,,�. �,,;�3� [�,,c�# <,,�"! 7  [!,,2 l,,�U
[�c�#            +�,�#�B ����,&�� ��,"-��!�� �,�. �6�,�� 76           8�,�U:� i,"� f �,�:� ^,��!2 �,Y 

� ��/�` ����IP s��_!�[Y� �5
�� f �%; (4-20).   

Sto
p

  
 �5
�� �5
�� �5
�� �5
��(4-20)        

 �,,5�6 �t6�,,,p �BP �,,n�|;     +�,,,�#�B �,,,;�3� [�,,c�# b,,,"� j&	,,,2 +�,,��"� +���,,,U �6�,,,��
   +�&"z +���E ���6��� ������ 7    E +��#�B 4�B 8�;E ]́���s  s��_!���   �,�C��� ��	?�I 

T¯H�6�?�!�� ^�   ��/�o�� ����Ia� ������ �;�3� STQ [�c�#6 .  

    �-��!�� 8�; �BP ��E       ��A�,� 8�,n @�2�,- �� �|;E �-��# ]��V �� +Xz�U



  � 
�
 �

  �6��� �;�U [�c�#                   ��,���� �,;�3� ST,Q [�,c�# �,� �,�C6 ���",z �,|;E j&	,#
6���� ����5�6  86)��2�6��� ����Ia� s��_!�  �5
��[Y� (4-21) .  

  
 �5
�� �5
�� �5
�� �5
��(4-21)        

 OCPE   ��,,"-��!�� i,,"� f s)�	,,!�� ��,,�H )�,,.6 �6�,,�� �,,;�U K��R,,' K)�,,2t 8
            K�,2�V ��,- )���� h5
!�� �P �$"�N ��)E �.���� ��&Q6 �6��� ���!n h?A#6

    D�,,�"n6 �,,��5!� �5
,,� �,,;�3� [�,,c�!�7  �,,�. �,,z�?6  �,,�"��   �,,$�n �	,,# *,,�� 
  �;�3�  �2�6��� 7 ��t:� ��U�� �Pn      �6�,�� ��X,� @�A,!� �o,n:� �,3� 7  �,U6

         �$�z��#6 �;�3� �.�� K)�2t <2�- �. [!2 �2�6��� ���t:� 7   ��,�H ]�,���� 4�B6
   7 +�,�/�9 s)�	,!��       �,U�6 �!�,{ ��,,"-��!�� �,�. w��,"!# *,�� ��,,��"�� �	,n6 7 �,,�

�3� STQ [�c�# DX? K)�"!� ��2�!�� f �;.  

 8P K)�,,,"!�� ��2�!�,,,�� ��B �,,,�Y���� ��,,,"-��!�� [�%	,,,# 7E T,,,?A2+C�5,,,I 
,,,���Q� � �,,,.��!� \B�,,,¨6 7  #6 7 �,,,;�3� [�,,,c�# �,,,"�&�� +�,,,"&# 4,,,�B6& �6�
,,,�� +�,,,"



  � 
�� �

 STQ ]�
Ha �		_�� K�n�!�� ��U����6 ��H�5��6 ��n��'�&��� ��"-��!��.  

    ,,,� \B�,,,%��� �,,,� h&,,,; )�,,,. ��,,,�Q ��,,,"-��!�� ST 7   b#��&�,,,� \B�,,,¨ �,,,5�6
       �,,,,��
�� LU��,,,,��� �,,,,� +��,,,,V +�&,,,,���� \B�,,,,%��� ST,,,,Q �,,,,UE 6�,,,,&2 l,,,,�U 7 b,,,,#�����P6

�6C         (6�� f D�&�� h' b�5� 7 �� �Y�� f �2)�	!Y �Y��� 6E 6 7 >�?E P ���!?� 8
                � �,���� f �,;���� s�,"�� �,�_�� �,� <,n��!2 8E ^,� �-��!�� \B�¨  f6 �-�,�!�

��!��    K�6�,1� ��"- 7  2 �T,��!        ��,�!?� f +��,���E +��6) ^,"�# *,�� �,���"�� �,���) ^,V
   �-�,,�!�� \B�,,¨  4,,�B6       u6��,,,�� �,,Y��� f �,,�n�5�� ��U��,,�� )�,,V6 l,,,�U �,,� 

6   ��U��,,�� ��,,Q �,,� 8�,,5�a� ��,,Y DX,,Ya�7    ��,,&��6 ��,,����� ��
,,��� s�,,Q6 
 ���5���.   

  �5
,,,� ��,,,"-��!�� ST,,,Q M�A,,,!#  s�,,,. �,,,%; f�5
,,,��[,,,Y�  ) (4-22  �,,,�
]�RV:�  ����!�� ����/���:  

- 1 @%��� �� (��"HC� �Xz6.   

- 2 ������ �� (��"HC� ����U.   

- 3 �����:� �;�3�.   

  

  

  

  

  

  

  
 �5
�� �5
�� �5
�� �5
��(7-22) 

      +��V ��
�� ��      M2�	,# �,�H�5�P6 �,��"�� <n���� ��5&I m/�	? �n�"� 
    ����)6 7 ������� S����d��� m/�	   ~2��o,# 8E l,�U �,Y�%�� ��n��'�&�   j�,�



  � 
�� �

   �Ze# w�:�  +�h|;  f    ��.��	�� D�%.:� �5I6 �-��!�� �Y�� ���!?�   [,$�� ��6 7
      [�%	,,# �,,�H�5�P �,,���) �,,�Y���� ��,,"-��!�� [�%	,,# �,,�.   �-�,,�!�� �,,z��. 7 �,,�

    ����Y�I6 ���nE ������� 7      �������� STQ ���YE (�	HE ���!?�6 7  D�,��� ���!?�6
�������   ~�:� <n6 ��`�"��6 ��tX�� �.�����6 ����&!.C�6 h2�"��6 ��X� @�A!� 

 �6�,,,��  7  ��,,,&!.C� @,,,"� T,,,?:�6 W,,,�. �,,,z��"�� ST,,,Q ���,,,p �,,,�H�5�P  �,,,"�&��� .
� ��H�5�P ����) ^� 4�T;Cw��': �-��!�� �U��� �� K)�
!�  >�?E �.��!�.  

  <���!�  ��&��!�  # f �Y���  �� �z��. [�%	  �-��! 7W�. �Q���p6   �,"�&���
  [%	,,�� u�,,�$�� \�,,!� T,,
���6 7,,��g �P��,,�n��'�&- �  ��B���,,�h&,,; u  

 f)6�U1/500  7  @� ���.�&#6��������� �6��!2 �2��!��   0.25 m �P 0. 5 m   
 ]�
,,HP6,,������    �,,�YX!�� ��,,��� (��,,-E6 �6�,,� �,,�. �2��,,#  7 W,,�.8E  t6�,,J!#C

 @� �n������ STQ �� @#�6�J!� @!��H �;����� 10 m . �P �	!£6   5 m 
�-��!�� R;�� ��..    

  �,,��n:� ��,,������ �,,z��. u�,,' [!,,2� ��,,���� �,,� )�,,. �P +�)��!,,�  �,,���"��
  ���Z��Ua� 7   �-��!�� ����� �%` K�n�!�� �2��!�� �V��� �P6  7 ��- s�_!�#6

  ���,,J!�� ^���,,�E6 �$�,,
H� f �U6�
,,��   l,,��|��6 ��,,|�� @�	,,
� 7 [!,,2 4�T,,;6 
 ����� ����� [��6 ]�
HP 7 ����Y�
�� �������� [�%	#6 7���p6  STQ �z��.

         �	
�� �TQ f ���&�� �����6 µ)�&��6 ~�:� <n6 ��������.     �-�,��� [,�� �,�E
     ��,,��� <,,n6 [!,,�n s)�,,��6 �,,
3� ��,,�%; r��,,U6 ��,,`�"��   �	,,
�� f �U6�
,,��

��<UX .   

  

  

  

  

  

  



  � ��� �

������ �	
�������� �	
�������� �	
�������� �	
��        
���
���� ����� ����� ������� �������
���� ����� ����� ������� �������
���� ����� ����� ������� �������
���� ����� ����� ������� ����        

  

������ ������  ���
�� ���  !��"�#�� !��$�%&� �����
' (   )��*+ ���� �,���-� !���./�� �+
       �0�-1�2 ��� 3�4�� 5�6�7� 8 9�
 &� :���;<#*(�=&    ��>�?� ��7�$ �1@�% 8  !�
-' 

 A�7��BCD��-% 5�6�7����  .  �����
��� ������ 3���F <#����% ����;+ ��7��$   )����G% H��-  
��    ��������� !4��;��$ !���I��
�� �����J&� ���� ,<��  KC L��#���% ����-4�� M��-��� )���

 H- � ( !�N���� 5F�G��� !�N�O ,�
�  �� P%�#�� MI��
�� )�Q� ��7�.  
   8.1!�N���� 5F�G�� ��;���!�N���� 5F�G�� ��;���!�N���� 5F�G�� ��;���!�N���� 5F�G�� ��;���        

    !���N���� 5F���G�� ����> !��O��� H��-  �,������ ���
�� �����
' ������ <��
���
����� ����� R��7�� 6�S 9�F H- 5F�G�� D-% � .  T,<U� V�G#�� ��I <�$

         ��#� W��%� !�?7X ,�%�+ !4;��$ !��?4�� H-  Y�4�� 54G
-�Z�$�  � )     8 A��J ��
'
 ���\� �	��
��]�� (  6����S H���-  !����,�
  !����N�  5F����G� <����<_�$ �<���#0�� �����G� (

        `�-��% ��<� �?�$ 5F��G�� ab�* H�-  V��GB <�<c )�� d ( V�G#�� D-% <#  R��7��
?4$    ������� W����% 8 !��$�-4�� !���<��$� !�����?4�� e6&� f4��; ]�6�g��% !���� :���
- 
$       h+ ( !�N���� 5F�G�� 9��F+ ij�          k?%��� Y��4�� 6��U� 6����� W2 H-  �*,�<��

      T���� ���  9�����&� ���� 9���� hj��$ �0��#� ���' 9���F ���G� l i+ H��-  ( R��7���� !���mj$
� e����  n	���B�`�����4� .  ���O� !����GO&� ��O������� �����G%� 3��l��� �
%6  V����GB W���$ ��

 M����N����  5����4G�� o�������;&�$  !�<p�������� Tq����0J&�� 8    Y�����4�� 5����4G�� W������% 
 �0�-  :��?�� !���?4�� e6&� f4�� !�N���� 5F�G�� );�%  ��;��G�� ab* !4;��$�

          r������ M�GO+ ����Gs R��7�
-� MJt��
#�� 54G��  W$���1/50) � (1/200   ����G��
Y���> 2�-1  L .�     ������ W���% 8 !�$�-4�� !�<�� uB�' �tC v?��� ���G�� bX@

    ����-��� ���G� 8 ���w��� 6���4�-� !�����B L����m+ <��GO <��� 6������� �b��* i+ xlC ( !����� 
  !�������� P�������� Tq��0J&��(      :����
�6 !���O��I�?4�� �����4��� 5��� ��������� f?��w+� 

$��� ��<p���;���;�� ( :���#�y �M��4�%�������� Tq��0J&� � Pz����B !����<�� !& ,���w6



  � ��� �

 M��
�6 ��7��$ .{�<��%  !���N���� 5F���G�� H��-  !���GO&� ��O������ i�  6���S ���� :�6���?� 
  R��7�� (�   i{�<% ����$ �
%6�       M�N���� 5�4G�� V�GB ��   !$���#� KC R��
%6�  !�4GB 

 54G�� A�7BC �*<#  | }�� 6�U�  ��7�� 8 �
')�6 (8-1).   
`���-���!����N���� 5F����G�� )���;6  !���O���� ��� �
%6��� �,������  ( �++���
 �  ����
�� 3

 e��� �`����4�� ���
#% ����-4��   �,����� �+ ���
�� o��B��J 9������ ( ab  ( �#$!������  !��$�
T6����
U�(  �,����-� !-
�������� �+   (� 9������ f4���;$ !������?4�� e6&��  5F����G�� a����"
 !�N���� !0J ��( ��
 &� 5���� W��%�  5F�G�� ab* ������ ���� 8 �B<�
 9�
 !� �#	��(� ,�<� u�?�%� l 6��Q� H-  R��7�� v1j% !;�6, � ( ~/
�; !0J �� 

!�B�1.  
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  h6����>��� L?���> )�����-� M4���;��� ( !4���;���� :����?��G% h������%  !������� !�$�������

 W�z�0#�� W�4G�� ) W%< �G��(!�/��� bXj% D�b$� (  (8.28)  Y���� ��7��:  

 (8.33)                                                 )AA(
2

L
V 21 += 
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������� 	
����������� 	
����������� 	
����������� 	
����        
        

١�  
.�������
 ������� – �������� � ���������� ���������    �����!"�� �����"#$� �����%&
'%� ����
– ١٩٩٠.  

٢�  
. �������
 ������� – ��������� )٣(    �����!"�� �����"#$� �����%&– '���%� �������
  
١٩٩٣. 

٣�  
. �������
 ������� –�����  ����)٤(    �����!"�� �����"#$� �����%&– '���%� �������
  
١٩٩٤. 

٤�  
.�� ����
 ��– (��)�� * (�+�,� )١(   ��!"�� ��"#$� ��%&– ����
 
'%�– ١٩٩٣. 

٥�  
.-�����. /����01 – ��������� � �0���.2   �����"#$� �����%&– �����!
3�� �������4� 
5���– ١٩٨٣. 

٦�  
. -�����. /����01 –  6�3������� ��������    �����"#$� �����%&–  �����!
3�� �������4� 
5���– ١٩٩٢.  

٧�
   .  -����. 78�+��� /���01  
 .  9���:�� "���; <��� =� "��>�  
 .  "��>� <��� "����
 ?@�:�� <A���– ���%� ������ ���BC    �D#%� E*F"G 3�
   5���� ١٩٩٩.  

٨� 
.H%I� J�K�� ">� – �����   ��!"�� ��"#$� ��%&–'%� ����
  ١٩٨١. 

٩�  
.  ?��D���� 5���%��� –   � L3�0D���� * ������� ����"#M   ���#1"��      ����"#$� ����%&
����!"–ND�
 ����
 – ١٩٩٠. 

١٠�  
.O0����>� E�����MP "�����; – * ���������  6�3��������  ������!"�� ������"#$� ������%&   
 ����
ND�
– ١٩٧٨. 

١١�  
.Q1����#� –����!�K��  ������R�� S    �����!"�� �����"#$� �����%&– ND����
 �������
  
١٩٩٧.  
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١٢�  
.  ?�����T��� U+�����T 
0����; –�*3"�����$�  ��
0)١(     ������!"�� ������"#$� �����%&
� ����
'%– ١٩٩٠.  

١٣�  
.   "���� "�; ?%� – �*3"�$�   ��
0)١(        ���!"�� ���"#$� ���%&–   �����
 
<1�DC– ١٩٩٣.  

١٤�  
.  H��%I� J���K�� "��>� –  ������ (�D��!V * W��+��R� ���X1"I� '�������� U����
  � 
 '%� ����
 6��0>��– ٢٠٠٣.  

١٥�  
.  '�����>� <������   
.  ?8�+������ 30����!2 –   Y�+������ * E������� ������"#$ ����������   
 ND�
 ����
 6��0>��٢٠٠٠.  
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���%��� 6�Z%�+�����%��� 6�Z%�+�����%��� 6�Z%�+�����%��� 6�Z%�+��        

 ) ) ) ) 9�� 9�� 9�� 9������ E��%K!V   E��%K!V   E��%K!V   E��%K!V  ((((        
  

� 2 �  

]�^�                                        Direction  

6��_�"�V                                       Coordinates   

��%; 6��_�"�V                     Local Coordinates        

L�8C3�                                 Altitude ; Leight   

3�"`�              Slope                             

a�1�!�                   Shift                     

3��K!�                Refraction                   

Lb�R��               Reconnaissance                  

��:Rc�                         Derivation           

�bdV                                        Closure  

�1"1"I� �K���                                    Railroad 

(�#`�                                     Curvature 

E3���� Y��`�          Standard deviation                 

e3�cV            Signal , survey mark                       

���:R��            Alignment                             
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� f �  

  

�R��!b�                          Planimeter   

� 6 �  

  

E*��R� "��>C          Contour interval                     

g�%XC              Triangulation                         

"��^                  Setting out           

�0��� 
�C*2 "��^         Slope staking                         

'�C��C            Ordinate                                

UM��C              Tolerance                      

�10�C                Levelling                       

e�c�>� hd �10�C        Trigonometric leveling                   

e�c�>� �10�C            Direct leveling               

]0DC              Deformation                          

iC	�%             Minor Control                       

U1"�C                                  Adjustment  

U�.�8C                 Detaile                

  

	j�:C                                  Intersection 

J0:C                 Resection                     

3��KC                 Reiteration           

0C?%)�
 k�           Interpolation                          

?
3�) k�0C            Extrapolation                 
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	�l0C                 Pointing                       

m��*
0�C               Theodilite                     

  

� n �  

  

�10o� ��!�_          Sentesimal second                          

U
32 ��_b_              Tripod                           

  

� �
 �  

  

�10�C P�p
            Level                                     

  

� �� �  

  

Wq�                Volume                         

e3���              Temperature                          

�8�                Cut                               

'&�� r0�            Catchment area             

  

� �) �  

  

�10�C k)            Conture line                           

��1�)                               Map  
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������ ��1�)                    Topographic ma  p  

�3s�� k)            Watershed line                       

U��� k)            Line of slope                         

t�)                                       Error 

?@�� t�)           Randum error                        

E*�P t�)            Angular error                         

?�u�2 t�)           Maximum error                     

?��u! t�)              Systematic error                  

	���R�� k�0R� t�)    Standard error , standard diviation          

N%�� t�)               Absolute error                      

'���!2 k)                                 Pipe line     

3���� k�)                                 Plumbline   

  

� 
 �  

  

���:� e�v�
           Divided circle                        

�
3
                  Degree                         

�10o� �:�l
      Centesimal minute ( centigrade )                     

(�#`,� �
3
          Degree of curvature               

  

� w �  

  

 e*3w ) ��l(                                Vertex         
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� 3 �  

  

-
3                                      Fill    

".�3                                      Sight  

".3                                   Sight , shot  

?���2 ".3            For word sight                       

?8%) ".3            Back word sight                     

�1x3              Visibilisation                         

e��&3                                 Pier     

� P �  

  

��:T2 �1*�P            Horizontal Angle                   

���0l�c �1*�P            Vertical Angle               

 L�8C3� �1*�P ) U��(         Angle of sight                        

a�1�!� �1*�P                            Deflection Angle    

��Ry �1*�P            Zenith Angle                         

�1hu! �1*�P            Nadir Angle                          

  

� O �  

  

z�                                  Sounding     

���                Surface                          

�10� ���            Level surface                          
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�%�%�                                      Set    

my                Zenith                           

E3�>R�� my            Grid bearing                  

  

  

�  {�  

  

|)�c                 Pole , flag            

�0l�c                Vertical                        

�K>c                   Network              

EwF0T k1�c               Steel tape             

��1�}� ��~                          Grid north 

  

  

� L �  

  

�&��                 Reflector              

  

� � �  

  

 O�d ) "��^(                                Setting out  
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� Y �  

  

�%.�T                Abscissa                       

�10�C ��T          Difference in level                         

  

� � �  

  

�iv�T 6����l        Redundant observations                 

e�c�>� 6����l          Direct observations                 

� � �  

  

"�v0C0%&              Clothoid                        

� - �  

  

 ��G–"��>C                Interval                

?���� k��            Topographic plan           

�10�C 	
��            Bench Mark                          

]��� S����            Water ways                           

���d0>j a����            Topographer                  

��@32 �����            Ground survey               

�1�10+C �����                     Photogrammetry   

��@32 �1�10+C �����      Terresrial photogrammetry             

�10
 �1�10+C �����           Arial photogrammetry         
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�10
 �����                   Arial survey                           

�1x��� �T���            Vision distance                      

��:T2 �T���          Horizontal distance                        

���&��C 6�T���        Cumulative distance                       

L��c,�� ���      Survey by bearing and distance               

?%�+8C ���            Detail survey                 

W��:��               Parcel                            

�8� 	�:�                                  Cut section  

-
3 	�:�                                 Fill section  

k%R� 	�:�            Mixed section                

�0j 	�:�          Longitudinal profile                       

?@�� 	�:�          Transverse profile                  

O��:�                                     Scale 

?���2 O��             For word tangent                 

?8%) O��            Back tangent                         

��RD� O��                     Common tangen t  

?�23 QZ#�           Vertical curve                        

?:T2 QZ#�            Horizontal curve                    

E�v�
 QZ#�           Circular curve                        

'&�� QZ#�                      Compound curve  

�&��R� QZ#�          Reverse curve                        

U.* QZ#�            Transition curves                   

f0�#�                                 Elevation    
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�h�              Staff , sight pole                    

  

� 5 �  

  

(�#`� ��l /+!        Radius of curvature                        

 -�u! ) �%� (Q�R�        Sexagesimal system               

 -�u! ) �%� (E0o�       Sentesimal system                          

Y���!� ��:!                     Inflection point     

O�� ��:!          Tangent point                                

�1�1
0�
 ��:!                   Geodetic point               

?�l3 ?@32 �w0�        Digital terrain model                      

  

  

� * �  

�C*                Chord                            

"C*                Stake                             

k��*               Parameter                      

���:R�F� 7%� |)�0D�� 	@*           Ranging               
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 U>l <� �����%� f�RK�� N�l"C � U>l <� �����%� f�RK�� N�l"C � U>l <� �����%� f�RK�� N�l"C � U>l <� �����%� f�RK�� N�l"C �::::        
  

   O"#p�� 30R&"��   O"#p�� 30R&"��   O"#p�� 30R&"��   O"#p�� 30R&"��        ��"#p�� e30R&"��         ��"#p�� e30R&"��         ��"#p�� e30R&"��         ��"#p�� e30R&"��     O"#p�� 30R&"��      O"#p�� 30R&"��      O"#p�� 30R&"��      O"#p�� 30R&"��              

          ��&�� ��!0.              5��X� W�M����            ��&�� ��!0.              5��X� W�M����            ��&�� ��!0.              5��X� W�M����            ��&�� ��!0.              5��X� W�M����  W� U.�* "�;    W� U.�* "�;    W� U.�* "�;    W� U.�* "�;            

  

  

 U>l <� ���10B� f�RK�� N�l"C � U>l <� ���10B� f�RK�� N�l"C � U>l <� ���10B� f�RK�� N�l"C � U>l <� ���10B� f�RK�� N�l"C �::::        
  

+l -�+� 30R&"�� w�R���+l -�+� 30R&"�� w�R���+l -�+� 30R&"�� w�R���+l -�+� 30R&"�� w�R���?q>?q>?q>?q>        

   

  

  

  
 " " " " 6��0>���* 'RK�� �1�1"� ��08; �D#��* ���R��* 	>��� �0:� 6��0>���* 'RK�� �1�1"� ��08; �D#��* ���R��* 	>��� �0:� 6��0>���* 'RK�� �1�1"� ��08; �D#��* ���R��* 	>��� �0:� 6��0>���* 'RK�� �1�1"� ��08; �D#��* ���R��* 	>��� �0:�""""        

  

  

 



 


